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The Design of Master Production Scheduling System with
Consideration of Material Allocations for TFT-LCD Module Factory

Student : Po-Y1 Wang Advisor : Dr. Shu-Hsing Chung

Department of Industrial Engineering and Management

National Chiao Tung University

Abstract

The manufacturing of TFT-LCD includes of array, cell and module
assembly process. Module assembly produces various products and must meet
the customers’ specific qualification, including fulfill rate and zero bad defect
rate. Moreover, the setup time of bottleneck workstation is very long. Also,
material substitution problem is existed in thepmaterial grouping of each
product type. Thus, the thesis developed a master production scheduling system
to decrease the number of setups, to increase the efficiency of order allocation

and to reduce the purchasing and holding cost:of material.

The proposed system comprises two modules: bottleneck scheduling with
order allocation module and .material planning module. The bottleneck
scheduling with order allocation module is used to plan. the product and rank
mix for material release, the producing sequence,.and the amount of each
rank/product type allocated to each-order. To maximize the profit, it uses a
linear programming model which takes setup time, fulfill rate and zero bad
defect rate into account given the quantity of LCD arrivals and the demand of
each order. Furthermore, with the planning results about the production
quantity of each rank/product type in each period, the material planning module
generates mathematical model to solve the amount of critical material needed

with consideration of the property of material substitution.

Experimental shows that the proposed master production scheduling
system not only is capable of reducing the number of setups efficiently and
utilizing the bottleneck effectively; it can also perform well in efficiency of
order allocation and of of the critical material preparation, which leads to

maximizing order fulfillment. In summary, the planning system can schedule

ii



the production quantity of each rank/product type and can allocate these

products to order promptly.

Keywords: TFT-LCD, Module factory, Master production scheduling system,
Fulfill rate , Zero bad defect rate , Material substitution, Rank/product type
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AER ~ REZ/THE CRBBTEEE > AFa)ELHZE E5 TFI-LCD
HiNG o —F4 2.1.1 BN TFILCD =& # 2 B TRIJNLE
22 B ATE RS H 42 Array > % 2.1.3 § P @Ak Cell 0 % 2.1.4 844

B8 48 48 % Module o



211 TFT-LCD = ¥ 2B+

TFT-LCD & ¥ £ 2T U5 s = M BORER - o3 &1 5] # 42 (Array)
48 31 % 2 (Cell assembly) LA & 4% 48 % £2 (Module assembly) = B[S £ » H 2 #2
MM T2EE 2-1 ATHH =MEEEM—EHEZINS -

BEE R H A2
(Array)
R R S m AR 483 A2 FERAFR
(Cell assembly) (Color Filter)

IR S AR 4 A2
(Module assembly)




2.1.2 B5 £ (Array) &

@W&%ﬁﬁw$§¥’@ﬁ%@ﬁ%%ﬁ’@ﬁﬁ%$§%’@ﬂ
BEBEARMAIOR WERIZLBWATH R R B
A2 %) é%k*%wﬂﬁA ﬁ%ﬁ@Awa@’%ﬁ%&@w%mlo
o[ 2-2 o

Pk 4 <« RFBRHG
T R
B 4 % % (Plasma)CVD
S PR 2 1 < Hedl 4% (Spin Coater ) 3%
B ¢
(2% ER5-1%) ik 4 k(Stppenas | TLE
#25(Developr)3X
Az 2 o Haa
B% < i
£: % B #4%)| (Etching)2% 4
- B3E
i kM 2 on % 6 PB4 (Asher) 2%
TFT R 7] AR 52 AR ARE

B 2-2 BBEEREEIIRRALE]

o b B BAKREREZEMME BEBELERIRE,AEE - dok 2-1
P



k21 7| A2 e T2 R B AR AR [ 11][13]

fo L& 2 45
& 1. 4% é? ] N, A& 1 Ay é"
BIE | SR  RATE AT R - #S WA B T
(Serial Machine ) °
A FFREH S BRARBERABEL R |2 AEUR(Y 49 B)EmTx
R B
3. S IAR¥mI KRR E LB
BN AR R~ Fo AR R AR
A m; g A S S LES X
=== 4. BAEE o2 BAR ho T BRI Ao
RIRE | R &M~ 158 %HE - IR EAEE -

213 @ WL Ce)NH &

MY BRHEZENREREVEELR R EE T ROFEIB A RSE
A BHEARS - R BT FBRALS: BRaEEh - GohRIEE
Wi BEALETRARAY -AXE K- REEA HO - REFBRHE
B =T LA g 2 B R S BA T B A EAR 0 0 AR IR b TR A B A2 TAF 0 HH
Az Ae ko &k 22 proT 0 Hbtm AR E 0 kB 2-3 BT o

#2-2 @3 e 2 e Az e [ 11 9]

ho TiRAZ 842 45
1. Bod 4 A DS X ST & B3] w T #% 4 (Serial
2. BLE)REEAR Machine ) ¥ #t.%& A#uv T # 4 (Batch
3. B AL B Machine) °
4. BERIE 2. B ZEdE TE
5. MRt . IAE¥ e TR E s bR R EATIR G B
6. HAEBER R # (setup) > 3 ok Tk o6 2 2 47 24 85 R
7. ETFHRIES Bk ko BLG BEE G B4R B 2 BB o
8. }:;i‘ﬁz %M}#hb%lﬁ’?ﬁéﬁiﬁﬂ‘]ﬁgﬁi E%’Fﬁﬁ
9. HZmE K (Queue Time)Z fR#] > 4o & L4 d A 2
10. 3R & A & K (Vacuum Anneal) /o IT-1% & 48 f£ 240
11. 3t o 248 9 R & B N T AR 35 AT Ao
12. 34044 k% I MReENTIZI%LE 4 360 o
13. — k2| 2 B SENFEEH O TN BT -
14. 18 FeAx Bk it
15. % &
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TFT & #2 _%;%_;“g__\ T CF# 42
I 7‘*\;:588‘7t < s sl
| mmaigae | | | PERAEA
| v | v |
| Bt ) B AT o || B ) B AT ok |
| ] | ! |
| Bie. 15 B 7 || fie. 16 Bt 7 4 |
| ] a ; |
: LADN RS- |: B, 1) J et |
| . | v |
| BT ) B 32 || Be %) B 52 |
| } | v |
AR L s |
L___‘____J L___‘____J
RS AR AT L
-~ FEREX
_________ e — — — —
AE Rt 37
RS EmIREBREE L
H2ZE K
v
RN
+
3o
v
Ho%kF
v
—RIE|HE
v
18 &A= B P
v
#HE
v
LCD & 4R % %

2-3 B Rax iz AzEI(9]
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1. EeBEEEF ~ Bh

R E S LR P AR B &R R A AR 9 A kiR 0 RIS
v AR & B R B B o B B A AU IR S R e B AT 4 T R AL ey T
Yo HAT#h A AR LB a B E Z R+ B R & FIRA R
HEe ey 7 A A #(roller) 3 Ep ik AR — & @ B8 0 b AR AL T
By > RBRE R -
2. & 7 E K(Vacuum anneal)

ESBAEET  HFak T mBNGFENE Panel NaYKAER > Ba)t
AR GIENR > EHRAE PO RBERARR -
3. & & # A (LC Injection)
o[ 2-4 2 %3 R SFIREENR A EE KR HEiB% 2 Cell + 5 B
EZRELERREMBATHRA UEFRSZTEE -8 AREK
AN—EBEZOERMAT  FEA R E A Eae) LCD Bk B T
1 ABEEHASREZ  AE FINERRERE  RERERET
BT BARIE L TR IR A EANT T 0 £ LCD xR ¥ £
FAE M b T2 BN LCD R P ] 50 Akif s ) B4 ©

M

/21,(?13H'\

HETEE

& 4
S
oL e

B 2-4 ’f?—é}%‘/&aa/i}\“r 5 B [4]
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Ag paste

3 Jig Press
PI Printing Rubbing Spacer Spraying Dispensing <
E / Assembly
Docter ——® — —
Ely ; ’—”—‘
APR Flate ubbing cloth
o CF =
R 0 Seal Dispensing
L—rl Force
— |
Cell Polarizer _ End Seal .LC. Vacuum Seal Bake
Testing LC Cell Lamination 2nd Seribe Injection Anreal Oven

LC boat

wE

RmAE R S ANFEFR 0 AR B AR AT R R B M B o AR S R R E
NESE TF X724 (One Drop Fill, ODF) » 4o [g 2-4 #1[8 2-6 - 1% 4 X%
sAEANZ A F TR B ek BRI RIR AL IREN 0 LR EIENE
Flete iy LR kb ° A S ANEH KB flke 35 KX 4 REEE @™
BT RENZODE) A K REBEEBLEKS L > BETETHBOYY
4o FEENIR S e9iBAz P o ODF R &9 Az £ 4 95% v ME s Xk
SENE ) 60% SRR T B F A 35%6H S A B 2 @AREAS K
A4t > ODF # 42T K@M E AR S o985 > & 30 v+ @ik &6l > %4 K
EANRE—RAELERYGM - M ODF REZ 7 4t 4 ZEBY
R ER+ 5 BEA o BRBERZZITE RS F404& R ODF # 4z -

2-5 #rtH4% 48 30 B F2 2 h 2 B [4]

One Drop Filing
|

. ETEIFES I 'i' .
| =R ~ (e

TS =05

Full Size Substrate LC Drop Alignment & Press
& UV Corng

b

-

= = =

U~ goo

(-

Panel Cuttng

2-6 & T XIEANE[4]
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2.1.4 #t 4 3 £ (Module Assembly)4£3

SR A2 X B 4 3 e T % A X LCD @A #1528y IC ~ 7 48
48 (Back Light, BL)#f= Ep fi] & 3% #& (Printed Wiring Board, PWB) il 42 4k} i 47
MEZAFE BT RARARZ TR FPTHEREES - HiwT i
B 4o B 2-7 A %

Haa KB RE AT FARERLEEEITE > 8 LREAR o (FF
FETFRARABEO B ZHBAR M) - HFEITIC BAEE M
A& & T A A R M S A mAR B BB & 7 4 5 E B (Anisotropic Conductive
Film; ACF) » 214 B 47 IC 4B 545 ¥ - AT & IC B &8 F1F £[18] -
4 LCD (R AN B #ibHRAEHS -

FRBAERK -

B 7 M 8 B B (ACF) B RIE A6 & 1%, o
IC B TAE o

IC AL AR o

Bk ICREZ MR BEZE KA E o

AR S

78 M+ Ep f] & %5 4R (Flexible Polymer Board ; FPC) )45 8 4 & f£ @Ak b Bb
£ ACF > R FPC RED RAFEFRAFHIC RS ¥AR - 2R R
BB SEBAAMBRER GRS ERHETE o A RETERRREL
¥ & R0 RS B o SbdF ¥ 48 & 345 (Dispensor)» B 49 & By 1k 6L #4584 &
WAL T AL R T A e kAR EH 2R ERGRME
BREBYGEVNRBHEBLNERSR S AREEN TR B AR R i
¥ > K14 1 N\ Ep B & #54R (Printed Wiring Board ; PWB) B A4 2 /F ¥ -

TR EHGEEZ  BITFRREATHLSBIEEE > BN RRE
{8 TFT-LCD #i48 - F A A ERR LR B FRER - BE - BET B
Hh ~ WAtk RkGih FAFaA R WA ER NS REARE B
B AmMARE T A A M 0 B H AR A& @ ey dEic kA (Diffuser) i 3.3
5 BLEAGIRIT o B R BATRARAF £ (Aging) » BRRZHKE LB/ Y B
Mo RABAER BLEEPERAELSERRIAE - RAHE DMK
HAnBr > LEHEL ESBGER -
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K]

Cel 18 52 mx ¥ A oo

<

g B E

<

1 Fe R Rb i

<

ACF &1k

PEX L]

-

¥

< =

RREA |

g A% R 3R

<

B vk

<

IR

<~

BEHR

J

«— V7R b B0 R %
Polarizer
1@ FAR
Anisotropic Conductive Film

By HEER

yle Polymer Board

k Light 3 iR 42 31

Aging Mk &

BH-EREKRS
+— F 5 & T A BB b
«— FIEE S ER

2-T M iAzE[15]
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BB 2-T 2 HERLE TSR Hetmilees IC - ¥ ks (Back
Light, BL)#u Ep 5 & # 4k (Printed Wiring Board, PWB) & p7 & 3 2 # k05 #%
LR AETHRAEE ARG RANEEATRTRARES LA E
Z REPEOE R A 40 548 0 M RZARIA TN Am Rz o Bk SRAERE
MBBEERAZAEMA  BRPERAIELBRIATEEABRRMI &
PRAN AR EREERIPHHENZREZER -

2.2 APS 4

Mg % A RAHR a5 - I TR IR B 0F R SR B2 5 > K@
AT R S R B BT AR A B HERR R ARG ST AT © SRR B S kAR
(Advanced Planning and scheduling ; APS) & %18 & #| A L& a) B R IER
A2 R AT 0 45 A3 4o K A 58 75 (Genetic Algorithm; GA) » & #)] 3% 3% (Theory
of constraints; TOC) # 4 % &t 72 (Operations Research; OR) > % 4t £ #t
(Simulation) & F& #4#fF% R BT F X R A4 36 ¥ T IRRH] T RET
TR R KRB E B2 S 0 AR BAEE RAR BT G5 o

APS % 4698 & K8 T ERP/MRP 893F % [R#4] > 28 > APS % 469 i
R, 3t I L BAX ERP & % 6 A T8I ERP % 48 F 2% 4 MRP # %5 2%
Feh4 BRI MBS U RBEH R AR AT ERRA XS
oA EME > T & 2-3 B APS 41 ERP 4317 ey e £ £ 237 o

% 2-3 #7 ERP M2 & 481 APS &yt & [7]

tL #3278 B ERP/MRP APS
DEEEEE T SEN LA mEBEER
" ME BRI T | DEBTRBRH T &M
s RE A HRE R
#]A BOM #2:2 289 RJE | 1 %% BOMs #2542
B A% BAR ey B 3 AR A FRHRBEEE R &
B RERTE
R E K (Reactive) * %) X (Accommodating)
g y WRFE—FAFRILNE | AHRBEEERATE
REEERONE | arrmmnl R | L& RHEET 8 9
BBEER BEHRE | TR
BTk B 5| X 1% # (Backward) | & & & R R &) 45 2 64 7]
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MREG R BEERE Z | FRID TUHKE 248
SR B R FREA B R > AL —F oM
T BREMRTH MBS ER | AMRELETHRERE
M2
& B Y & 3oy 2 2Rk ey o 7T
RETREHE BRI SEERENE
£
AR BERAFHEOR | BB BRAEEAES
ATP RRENE R L&k | Ahfxea il BT
FREMEARZEDL | A% IHIRT X
M8
ER U R ILOE 4 1% Prik
KT 4T TREBETERS
HEZTENRL R BB EEe ATP s s
)
X N KT 4T ] ULSE AL M G R AL
WA AT CF TR YL
A5 3% 69 RS 1K 5

B m T o APS ¢RI KT & 5 A A # AL ] A & ) (Material
Planning-Oriented) & A # %t #1, 2] % & & (Capacity Planning-Oriented) &% &
[7]:

1. #EAE e RS s RS RI AR A X &
RERE| By APS A4 - PR E R BT AR RMHIFRG
RAH AR R A R R AR F B RAFAY B
2. ERERIEG ARARAITORIEHOAEZARLAEERIAE B
MRE B ey APS A4 o AT A 69 & 38 F B N H A2 AR 5 B3R R
Ad o RERCELEARBRIBEHAE - REEAKE -
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221 APS £ & TFT-LCD & ¥

APS SN E X RARET % > [2d» TFT-LCD A# 8 Z % > A7
A B APS i B 4 TFT-LCD Z ¥4 48 % ) » H S K184 IE
TFT-LCD # ¥t B4s EHE S AT AR Y A RiEHA o

WA THRHY SRR 0 F R ARG T R
A=Y BREYEEAROFREATLE -

REFXTUA BRI F—HEAEETH - AFXEREHOEN
THEAREZHERMZ > LBREBBLURER > HBTHEEEFHZR
o REBFEREANAELENREMNETIH - F_MEANALREREH
2 BB EREEBRBEARE N QM ERAT B8RRI BBE A
o A RABEH TR R B SRS G HRAS —HRBREIET
REREBIE I ZAEE A AT B RFE £ LT HE LR EHe
AT HEPERGBE - BERI T A BRAERER - BRF R 2 MK
&) ] RE e

¥ K[14]# mA 232,805 TFLLCD = B # 2 2 a B A 2| e %
Ka kit TFI-LCD & E69 4 & 242~ & 2R E| LeyIR$18 & £
SIRA A AR RIARURRIAEZ Y ELE  BRTHREAES
BZMARR p AL ERR S RARAUBRRE r XegME 2R LR
# A A 3% B 1% 40 % (Assemble to order ; ATO) &y B2 > A4 A SAMRE A
Foak ey Bk 7k 3 (Constraint Based Simulation ; CBS) > 45 FR ) #i2 a5 o] 3 &
WA o AL RBEARBARIE BAR - ABR TR > 4 F 812698 UR R
Lk o KMol THRAESHER - BEAEMK  nEELEETLK > 1LF
BEHEE S BB g4 NS E R > DUS R TAS R SR D% B oA - Bp
® KA R G E 5

RRE[2]% THE T HRBEEE RER D BFOEEPRE A ARSA
PR T R o R E S T R aE R RO S 0 kEB
AT ABEAR P e XA AR B TATHMTE > BRBFEBHLTEIRA
BROGFRARERREAR > ETTOEMTE T » FHHL BRSO ALH
BFEL o IIZ B A TR X B8 CBS A k@M X
3 3E B E BRI 0 AT LB XM E] 7 X4 EDD -~ SPT #2 CBS JE H &4
R ERERBEER - BEERWTF -
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1. % TFT-LCD & ¥ ##% A MTO # X £ A5 2% 3% -

2. #1F CBS g9t SFr e HEAZ I 3% > T LA 2GR AR Ak A X
EERY MARBRAAE RB OG-

3. N PHTERARHR A PHITERF I RMEKERE DT 0 CBS 8
AR AR B X > Bk CBS s A 28y IR B KR 5 M- F393T
B B4 L 0 CBS MARBAR R » 2hHeHMENL
RE T X -

CEBTRAHZRAKA RERFRANEN REIRFHE D
2R PEA—ERIGEIEMRS T APS R —E R £ EWk L E AE
REMS] - CRBBI S EABRINERA RER > RRES LT8R
Bl ROERDRE RSBERASAKE S EMAR ¥ RFATE
Bydbh o TR XRG04t TEE-LCD, bida s B % 7 % WS4 80 F
5 4% MRP {53k & f5 & IR B4Rk PTOLME SN APS 232 4 23
TFT-LCD & ¥4 4 24 2 R3] HAfefd R P AR B 5B 1 — B 7T47
Bk EHERARIA S

222 TTRERS

Pk ) JE R % % K (Quick Response ; QR)Z APS ArigsAm E22 — -
EYRTERRDRBEZTEMEAEMSI  LOiE THRRDEBEELE N
FR Bl ARTEHRTBEETE ? LT 0 A4 L0k % EAE 6 X HA
HEEFRZEAFRTU RIREBRFE - £ 87 TFI-LCD 3§ 3%
HAw AT ¥ 2R AMEAONMNEE L2 - FF
L+ 7T AL Hl(Available To Promise ; ATP)sh A 694548 > A R4 RATF A9
MAE - AR - FREE SRR ENRERREMELS AR
G maN Ll ANERS X R Td ATP #& CTP(Capable To
Promise) @ # £ # PTP(Profitable To Promise)[7] - £ & A 3548 B AT 2 K 6437
BENERA—AEEERNAR  RREE > TREETHHMRAE md X
BA D RREE S BERREITHEAER - BAIARAELE ERISLHE
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RAKIMEE BRI — " TAHEEKS > MR EEEI LY
BBEEHIARBEZINAE -

Jeong[115 A$% h B R JE42 7T AW Z » #% TFT-LCD & £ 5 & W
B aTRFEAGEMAE  REBAERSIGRAKATESNLE FEFP
EETTER A BT AaRBEMN B 2-8-

B—0

ATF Sysiem

Material
Recuuirement : . .
Flanning Pty — l

Moaude

Ao
R

Adsrobly
Shechda

Capacity
All evcation
(CATE)

F 3

Allccafaa
Razuliz

y
D Inventory - Computing
Allocation ATP

Eriry

ATF

| Customes

2-8 ATP % 43 #%

EWBERT  ATP B3t 5 > eRBFABEBR AL EHRRAEEZEP
MERAETTUHE B FEEERARRT URE G §HE AT AR E
&) & # A3 (Capable To Promise ; CTP) - sb B3 % » 237 ATP 4 44t
TFT-LCD # ¥ 89:EH - w R A TUBRRG D REAFTNE K ABEEN
BEETUKRENI A - R A5 ATP 4 #2324 » & &% TFT-LCD B
HEERF VA LMH— MY -
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23 TFT-LCD A 4a iz 4 & 538143 Bl Xk

RE[21A THTHEBEET RERD BAFOE EHEZ 0 = E ARH]
BRI T KW c W ERES T RAI SR ABEROMES > LEB
ATHE XA 9115 XS > AT TATHOM NS > BREBEMZTERIHMA
RO FERKERREAZ  ETITOEMEE T FHHL B ZGERILH
BPEh o 1R A BB A AR X B8 CBS B R AR
3 3F B FERRE 0 oAt X2 X4 EDD ~ SPT 2 CBS B H A M,
B H ARG EKEEE -

SR [814R  — A TR B Ket 2 K E B4 (CBGA) BB £ BB P 45
MR ERRS > RO AREELN S B-FTHFENETERAEDN
BlFMRE > RERBEHETAMUARHTENIIAEEZ B &) o &E&EH U
BEruy 7 X 0 ST He/ 5 P 28R L HE 42 (FS/EDD)R 4% 36/ 5= o, 2] 7 e Bk A2
(BS/LDD) /@y #& 7k Tk Rl b 8% » 3P fbéhaids i AR RAT R T ~ &/t
£~ RATTERSRAMeR RN T nE i o BRERBARAITRZ
VA PR B At 2 B 8 BIR A AT X BEAZ 428 0 BA AR 7L EDD st LDD 2
B X Rk -

HR[01F E(1)EF B R Z D EA TR E5 QBB LHFH Wt
wmEL ey E K Q)R e Bk SR ST AR M A A U RBEEE R
ko A AE LA RATE RS AL MM BSRAT 0 F RS
PRok] ~ A AETRR) LA R b3 4 2 BRI 5 3K BE R B 5 X RS S A
Vet S E A AR AHEEX > ARG LEARE KRR MES BAZ -
1% o A1 A Cplex $k % KAt 7 o) HIEREE K K

FR[I514F 342 TFT-LCD a4 2 M A 4 RAHRD HER
HopAEHRAE  EH_EAEE > A T AR E T YRR
¥, @ TAERB S Ak £ T AR A, FoFE
BB SN RANTH A g e g kREMRD  EH—GMHR
KX ARRBERE R TR EMER & > EHE Ao A AME > E7]
AHBEALZBR -ThHRde, AAARBREEMAELBEZ4
HEABPAE SR ETHN U kst ALz > S eE L
FEMEFRETHE RiZ> £ " AZRIAPEEE 2> dNEKLAE
EWEgAZ S LK THERE » BRARTHE A Z BRI A48
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ERWEE > Rty B ERA Conway 1% 3+ X # Queuing Model M/M/s & K
HETARRRBER A EAYMER - TRERBT  RETHBRD
MERE ~ Ao FIRABBABTR > B TEREAERALZBE maet EE
WS @ 0 TR A E RAFEI AR -

T K[6]4 4 B1% 4 & (Make-to-Order, MTO)E LT » H 2R EI5 £ A
MEfs R 8GN RETBEAFLESH ARSI RELE ARG TERL
AR BR-BERIEX RS L eTAE S F A et E3E 0 A
HUBEEAPMITRE R AR S BRE L 2RI REERIER
HETURFSHE  EATANAE RN ZHEMFMITE B TR 3L
DRI GERDEBETUARNESHE - ZARTREZIEIHEN LR
e A BT L E # 4 Bu(Re-Allocation) ey 7 X, 0 S F BN E BB IR
BEARFEOHA o R TRSTMRERE DL L HE S ERE G TER
ERMN LR "TAFCAHETEN HE | B VR AFCAEETEN
B, AR TAREFEFTRAOBTRAON  BREREATAHCAEE
EH pEE T A S B SEER beh R B B R
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?ﬂ};‘i—ié{]}%iﬁ’]“ ’ Fﬁ'%%%z %Eﬁ[‘%‘é ) /f/Fﬁ]i—\i%‘Q%z/fz{%E o

& 24 B4Rk ] UK IR

Fr bb 7] B4 fE AR B Bk 2t 3k 0 Hibiio R 24 i RE SR YA E S A E 0 & T A8 ATES TFTLLCD &

R [12] 72 KJ[8] #A K[10] FR[15] T K[6] Shin[2] AX
STE X _
M2 o - 1 _ oMb B aE _
CkEEN | TEXL AR M B AME ol A& AL #17& Kb
a4 X?E-?J;fail TE X AT ] ZHERERKR | 3 - | 3
& AE TR ]
STE XYL 45 IR S 1R 5 1R
£ TR ST == it " ) )
4] Pt R | 3 46 IR W PR | okt IR 6] 15 & A JE e TR % 45 1P
A R - Fumal | AREMEE L5 2 T
STE R
R 4] 2
R,2 CBS |4 4 SR E|(LP
f; Fﬁ“”i 2 REHE | SR EIP) ?;2;%) SHRBILP) | BaMBE | AHARICP)
’ ‘ £(CBGA) Tils
}:& F%’S X g Er g X Er ag £ X =i £ 1=
E Hakin |Hakdn |(SaRZEE | Hamd 1R % B & 48 R B R WL 4A B B
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$=F #X2H

3.1 FARERYH

TFT-LCD 2 8 # X =& § L% B FTHS 3 AR E S -7
B RGDRAIEAREBE AL EF R Ad > Aakiise
RBLBREN > Bkt ERIABERAEA B EHEAMEBD X FRAR A LR
BaTRER AR AN BREE R I RGE B PEEITEE » A
oA EESHATEXN A ZEMTO)RBEBAEZE K - Bk > R3UK4t
A 8 B e R LCD ¥ R s R B EH T B EMRERTEFRLT
B EARERY  BEHAERERZER WHB AR A ERE
R MBI NAZBFN -

AR ERAERBEEIZBN  gh LAF T AERZIMRA - B
B P Z #R5E & fA 31 3 3% BRI 5% 2 Ep R B 884 (Printed Wiring Board,
PWB)E &1F ¥ » R FAIT 40 558 - @R T » FRAEESHER
¥4 BERYHGRERERRE AL M > F UL TR
BB 2 EE o

MR RSRZ — B A A b SR ELE B AR o JL B RRE R AR 4 B3Rkt
3542 LCD ¥ b @R A H A s 8 F B % 2 LCD ¥ g st mAR %A
AEE BNEFPRRLAESBHABTRAFR  KARFFPTES
R B2 E > Bk FAEE& T2 ECD ¥ R & @R E T %A
FEEVEREZERE ¢

Bamt ERIAEREFEREMA  LEEL 2 RELE F46F
FoEMEEER > M AHAZE > XBRZIEZKPE - ONBEEHNE K&
ERMEERZTRAR > A hkmi B E—SREARENEE  HINFR
FIBEREARARZHEZLE  PEAE R THIEEERZASLE %R
I BAEITE SR EZRERR EMZIEMBER - AR FHRAEZRESLT
MELEELZMEEREERLBRNBEERERZERBEE TR F At
HRREITE c MAMMEBMEZRZ AL  PRE&MRL HEEL K
RBFEH R ELRARLBEEERROSHHIAEETERARZEE
I FERA Bt FEXBRMELREFRUE/E6 KERT
B BB R AR M o BN MBI B LIAR L B RS S A RAE L
FH IRA] e R AR 2 4k A B R B o

(o
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Rt o RRBLELIZ MRS A KK o R A R B R
REFZAE BURZEIZERIR=ZBEER  FE>AIDRA £
T BAAR st EE Mkt e  ekia 5ed) [0 EMIR -
Bt REFREZER > FRRIFZ AR ERAAMAR - MEA BRI
ZHEMFEFRAA R EZR BN EMUSE - BB ARYHRAE F > LA
2 EIMRBE KRB REZELEAR—HZ AR T i f
AAESZART  AUEREZHHFE  BAEATREAREERIZ
F R 44T

PR E iR a2 B8 > TFT-LCD 4l A 5 2 RI4Fey ZAEME]
RRILSAME & X MR PR o S Tk S R R RA > BB
e T AT o LB YRR M A B — R AR - RSO £ R
FRAHERMN I~ W EBAESF Choe IHER AL - ERFRT
fofok EMMENERT B EEARZIEEREI 24 -

P AR ARSI — R
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3.L1TFT-LCD #téa 4 £ Bpf L2450
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TFT-LCD #iaam #4544

EABHER D E P UREE G20 AR T  AEROHELE

Z R R A& & (Flow shop) 7 X & X o WA M I o F A7

1.
2.
3.

# 6 o TH R R AR 3G -

HF— I ARREI TR E—R -

PR AR S A 55 TAE s
BagzEEEM R KOG > A ¥ 2 R E 4R (Printed
Wiring Board : PWB) R &1 ¥ » H A5 — R & 40 548 > draasrsh
% TFT-LCD # 48 B 2 #REA TAE b - 3 etk & AAEGE A b o L JAHF4F
M

BMamzrEAANA R EERBESZLA-HAEHK FEO>EID
Bl B-BRXAEZBINME A —R bt HakE RN
FHOF et fa ~ 5E8) 1C » £ HAR) S 42 4831 35 > H Aok Fp ] & 2 4R (Printed
Wiring Board ; PWB) B &4 % T Vesk T b 5% > T3 st B& A
LB 40 B 2% 0 e BURHE A BT BT S B R b B X HRER
T AR HERR B o At £

HamElRERAbE XX HBRAESF RER M - LA HE
B LBEARIGEZHEEIN - FR ERF A2 LCD F & b3t}
R TR > R B R RBRETEZ LCD f & B3R 8 -

B % MsEdbt > wwH ke s ICERMHFABHARREZKA
f& LCD ¥ sk ot AR B #2484 K AR Bk T 05 42 42 42 40 i 4 31 X 2B AT 1E
¥ BHR T T BEEAEE2 WIP 24 B3 21F ¥ &5 ol 84T >
R WIP 295404 2 BRI K -
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BEBHAZBREASE  HEEREERZAOEMELRSZ
THEEE - AEMEHESSLERABELRERE  BPHAERRE X
FlE@z aR#E—BEZIFECFENAR - SRELEEEZRR AR
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A E B X A R BAE B R IA R F R R R THEB R TR 3%
WMHEEFTERSBRE - BT T BN AR R A F
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He R UF

HER2 i THEEER TN ok B A Ble A HE

SRR B R TR e HEE &2
TiE R ECus_ 1z TR mEECus 1z
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B 3-2 BEmEEoTE R
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BER | mEERRN | EBERE :
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A AHNEE Cus 1 fofi% Cus 2 2B ER P EMBEHRE
LCD ¥ fidb | ZFRAEDZ | ZFRAEDHBR | AFRERHB
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o PR EZBRE PR AREBEERZFLSR IS A £
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T EERAALBAIXRARSF > EREBIAEE MM
B wAWRHRRERL AEHIEES  BERLZWHE > =&
At R E -

31



// BT

BEITEE %8 31 R TR X BOM & EHERSA

*f"ﬁ)ﬁ,ﬂﬁ *7’"]'_5‘]'3
TR, — —
T ¥ B Fa v 1. LI T A 36 b 3R BERE

| T | M [PLLOFRa
B @R Fo B2 15 A ) 3. RS
*ﬂgf W 1. BRBEITEXERE
y

FRIA T AR R T
¥ A I ER A AE

FHAE RPN EE
T8 2 @R R

RERETE
ERF

#ELCD ¥ ok, ot ol £
FEHBLEE P

Z KBS

3-3 ERBHEREME

EH

32



33 BRI ITERGS A

@ N TFT-LCD 2 ¥ A f| i T R RXUE A T2 A EF X 0 i
FeX g TEF R ERBAMNRAIAZRERZAENRE M LEAE
REAR  e@imE BHAT  GREBEBRAHGTEE KRR RS
Jk TFT-LCD @R 44 4 © $CAFT LB 12 Ao e 3 x 2 LCD F g o & oo
FRREBMFTEERCHERT » RSB @R PR -

Bk BAL 331 GHEpA A THRBTAEsE A EPEf2fo & b ERE
“%ﬁy%ﬁ%i%um*ﬁ&%ﬂéakT’%zm@é o 4 TR
#l o RE M & E BHFR2 LCD ¥R S AT sb2 b & R B i kT AR

BITBER G MAII2HHKRI31 G REERE  FREALRLEH
SFEBEE B 333 HAR AL R FAELCD R ZBRMXTE
UETAERZ S5 0 o B 3-4 Aiw ©

STEFRAER
R e R E
( N\
d.3. 1Rz e kA2 =
o B2 5 A4 1 ) b 1. HESR T AF 36 4 41 5k 42
FESA T Ak A A 2. LCD¥ & #1448
HeAEHo E B EREE 3. RBAR
4, HIRMEEITEZER S

3. 3. SHRFA TAE ¥

; 9 9. SFA TR E
2, 2] &5 B 30 A R \\Qé%?ﬁ%ﬁ
EHRIBERAE || TERS
e 2HER

Fa

Y

%
LEHH AN R | 48 LCD ¥ & 5 Fl 82
2 T8 € EAR R EEELEE P
\_ J
AEBEITE %
EXE <
G J
\ J
y

34
R

B 3-4 MBI EITEREEAALR

33



WHAZ FZEMANKECEEREFRERPBFAT  REXE
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RAFRER
1. %% (Constant)
beg - #A#n ¥
set - & Shho L% A
H ' BX#
2. T4 (Indices)
o I3TEHE (0=123..0)
ptAESEH (p=123..P)
r LCD ¥ i@k EL (r=123..R)
tRFREAE ¢=123..7)
m * fRSATAE¥E BN & %9k _(m=123..M)
3. 4% (Parameter)
ar,,, " @3Bk S p FRrZ LCD ¥ isnfe Fr A2 R 2] 2
hpi,, b, * Ao p &8 r 2 | LCD ¥R BZ I EHE
dd,, * TR %o & &p ZRH
dg,, ' TR %HFoEBpZERE
pr,, TR0 &S p BEMBIEA
pr,, TREHRoESL p RBHEREZIHBEMA BEA
pt, + ESu p BB A T B R
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uc,, * ERIBIN KK LTESRIR 0 A& p L HBMET RA
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ci, * & &b p RER 0 FAHPN
4. 2% # ¥ (Decision Variables)
X, RO RGHRAKE m A E E S p FHRTZ LCD ¥
BNEEZHE > BRDEN 0 ZEH

RC,, ' £ Ht MMBEKE m AR BRZ ERE > B ANEN 0 22 H
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HP,,, ' &b pf % r 2 LCD ¥ ot % 1 36 Rl dhE - B AN EN
Z JF B

VHBD, , : % Tk 85T B 495 0 ou p P A £ X F & B A HE 25 2 RB AR,
LE o BAREN 0 ZEH
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SHRBMXRA

RAFE L Z FR TR > AT HILRBI SR TERE
PR — MR B E AR KA TG L ABCE !
1. B#%& X (Objective)

FAAEELETERY S @REBZRZMRH] > wE LD R SEHF » AL
FomAR FRBIRTRG] 0 RRA N BERMAE] > HEHI RS WBERIHF
BfF o RERACAHEZ A#EE > K BEKXoK 3-1 A7 ¢

RAE(FA A TEFRIAUASTRE R L E HIATRBRTESE R B
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P R M T 0O P ik‘ 3-1
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o P
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BRITEXEMBI AR LEBRITES FERIHE

2. B# X (Constraint)

AR SR 35 P A2 Fo BL T A Z MR RO 2 RR B0 2. 1 HRSA T AR sb

RREX 2.2 TERERP K > o FAAT -
Subject to

2.1 IR T A5 P2 R4

P R

u Z[(z X, m)pt, +set-y, 1+RC,  =cap,,

m>X, . SHXS,,,

r=1

P P
B D Voms S10 2=
p=1 p=1
u yp,m,t < 5p,m,t “ ¢p,m,t = 5p,m,t
. §p,m,t S l//p,m,t 17 ¢p,m,t—1

u §p,m,t < yp,m,t + y/p,m,t

WX >0

p.r,m

. 5[},m,t ’ Wp,m,t ’ ¢p,m,t ’ }/p,m,te (0’1)
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2. AR IEEH B, F05,, ZHik

R
z Xp,r,m,l‘ S H X 5p,m,r vp’m,t 5‘, 3‘3
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SUR()!‘DZO ’ Uo,p 20 ) vO,p,r,t o i“ 3_20
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332 R T AEERE & R A HH

B LRI B AR L@ E B2 LCD ¥ k. oniE 1% £ A4 48 i
ZBEFER > RBREHPREE R ETREA RBEE > BB E
LBIARRINZERERTLNBEMATE  MERATER » F A
E—FRRHaRZAINERTIHAEREHEL LR S wRIF57TEH K
WA Rl /AN 333 MBI G R AEMRS - HAIALE
3-8 AT » Ftm B B AT 7o e

TEFRARAL

¥ AR E

G. 3. 148,38 TAE sb HEAZ

Fo e, & A% 1 ) : -, 1. HLSA T Ak ok fn S0 HE A2
HREA TAEXE & & 2. LOD# A b K2 %
HeREfE B EREE 3. KA

4L BRBETREZERE

3. 3. HRIA Ak ¥h
R 8 &5 R A FY )

TR ERR |
#E

/3. 3 Z%RJEJ—ﬁEﬁ‘u’#E

RSE T AR A

A

A R ERE AE SR B R RN LS $BLCD % & & ##2 :
ZTAE MR R EEBLEE TS
PEMETR =
HERE
\ J
b J
34

BRI
[ 3-8 IR TAF bR B & RFHHHRAZE

FR.5E ¥ HEAZ Ao B AR B AR YR LCD £ i b @ AR Rk Fo B K S 405
T AR AR BB T 2 A2 - N A ERFEE  RE MR
BB AT ERE EREAERAFIHFEAT @Fgerms LOD
FrRmBRRBEANLE > HR BB FZREERT AR A2
ok BFEFT %0 LCD ¥ RS @R > M i s f4k LCD ¥ % &% @ AR BF
RELZGHAIBIN > FgEAZ@REERE » HLBIF R LCD F
BB EEBLEZ T TREFFORIABE RIS EZSF -
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® FEE—

&SRR HE AR Ao B B M AR B TR AR 0 L BB AT B TR ZHE
20 RTHRMATE - RAFBTRERE 100% £RIIEBERN
R B 2 R tm i i Bl » STE LA GE EHE AR T
PR -

TEFRERIHERE/ A ITEE REH=100%

iim&%—&@ﬂ ii@wﬂm% A 3-21
o=l p=1 o=l p=1

UETEZERRLIAMRIAL » HREENT — B> FRILIAEAMRBL
1R 3E 2] 6 R EIE & - BATHE

® -

FUEMHR L LA SR ERARIIE  ERIBARET
8K > AR R ERZLCD ¥ b EARE Bl B HP,, , >0 & & b5 £ %
ZHF o HLHBEELES P B TEAYRR I KA -
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3.3.3 #aBR T AR5 R & R A EMHI

% 43 i LCD 3 g, ot M R A B 3T B85 0 LA AR R 0 BUEAT
BARRM R BGTEE R FAE - § L —MERB T RIMBAIARZEKR S
MATHEARZERN  BeAASE LR RGERBIBEK > RRABRNHY
LEEBEREIRPBZHE ) BMMATELSEE XA RRAENREZ
R CiRAERAE > A& LCD ¥ Q& @mig okt 2 R o 35 sbig ik
FHRITEZ RBR B INREME  BAEA R AL > BT E 2T
AR ER - HAIALEwE 3-9 Arow > Fa b B ERAT I -

STREERERARL
3 % ot ARk
( N\
. 3. 1HRSA T Ak ¥ BEAZ
Fo e, & A% 1 /) i . 1. HLSA T Ak ok fn S0 HE A2
FREBT AL £ & 2. LCDH# At st & 61
B fo & L E & B R 3. RS
4 BRBETEZERE

3. 3. 2HR3A T A ¥ I,

Gfﬁﬁ%lﬁw:
A8 & R RA

- $145 3 37 4 Kbl
Y R
e ot

Pt

fRSE TAE b & F /
9 A AR A AE L AT R RN

AFLCD ¥ ak ot ol 5
'\ﬁiffﬁﬁ%$ FEELEE P
\ J
AR ITE | x
HERE <
\ J
A
34
FUEEE R p 11

B 3-9 ALZA T4 b B 45 R 99 KM ) A2 B
> REMALAERE

B AL B A B BB RL BT A 0 LT B 2 R R A
B AR EREIEE P - LT M & 50 S M E S X FIR B RC,, © % K —

W& EBAFERC,, 2 Max (pt,) ZAFAE s B EANF RN LCD F gk o A
fEfx > RAUERRICRBEZ BRI BRREE ) sAAKRSESEHZ
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RC,, <Max(pt,) &> RECEIGIHER  SARALEE L AL &

Wy kMREZITE > RIFNA%EHE -

> ¥ LCD ¥ R&RH

R ZGMREEX > LB AR R R AR X B2
KA xsh HBERATAFBERAL - £BRZX T % —#3% LCD ¥
SRR Z BN R A 0 B FBME 0 R ZBS R AT S B ERBE
738 LCD ¥ R ob RAEF > LAF R AR REEERY K ESERZ
LCD ¥ sk st miR L 80 R A IR Z B & - LIS FRPF BRI L E L ERE
RARE]E » FAEAEAF RIS KT R ERZ & & su FREIR © RIS R R
FATT R B2 % T K F4RE -

SRR BB X

#73% % ¥ (New Parameter)
hp,,. " BABESp $8r2 LCD ¥ m bt 5T HGRE B E R) 2 44 E

cc,, * BB E R p & B 20 R BRI A
#73% 5 R % # (New Decision Variables)

NAR, ., : BB E & p F B UCDFmes £ f A X BRI E 0 B R
(0 2 B

B 32 X, (Objective)
Maximize

o P o P o P
> > pr,,-(RAQ,,—SUR, ) +> > ci,-VAQ, ,+>.> pr', -SUR, , -

o=l p=1 o=l p=1 o=l p=1

P R M T o P P R T

Z Z 2 2 My Xy = Z Z uc,,Us,,~ Z Z Z cc,, NAR, A 3-22
p=1l r=1 m=1 t=1 o=l p=1 p=l r=1 t=1
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& #] X, (Constraint)

P R

m>[OQ.X,,,)pt,+set-y,, 1+RC, =cap,, Vm,t £ 3-23
p=l  r=l
R

. ; Xp,r,m,t S H X §p,m,t vp’m,t i“ 3—24
P P

u <=l » <=l :
; 7/p,m,t ; ¢p,m,r Vm,t fk‘ 3'25

[ ] < ’ <
7p,m,1‘ - §p,m,t ¢p,m,t - §p,m,t Vp,m,t f‘ 3-26

. 5p,m,r S l//p,m,r + ¢p:m,r—l Vp,m,t 5‘ 3_27

u 5p,m,t S 7p,m,t + l//p,m.f VP’ m’t f‘ 3'28

X, .20

Vp,r,m,t X 3-29
. 517:7".? ’ l/jp,m,t f ¢p,m,t 2 }/p,m,te (0’1) *

M %

. z Xp,r,m,t >= z AQo,p,r,t vp’ r’t f“ 3-30
m=1 o=l

[ | HPp,r,t = hpip,r,beg \v’p, r,t= 0 f‘, 3-31

M
+ar,,,+NAR,, =Y X .. =HP

" HE P Vp,rix1 X 3-32

p.rit=1
m=1

Bm HP . <hp |
Pt Tt vp,r X, 3-33

IR ¥ B X 332 Fu 3330 & 3-32 4 LCD £ RS @RZ
THTRR M EHNAR,, AR RHH & FRBRAAE: HK3-33 2
S#chp, Bl AREA B Fo e B AR R B & R 2 ML E K& % & LCD
FRBRBE > MR ZRIERF » £ F K LCD F R bR 18 E RF
EREHP,, LR E MR, L e
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R dd,,

z ZAQo,p,r,t ’ ugo,p,r _VHBDo,p >= RAQo,p VO, P

R dd,, R dd,,

Z ZAQ(),]),r,r ’ ugo,p,r ’ bdp,r 2 Zbdo,p ’ (Z ZAQ(),p,r,z ’ ugo,p r VHBD() p)

r=l t=1 r=1 t=1

Yo, p
dq, , - RAQ,  <=US, Vo.p
RAQ, ,<=H*dq,, Yo, p
RAQO’p + USO,p <= dqoyp + SURO’p Yo.p

H*
Us,,<=H*(1-U,,) Yo.p
o P
Z; Z:, SUR,  <=H*U, Yo, p
o=l p=
R dd,,
z z AQo,p,r,t m RAQo,p >= VAQO,p Yo, p
r=1 =1
O P R T o P R dd,,
222 2 Al - SRR T o Vo.p
o=l p=l r=1 t=1 o=l p=1 r=1 t=1

AQ,,,.20 > RAQ, ;0.2 VAQ_ 20 > US, >0 > HP, >0 >

VHBD, , 20 > SUR, 20 > U, > Yo,p,r,t °

X 3-34

2 3-35

A 3-36

A 3-37

= 3-38

2 3-39

A 3-40

A 3-41

3, 3-42

3 3-43

R X2 SR PR M A B EDRB T ESRIERA

&

AREAAIEZERE  REHAARZEHK -

> RAENWERRF

EMBAKREGAEMRMCLAT BTERDBMERZIHIT » LBFLAK K
WMAERTEY > BHETEPRBEE A EXRMELB)ZTE bk
MECTEZX ETURSHER » BLEHBIHMRGLETEX A4 AL d
HAEZTE RRIL - k*%i&g% SEZTREBETIE  FRERBG
BEANTARM  AMHEITERZ HIBLELABELE TELH Fh‘ﬁﬁ
o R KB Z TR RAE EJ%E%%&WI%:\%*/%EE%‘&&—i:— HoAd R
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o H¥mBpEREZ wTFAER 310 AfF °
Input : @%

Step 1 |3XERHBETEZ R
R ERE RNLB

A

Step_2| g 8 MR AHLIA LA

ik EHAR A E S F R
AR S RS

EETA RiGRTE
ARRTRE

& WA RHEN
& 2 T8 % 'R Rk

E

B 3-10 AT EZER B4
> R R E RE IR A
LB @ R RZTERF NN ZIAR
¢ Step_1:
R A RHETE AHERBEEXRTANENLB
4o X, 3-44 ~ K, 3-45 Aiow o

LUk h & i8

N,, " TEHFoADpRERGBL > wRAHLFAO

1 3 IR 4] X,
US,,<=N, , *H Yo,p A 344
US,, >=LB*N,, Yo,p A 345
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€ Step 244 i 738 2 FRB| X B AFRIA TAEsb HEAZ Fo i B MR 2 32
A KA -
@ Step 3

LR ERERB IR R A B EE X RE 2
RV REAATEZIRGRE T PANTAEXZITR - wRZL > Al
ANE|T—1E55 TRl E4 EligiE o

PAT THARSE TAESE M B R\ AL > AENRBAITEWRIE RT

o BEATHARBAT RN > o RAAFLF R EDHELES T
S HE 0 BN 34 SRR B A -
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34 HHAdse

TFT-LCD # %48 B PR 7 #R88 TAF 36 (Bp Bl B 8AR B S 1F ¥ ) He 2 Ao i
S B —EFRFAZRZBAPTEREER TR X HMECER AR - @4
¥X 52 T ALRPTIBT B4 & @R E 248 0 3 LCD ¥ &
ot AR A IR B o T B kot o B AST# TFT-LCD 4 e ib iz T4 2
B, WEAZEZALHA THRBA TSR iTER B, AT
KAz A EZRIER > 2RUERIERFEMALZDREE > KFL &R
YA Z BT BEBBEABANMF R R ZREL AR
B4 B 3-11 Frox -

TREAHSA

B s kR 8
# 1

y
B LR R R
Z FRPEAS

LB 7 AR

=11 Mt B i A2

A gz TR Eisa ) ad TRt ) fo TR
RRZIRES o — 4 BABKE—E TiRB TP T R85
i HER 2 A B3R BTt A Y BHA THEHH
REIHH ) R AR > R E IR 2 o SRR A2 A
BB R AR AL 0 SRR R R 0 RS
LUBENFT B Z W8 -

Bt R A R 2 — B A MR 2 AR - AR AR 2 A A B
B A 45 R MR B > SRR 64— LCD @ g e =18 B st ke A
(IC ~ PWB ~ BL) » @ 4R 2P th i3 va 464 4 0 32 AR © o M kB 0 2 84640
HEAF e ABRZEH L MR eRERERERERE A P
REEE AAXY  XREERARE - AAABRY > EHBIFR—
AR T RABUE I Z R B R TR B AR 2R AR
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My HERH A a AR as#azE2Ng AN 8o TER
3-12 Frow

BEABRF IR ARS » AMEERARSIERBZANLE >
75 B mAR £ R EMH BT > A — R ETIBAL Z IRAB] > BAR G IRBIEEE R A
%%ﬁﬁﬁ@ A R X B AR R A AT R R

s AR IR YR B RAR  EE AR ERER T —REEE > R
%Tﬁiﬁu%ﬁd e X BA4n B A7 0 X A% R i (Slow moving) ©

sok L ERBIRE G T X RARA— %A T —ERIEERE 2
A 2R TR A R E S5 2 R B o B R R A 551 R 2 B AR
WAL T ARk A B RAD  RAERSZAEALE
FeB T AR T SRR AR o T A A R R AR
EEZPA G B WHIRBE RN BB ha T —EREEZY
FAT BRI 0 o A BB 18R TR AR E -

> AARBR

L BERRRIRIE 212 - SO P ZA] BB R] Aot R 0 AT AR B
i o

2. THRSATAE SR AR ZE &S A SRR
S HA 0 A7 Au LT PR AT B AT 2 A R B %

3. AEEMHEATRA EHARKRMAELEZ ST £ AT
Wit BB A5 A AR B R A

4. Fl—ABHTHARR FEHZ @R 2B R EHRE -

&
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3.4.1 B4 PR 84 5]
ARz Vs R EAE | TR BMA  HOHET 2B T
A AERE Y KBEEEMHZERE > ZUFRBLS B KR
7 UMM REGFZARE o
Product A Product B

LCD_A IC,(10) BL,(1) PWBy(1)
(1) t Ic, b BL, FPWB1

LCD_B IC,(10) BL,(1) PWB,(1)

(1) IC, E% tPWBg
BL, > PWB,

IC, “BL, PWB,
PWB,

3-12 ¥ ¥~ S B

LE 3-12 AipHEErEE o AE ¥ 2 & 5] A (Product_A)f= B
(Product_B) & 1] » £ 3L 7% A fu B &7 Hpi#ra A Giv B_G - HE# 4
#2 6,4 LCD ¥ st~ IC ~ 3 b4 4a(Back Light, BL) » Ep 7 & 2% A& (Printed
Wiring Board, PWB)wg #& #7544 » BB & Sh Fr & < B 42 4 2a 2 (IC ~ PWB ~
BL)#% & » 7% % 1048 ~ 1 18~ 148 B E—LCD @ik - 2% A x A Gl
ZBu b2 LCD_ABRAESL AZ LCD ¥ &a@mir @ & 44 IC, ~ BL, -
PWBs;m & & B2 B GA#f4t = LCD BEAZESB2LCD ¥ R&@ike
HEH A IC, ~ BL, ~ PWB, » £ E¥FN@Ars w2 ¥ 0 Bp &340 8
o TR EEZ A

SRR A 1S @R B REARFRARERE 15 48R
R AR ERZBFRE BFEBAIHR 0 SO B ARRHEA
A A EAAE 1S @R E MG - 15 ot @RS REE AL
THE AR B AL E SRl (ex 17 o @AR) X EM AL 0 LA R EH
TR R E R b A SR Z AR o 215 vdde 17 vb 2 @R A6 0 15 »F @R
Fo 17 vt @iRZ ICHERMH > & 17 @R IC EH KA BT > BPTAE"
RERERAEE 15 @R IC A E B AHM > KB E E4 R4 A AR
HEGRY R R R AT B KM BRI AR A

Mg E e B AR 2 B ARA AT ke 0 ot E kbR B ROk e 8
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ZTF o EHBERABRMK  HeEEBAIR g5 EAE
ANEEREZMHFEF > AITREREEAZN > w5 RHA T T -

BMARIFEL

LB aZ GHERIBEX T 0 BAFSEE SR Z kR AR —
THRd (ex:d=1Bp K EHHFA IC)  Mme BpREAMHEAR 2 5k (ex: d =1
He=10pR&IC) > EHFZFWETA  RAELAE—E 0 E -
Az THRBERM > BTG KE LS ELN DGR GE
HErEBwE 3-13 Ao o

3-13 Wit A fo Mt %~ B B
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58k o AP SGHI R R AR B R 0 K SR 55
2 FRE > BHOLERE RIS SHHMALHHARZERE - H7E
[ ko T B 3-14 AFF °

BHEERSRELK | _ iix
é’“ iéiﬁ;%iﬁﬂﬁ,@ = — p.r.mt

A

SESHPEMZLE _,

HE Pt

A

5ESHpEAtZAE | _, <
wEmEMHGE | o ;d”p,d

y

A Y

@é%zdp‘ﬁ‘»ﬁﬁtﬁﬁ é‘écﬁ:zdp—ﬁr,ﬁ‘ﬂtﬁﬁ— %é ‘%E'Jp‘ﬁ?,ﬁﬁtﬁﬁ'
FICHH s FPWBiH e € EBLYH 48 &
Z,, -dn,, Z - dh=s Z,, dn,,

314 AL EWHBATEREFTEE
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BARFRZ &

1.

2.

3.

% # (Constant)

beg : #A#n B ]

H & K#

ol * YHITHEAT & B ]

TF4& (Indices)

p - A&7 (p=123..P)

r tLOD F RS @RFLR (r=123..R)
t D BFEER (¢=123..7)

m * FRZATAR S BN % & ik (m=12,3:.M)
d ' Eduta Xk EaA (d=123)

e ' YRR 2kt 4hik (e=12.3.:E,)
4%-¥ ( Parameter )

Xy - A B TEAIE TR G RSB G Mk B & 50 p F 8 r2 LCD F R ab 3%
ANt EZHF

2, REFIEBANRRpZAET

msty e © WA d e 2 B R
he,, * MURHER d okt sk e 2 BALE A AR A
bm,, * AR d P ke Z BB E R A

mg,,.  0-1 S8« & & p Wk ¢ 2 MHBE d W BT e 2B
o B REAESED

eq,, * BRI d YR ke BTN S B E
dn,, - A EB—ASLpEMREARNZ R E
mr,,, * EF YR EAL d R e X R B2

k¥ ¥ (Decision Variables)
ML,,, - 9B d i ik e £ F t HARIER T > B RINEN () 2 %
#
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PM,,,  FERTHEY R ER d M ik e 3THERLE - B AN ER
0 = &3
MD,,,, ' EFIEAIERERp Z &R AW EL d Y hike 2 £ &
BT BANEN 0 2 8%
SRR RNA
RIFE LR 2 FR T RNA > AT HRB AP ITEREM
wmpr R A EREERY,,,  REBEMESEEE, K FEAK
R E -G R IEXR REREDHEE
1. B #& X (Objective)
AR REEIRZIAMMAEF R 288 B ok~ BRSSO
BEEf YR EZ A RERRTRAACZ Yt B E > % BAZ X do F AT
ToME(i bt BAF R A E AR ) 0 de R 3546 PR T

Minimize
D E, T D E, T i
z z hcd’e ] MLd’e" + Z Zzbmd,e p PMd,e,t 9 eqd,e ':EK‘ 3_46
=1 e=l =1 =1 e=1 =1

2. Y & 77 4] X (Constraint)
. MDp,d,e,t S H 'mgp,d,e Vp,d, e,t f‘ 3_47

mg, .. B &S p W E AP Z YA d it iR e R B
ERANBH L FAH0- MHBE—1BRE - Emg,,, =1 FHELEH!
8o R d o Sk e XN E S p 2 LOD ¥ A A
E A0 RIRAFHERBIMD,,,, =0) -

® WAt-F47 O 42 R
1. =437 g AT B o5 F AT

| MLd,e,r = mstd!e’beg Yd,e,t=0 f‘(‘ 3-48
P ~
- MLd’e"_l + mrd’f’t - Z dn[?,d ’ MDp,d,e,t = MLd,e,t i‘(‘ 3_49

p=1

Vd,e,t >21&t <ol

59



CIEGESEZ VRS SEECEIR S SEE RN £ S EV YU .
TR B S M AT @A S H A F mr,, v £ ESR
FRRE 0 BAB AR S B A AN SRR S B
ZHHHRE -

2. FAEHTHA E M

P ~
u MLd,e,r—l + PMd,e,t ey, zdnp,d 'MDp,d,e,t = MLd,e,t ik‘ 3-50
p=1
Vd,e,t > ol
CER SO ST SRS TN L SE L EIENUEE
EMHTHBATENRZ AV THBE PM,,, eq,, Aok FERy
FHAIRE © BRI B o B A AN A AR 43t
Z KRR E -
E, ‘
u ZMDp.d.e.r =Zpy Vp,d,t = 3-51

R 351 AWML E LA B AN ER r AXHHEEREESR

Koz, HERPERIABNZE £ 2 KB 3-13 T4 7, 2
R R AL B TEAL & & ob pZ BRI R 2 S K 2 - sbfl
B ER o R BRIk At p Z LOD Fadh 0 A AR d ok 4

£y
e AL EZ @B MD, . = 2,07 %z, A 00 AIRFLE
e=1

Ezl
(Bp ZMDMN =0) o
e=l1
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FwmE FHRE

BERBEAIXAE B IR RBEABRZIAEZRIAKZITITN  ARE
¥ o B AMFETH TFT-LCD # 44 2RI T X B 5 PR > 1RIE AL AT
R AZ AT R BB o
AR EGBERRET AN ST 5 =B

. 2%BERNA MEALEZBEAKZIAKRET o248 A% -

2. REIBATHE BMAMMAEER  RERAAIS =N

ZHREA T AR BRI TR R B A ALk A R R X FUTIEAR o

3. REMFLER B IPARBETHITER BTSN ILEE -

4.1 A B HERA

AXEBRBEFAHFEANAERRE S 2oz - HEEHAMER 4Kk
B2 XA R PES  IRBAIZIEBEBXERBEHEE -

4.1.1 £ EBREH

AEBRBERER HERDH B R -BET KRR - REEH > o
T AR

1. E&HEREH

AEERBT "AES AF KA Ay AZRESNE o
%1% TV #8@mix ~ Notebook #8& 4z F» Monitor 28tz * £+ A% A-B B
TV #2&@ 4k * &= C D B Notebook #2 &4k * & &1 E ~ F 2] B Monitor #3 &
R AEBZRS KB EABE LCD £ RS R B A L o

FA-1 P TEERZEMUANIRA - FEERPAUANBEREBE
Mo e RAAEA T ITEX BN MAS KA BN E & RGBS
ERTHEAZEMUAN AN RELERIBENED  KATHLEER
B MRARBBAFREBLERREPS 2L REEFAEHRIM
BUNZBEP > HEBXBEESERAUANE  REAHBEIHMRBEERZ
B3 A
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*4-1 B F Bz AT B B H

2k AR | RAERABEAN | HFEAESBRA | RE&RIEA & E A 1P
: Ao (B o/@) | (B w/@) | (B /@) | (B4 /@) | (B /@)
TV A 20000 18000 16000 12000 8000
B 18000 16000 14400 10000 8000
C 10000 9000 8000 5500 5000
Notebook
D 9000 8000 7200 5000 5000
) E 8000 7500 6400 4400 3600
Monitor
F 7500 7000 6000 4000 3600
BAREE SR L EEXRETLHAR B ERKREHZ

THEER > BAEEREFRZ LD FARSATMERFMER > HfmE
Fhdo & 4-2 PR

k420 BESERZ TR %

3 250 LCD ¥4 | B%8A R £ 290 LCD ¥4 & | BERAR
X TS 33T 8 ZEMER
A_RI * D Rl *
A A_R2 80% " D _R2 80%
A_R3 * D_R3 *
A_R4 50% D_R4 60%
B_RI * E.R1 *
B B_R2 80% 3 E_R2 80%
B_R3 * E R3 *
B_R4 50% E_R4 50%
C_RI1 * F RI *
o C_R2 85% . F_R2 80%
C_R3 * F_R3 *
C_R4 70% F_R4 60%

& 4-3 BAEIE

FRHRITA LA
ER2BLARTERASELBETEEREAM M -

i 4
7
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kA2 E R B

N AEEELERLCD ¥Rz R3] E-3% LCD
BRI LCD Fr k2B EHRMmF > HFRok




% 4-3 £ & LEHLCD ¥ 55 43k 3] & (t=1~10)
P 40 LCD ¥ REE (R4 - R)
W | TR A%
(B) | =1 | =2 | =3 | =4 | =5 | =6 | =7 | =8 | =9 | =10
A_R1 | 2000 800 800
A A_R2 | 4000 500 1000
A _R3 2000 600 | 700
A_R4 | 1000 1100
B_R1 | 1500 | 800 1000 800
B B_R2 | 3000 700 | 800 600
B_R3 2000 1000 | 1100
B_R4 | 3000 950 800
C_R1 | 2200 | 1000 1200 | 2000 1000
C C_R2 3000 1000 | 1800 1500
C_R3 | 2000 1600 | 1500 | 700 500
C_R4 | 1500 2000 1500
D_R1 | 1300 2000 | 2000 | 800
D D R2 3400 1300 | 1200 500 1000
D _R3 | 1900 1500 1500 500
D R4 | 1700 1200 1000 | 1000
E_R1 | 1600 |2000.} 1500 700
. E_R2 | 2800 1500 | 2000
E R3 3200 3000 500
E R4 | 2500 2000 800
F R1 2600 2100 |.2300 300
B F R2 | 2600 1100 | 800 1000 | 1400
F R3 1800 1200 1000 2200
F R4 | 2600 1800 1600
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% 4-3 & & B F % LCD ¥ g b &1 R 3] Z(t=11~20)(4&)

i W LCD £ 5 %R 5 ¥Rk : H)
W | TR AR
(B) t=11 | t=12 | t=13 | t=14 | t=15 | t=16 | t=17 | t=18 | t=19 | t=20
A _R1 - 4000 | 1000 1100 600 500
A A _R2 - 4900 | 1300 | 2000
A_R3 - 2000 1000 1200 1100
A R4 - 1000 | 1000 1600 800
B R1 - 4500 | 1000 1500 1500
B B R2 - 5000 1000 1500 500
B _R3 - 3000 | 500 1000 2500
B R4 - 4500 1000 1500
C_R1 - 5700 1000 | 3000 500
C C_R2 - 4500 | 1000 2000 | 1500 700
C R3 - 4000 3000 1600
C R4 - 4000 1000 1800
D _R1 - 2800 | 500 1000
D D R2 - 5400+ 1000 1000
D R3 - 3900 | 1000 3000
D R4 - 3100 | 1400 2000
E R1 - 1600 | 2200-|-1000-| 2000 |:1200
E E R2 - 4600 | 1500 2000
E R3 - 5700 | 1500 | 1300
E R4 - 3600 | 1000 2200
F R1 - 8600 | 3000 3500
E F R2 - 7100 3000 2600
F R3 - 6300 2000 1500 2100
F R4 - 5600 | 2000 3000
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543 54 2% 8 LCD ¥4 5 52 R 58 (1=21-28)(4)
i Wi LCD £ % &R 5 ¥Rk : H)
W | TR AR
(B) =21 =22 t=23 =24 t=25 t=26 t=27 =28

A _R1 - 2000 1500 1000
A A _R2 - 2500 1000 1400

A _R3 - 1500 1500 2000

A R4 - 2000 2000

B _RI1 - 1500 900
B B _R2 - 1500 1300

B_R3 - 1400 1400

B R4 - 1300 900

C_R1 - 1700 1500

C_R2 - 1400 1300
C

C R3 - 1800 900

C_ R4 - 1000 1200

D _R1 - 1000 2200 1000
D D R2 - 800 1500 1200

D _R3 - 900 1000 1600

D R4 - 1300 1500

E R1 - 5500 1000 2500 1600 1000 2000
E E R2 - 4500 2500 1000 2000 1200

E R3 - 4000 2000 1500 200 700

E R4 - 2400 2000 1500 2000 2000

F R1 - 3100 1200 2000 1200
E F R2 - 2500 1500 1100 1200

F R3 - 1000 1300 1500 1400 1000

F R4 - 1000 1500 1100 1500
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2. R KRE R
EREFF > BEAELEHLCD (K% 1C -~ PRI EHKAR - 7 A48
WM RBEN 2 okt b mk 0 AITHBAT BEMHAT > SHBERA AR E
BPESTREIZHBES AT HFBE o TAHT -
k44 ERBROHELRE

A A #HE | WEHM
AlBlclp|E|Fp| *THE | (B
LCD # g & P11 ]1]1 - -
IC 10{10|10] 10| 10| 10| 100000 10
EmEBKRPEWB) [ 1 [ 1] 1] 1]1]1] 10000 10
WA 4 (BL) 1|11 |1]1]|1] 10000 10
FA4-5 ZEmH AR RIRZI RS E
wa | wE | B YF R 2 F (R4 @)
BY | #K% | BAE| = - =40 | =5 pa=6 | t=7 | =8
IC, | 6000 200000
IC, | 5000 | 100000 100000
IC; | 5500 100000
IC, | 4000 100000
ICs | 5500 100000
© |IC | 5500 100000
IC, | 7000 100000 | 100000
IC; | 4000
ICo | 5500 100000
ICio | 5000 100000
IC,, | 5000 | 100000
ICp, | 4000 100000
PWB, | 7000 10000
PWB, | 5000 | 10000
PWB; | 6000 10000
PWB, | 7000
PWB | PWBs | 4500
PWBs | 5500 20000
PWB, | 5300 | 20000
PWBs | 7000
PWB, | 6000 20000
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& 4-5 B BERA %R R B 2 (5)

PWB;, | 5500 20000
PWBy; | 7000 | 10000
PWB;, | 6500 10000
BL, 7500
BL, 5500 10000
BLs 5500 10000
BL4 7500
BLs 6000 20000
BLe 7500 20000
BL; 7500
BLsg 4500
BLy 4500 10000
BLio 5500 20000
BL; 5000 20000
BL» 4500 10000

& 4-6 BB — AR B2 YRR FH o B T AT EEE B E—
WRIAT S — 2R B EH R R R L AR R A K
BEHRZIRH AR ICBA XYM T APrA & ik 238 A 4+ f PWB
BL 3% W4t R Rtk A Bl AR N X A Yk 0 o F R ATT ©
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& 4-6 MR TR &

PHEJEA(d)
IC PWB BL

o ); 1 y. 3% ): 1 ). 229 ). 1 y. 3%
G # | BmH wH | & | BX HhH | 5| K

R BRE A C|D|E|F| %% | R |®B*| AIB|(C|D|E|F| %3% |& | m&X| A|B|C|D|E|F
© | % A &
IC, | 5 | 150 | % e PWB, | 10 | 650 | BL, |10 | 1200 | v | %%
IC, | 5 | 100 PWB, | 10 | 550 * BL, |10 | 1000 *
ICs | 5 | 160 |¥ | PWB; | 10 | 600 | % |+ BL; |10 | 1100 | %
ICs | 5 | 120 PWB, | 10 | 700 | ¥¢ | % BL, |10 | 1250 | ¥ | %%
ICs | 5 | 140 * PWBs | 10 | 550 ¥ | % BLs | 10 | 950 * | %
ICe | 5 | 170 | % Y% Y¢| PWBs | 10 | 500 * BLe | 10 | 950 *
IC; | 5 | 160 Yo | % | & PWB, | 10 | 550 * BL; | 10 | 1000 e
ICs | 5 | 170 Y¢| PWBg | 10 | 600 ¥ | % BLs | 10 | 950 e
ICo | 5 | 150 |+¥ * PWB, | 10 | 500 Y¢| % | BLy | 10| 900 ¥
ICio | 5 | 180 e Y¢| PWBy, | 10 | 450 * BLi, | 10 | 850 ¥ | %
IC; | 5 | 160 Y| % | % | PWBy, | 10 | 550 e BL;; | 10 | 800 *
IC, | 5 | 170 Y| | PWBy | 10 | 550 ¥¢| BL;, | 10 | 900 ¥
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3. MEAREH

LEREB Y BEZERE - BET
BEXEGREAHCI R AT TEEBFREREBEZ

18 BEENEEREHE -

1= T

L5

SGELES Ik S

&0 XIS
FaFE > mk

FA-TREREBRHBELRBREZGEASE
LCD % A SERELBFOREERZLR (ug,,)
A&A |

o F & Cus_1 Cus_2 Cus_3 Cus_4
A_Rl ES sk ES sk

A A_R2 50% 60% 95% 95%
A_R3 ES %k ES %k
A R4 0% 20% 30% 90%
B_RI1 * * % %

5 B_R2 60% 70% 80% 100%
B_R3 * ES B S ES
B R4 20% 30% 40% 50%
C_R1 * * % %

c C_R2 85% 85% 90% 100%
C_R3 ES k ES sk
C_R4 50% 60% 65% 60%
D_Rl B %k ES %k

b D R2 85% 90% 95% 100%
D_R3 ES sk ES k
D R4 60% 65% 80% 80%
E_RI *k ES E S ES

. E R2 85% 90% 95% 100%
E_R3 ES sk ES sk
E_R4 60% 70% 70% 75%
F R1 * * * %

. F R2 85% 85% 90% 100%
F_R3 ES %k ES %k
F R4 70% 70% 75% 80%
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A8 BMETEEREMK

A &3 (P)
A B C
BER | FR || BEBFR | OFRK | M | BHEBR| FR | R | THEBR
2(h) | (R) TR ER)| (R) TR | &R | (R) TR
dq,, | dd,, | zBD,, | dq,, | dd,, | zBD,, | dq,, |dd,, | zBD,,
8200 | 10 4500 | S 2900 | 9
Cus_l 90% 90% 90%
4000 | 20 6600 | 12 5000 | 20
9000 | 15
2 17 7 2
Cus_2 | 8000 85% 000 | 20 85% o500 T 10 85%
6300 | 24
Cus_3 | 7300 | 22 | 85% | 3500 | 4 85% 85%
4500 | 13
Cus_4 | 10000 | 25 87% w[7400 | 28 87% | 5500 | 8 87%
A &3 (P)
D E F
BEH | AR |28 | PAGEER [ R [SRLEL FR [ 0| 2ABE
2(h)| (R) ol i ()| (R) TR 2(h) | (R) T Ik
dq,, | dd,, | “zBD,, | da,, |-dd;, | ZBD,, \|"dq,, |dd,, | ZBD,,
9400 | 9
Cus_l - - - 10200 | 73 90% 90%
8200 | 28
6000 | 5 8900 | 13 10900 | 14
Cus_2 85% 85% 85%
4900 | 10 4000 | 28 7000 | 22
6800 | 18 6900 | 15 12000 | 19
Cus_3 85% 85% 85%
4800 | 22 7000 | 27 3000 | 28
5800 | 28 14000 | 27 11600 | 5
Cus_4 87% 87% 87%
8000 | 9 6500 | 10 4200 | 14

HAARAXZRBAMH AR EERIB R —RITEHRRA —H » & F
BEEHNE —ESBAERE R » LA EU—RITE R E T o RELE
Bl s BRABITE Tk 4-9 AR ©
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& 4-9 BT EGREH

ZZA®D)
A B C
MRER TEx [am | wmnE | BA | @M | FAGE| B | M| FABE
50| R | TR | EH| R | TR |EH| R | TR
dq,, | dd,, | zBD,, | dq,, | dd,, | zBD,, | dq,, |dd,, | zBD,,
1_Cus_1 8200 10 90% 4500 5 90% 2900 9 90%
2_Cus_1 | 4000 20 90% 6600 12 90% 5000 20 90%
3_Cus_2 | 8000 17 85% 7000 20 85% 9000 15 85%
4_Cus_2 - - - - - - 5500 10 85%
5_Cus_3 | 7300 22 85% 3500 4 85% 6300 24 85%
6_Cus_3 - - - - - - 4500 13 85%
7_Cus_4 | 10000 | 25 87% 7400 28 87% - - -
8_Cus_4 - - - - - - 5500 8 87%
ZEAD)
D E F
e IEFRETIE CTY R ST AN ET T
2(h) | (R) T 2(h) | (R) T IR 2(h) | (R) TR
dq,, | dd,, 4 \zBD,, | dqg \ dd,, | zBD,=| dg,, |dd,, | zBD,,
1_Cus_1 - - - 10200 3 90% 9400 9 90%
2_Cus_1 - - - - - - 6200 28 90%
3_Cus_2 | 6000 5 85% 8900 13 85% 10900 | 14 85%
4_Cus_2 | 4900 10 85% 4000 28 85% 7000 22 85%
5_Cus_3 | 6800 18 85% 6900 15 85% 12000 | 19 85%
6_Cus_3 | 4800 22 85% 7000 27 85% 3000 28 85%
7_Cus_4 | 5800 28 87% 14000 27 87% 11600 5 87%
8_Cus_4 | 8000 9 87% 6500 10 87% 4200 14 87%
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4. BRAKEH

AXES4HEARATEETRE > BAPWB BRAEE£A X &K
IR BREEL TR 24 P2 - S AL AMB IR vT
B ] o T AR 35 2 -3 F # 85 B (MTBF) ~ 34 8 A5 4L 85 B (MTTR) & €40
H AR 5 BB 5 T34 T8 By 4% & R 2 85 Rl (MTBPM) Au - 34 18 By % & B T

(MTTPM) & % # » 40 F Ffio® ©
& 4-10 & Sohn T8 1 F03% B 0 R 8 B B
n a FEFAE e TR | RIS R E R
AEN | RRN | T gmie) | (B as)
TV A 33 40
B
C
Notebook 2% 40
D
Monitor = 17 40
F

& 4-11 15 A B AR A T AF ¥ 48 B 24

IR | CFHEAR | FHREM | FHEE
TR | mIptE | S | FIRERR] B il I'% B il B e
MTBF(hr) | MTTR(hr) | MTBPM(hr) | MTTPM(hr)
PWB & & 1 4 180 8.5 200 5

R &M E 2 TH ZAEH o F A

MTTPM MTT.
cap, , =24x60x60x| 1 m _ R,
: MTBPM, + MTTPM, MTBE, + MTTR,
85 5
=86400x (1— + =80403 (Fb/ H* 5
0= 150+85 20045 (B 101 )

4.1.2 £ ERBBR
L A% 8 &R AN

AXZTRENGE A28 X > REBHAE L X -

2. EBLRE

AR S @R E B2 KA E B R E R RAKIT A SR Ao
UERK BB EE I SHREERMA ] -
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3. HeFmEAMERE

ABBIFERAEZBREFEENNORZIEMERZ LM A h B ERZ
B EIEEEMS ARBGEEN  BRLLABEAAR T AR EZE
BEmAmMBE -

4. #HEzxF
BB ANZIRIB AR Z R ERRBE S, M RIRAZ

BRABEREHRRBEAOVEZEFHRE - HAXZ AL L AMRE
Iz XA EAHR  REBAEKRAEIAFrE2 A FHRE -
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L2 MBI HRITERRIREAPTRARARAIER

sbA 4 2 TAE @ 4R EA TR sh Hk A Au Bie B AR ~ HREE TR MBI LR
FAEF A TR MBS RBE A (LB 3-4) - & L&A MRE TN
PR fo B A E]  RETEE R LCD £ R LA E KM » KL 4584
EZELR  BERTEER 0 BERME TR INE R - R
Lﬁﬁﬁﬂ%%%ﬂ'%%’ﬁ%ﬁ%%%ﬁ%mm#ﬁﬁﬁﬂ,ui*

FEHER - BABA L2 R4 Hrriztx£6) > KB 41 a7
aﬁii%%%@ £ 1 N R SE T AF 35 HE A2 Fo B I A ] Ao R SE TAE 6 L L)
BRIPAERPEE > B RAEER BRI TSR I RFEMS - B RAK
MRRRREZ AN FA 42,2 8§ BRI 6] AFRABAEARE
HRFAEMEEITRGE - Kt AREABKREHRE - L 2.3 HF A%
—f] 0 REEH— » e BB R FEN B T AT

Ehl—. & fef LCD £ b Fol £ - 245
£l =. EfcAo LCD F muou Rt &R L EZIF I
Z#I=. LCD ¥ g db RAH 3 FFHE R RIFZ B
4.2.1 ##|—. AfF LCD £ R HLEE LT
4.2.1.1 A T 3L e 2 fo B RS

Tk 4.1 B 2 B RS BERE A RHFIR 3. 3. 18 AT il 2 R B
&, > M iLog OPL Studio3.5 24 #2578 T B i 4TH#REA TAE s P2 fo e B K AR -
TREZBETEXZREER > AAKEG S ALLE AR FI K EXERH
S HM R A] -

F 4-12 AR B HZE KX > £KIE X A Intel Pentium D CPU3.0GHz
o 1GB #) RAMS 2 & 8% » &4 iLogOPL EE 4 2 43t B » k. 4-13 A
REGENERFA R REE - Mk ARMERBRZ S T
Frof BABPEHEARIE > ARBBEN 28 ALK E X m3fPRER |
AENLSBARKE ERBBKIAIELSETHE > HELK 4-14~ % 4-15
RRAREREIZ A WBAYR -2 ZRRBEIHRLER  UHRE -

% 4-12 iLOG # 24 X 2 43t &

B f£ A% (Optimal solution) : 1,617,691,612 (5T)

] & 48 Bt o BB FYTEYT
(No.of constraints) | (No.of variables) (Solving time)
5769 12168 1543.21 sec
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% 4-13 EAREA A FAodk g RB K

| REEOR | HEH(E) | BBBRRER) | TRERRD) | KAZERD) | ARE®)

| 28 4 90 9,005,136 | 9004131 | 99.98%

ABAAAEE X[prmtRAZE tHAEREMAEZES D FHRT X
#E > MY clpmit]fo dpmt]EAHLEF t IR R FAMKSE m 4
EESDZGE T8 RAEREZ DS E BHG  HIbHEHR
BPe R R SR G A Z A D AT MG - MK Y Hd blpmt] Rk
s oblpmt]=1 BB R AL E SIS t IS m B4 & F 4 b[p,m,t]=0
Alfe B e o b £ X[p,r,m,t]Fe blp,m,t] X A4 - BP 7T RAFH & £ %P7 4L
X ZERE -

B RE—FRA LN ES BT UL 4-14 F -85 1 A6
H 48 e 8% R 75600(F0) 75 81 % # X[5,1,1,11=1605 ~ X[5,2,1,1] = 1953 -
X[2.2,1,11= 1~ X[2,4,1,1] = 457 ZMEFRE P F L b5 P 2 @ Mg - M
g2 c[5,1,1]=14d[2,1,1] =1 PP R EAE £ B E BB RA Z B é A
AESB EZHEOMRLI=1)5 558 d5h A F— 2 k0 78 B0 4 5. (Bp
b[5,1,11=1) &#k& | £F—HE14 Z Z 3 E fv B A& W R > By 7] KAiF#4
SprE e 4800(A0) c BE B A 414 £ 4-15 PABRALELER
EAEMEH 1> 73RS E DX ECEEINER BBEL A & > ALK
Moo LRI o
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FA4-14 F 1 A28 R

t=1 m=1 m=2 m=3 m=4
B 37 0 T _ a[5,1,11=1 |X[5,1,2,11=1995| a[5,2,1]=1 |X[3,1,3,1]=1574| a[3,3,1]=1 _ a[6,4,1]1=1
mf j,’f ig;}ﬂ_ }ggg b[5,1,11=1 | X[5,2,2,11=847 | b[5,2,1]=1 |X[3,2,3,11=1333| b[3,3,1]=1 )§([[66’344411]] _1970637 b[6,4,1]=1
BLE 8 il = c[51,11=1 | X[54.2,1]1=15 | ¢[52,1]1=1 | X[3,3,3,1]1=93 | c[3,3,1]=1 A c[6,4,1]1=1
s R R A S A R RN RN NN Y S W L
"ﬁ‘ﬂ ‘:P}]Ulé"%é‘z& ;\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\§titititititititititititititititi R
y T _ a[2,1,1]1=1 a[4,2,1]1=1 _ _ a[1,4,1]1=1
poo I T (R R PIRE B E
e 5F ¢ h d2,1,1]1=1 d[4,.2,11=1 -~ S d[1,4,11=1
s ek (#5) 4800 4800 2400 4800
48 o TF B (F5) 75600 75583 78000 75585

& 4-15 2 PR ER

=2 m=1 m=2 m=3 m=4

2147 i T X[2,1,1,2] =1 a[2,1,2] = 1" | X[4,1,2.2] =192==a[4;2:2}=1 |X][3,1,3,2] =1625| a[3,3,2]=1 | X[1,1,42]=73 | a[l42]=1
EREA NG00 | 212121 (X210 108 cid2zi= L] X34321=1 | d332121 |Xi13401 6| A1
RS TR WWWWWWWW
#7 *;m T N\ -1 N a[4.22]=1 N\ [3,3,2] =1 a[l1,42] =1
e BBl BB EERl EER
s g i (£) 0 0 0 0

48 o T 85 R (F5) 80388 80392 80392 80388

2 X[prmtl=X, .. ~a[pmt]=6,,, ~blp.mt] =y, ~clp.mt] =y,  ~dlpmt]=¢,,,
4-1~B 42 R A&k 4-14~ R 4-10 B — - 2 HRERAERZIEFHFE > o FAF
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4-1 A1 £ ZHGHKE

= — K7

X[2.,2,1,1] = 1 |
62886 65286

%

zoss5 X[5,4,2,1] = 15 65319 s0200

=z _[5’2,2’1] e
| 1.
I

T T T T 1
o 2400 363715 50714 53369 80383

772,

T. - -a -
X[6,4.4,1] = 903

e e |0 ' o =
k SOA03 7FL

% : #é_ﬁ

]
B 4-2 2 2 4 4%

VSIS
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g_—_’.ﬁ

! X[2,1,1,2] = 1

1
80388

|

772, |

|

|

772 I

|

X[3,4,3,2] = 1 I

7723 X[3.3.3,2] =1466 |
- - b3 -

|

|

m4 I

|

[

8040375
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Bk ECBRBEENEMEE X @AHAZE 0 R E 2 B2
M TRESPREEMAEZ LS ERERHE > SHHSBEITERITE
FrHAAME R X BIFEE ok AP~ o & 4-16 Bp A B R 3 hg B N B
Ramiz B—ESTERAEREMEREIHRB LA bk THE L HE
EHFTETRZEGER -

B B33 FXHMEHEATh  BELTEEALZERE ~ FK
HEERRGBREENHEEYHAQ,,, BEEMF » AT KL E S
TEXREHBE - A GNRAEFTEELALBNE L (£ 384)
HELRAEE AR 4-1T~-R 42 EHHEERZIT— AR TEREZ
BIE A  REEE -

B BE—FRATEREZI LR > ABER K418 ELFB A
Bl RFmAR LR ERAPETBE ML FESRELXA £

-

g

R3.3.1 gizT B Ee § RAI -
K416 B ERTEERENEAL S
AP
ITR&R A B
(0) TR | x| EXE |FMAEORTEL |y | EXE | MRE | KD
B | (R) | (RAQ, = | "EH 1 RE N R(B) | (R) |(RAQ,,-| &k | R
dq,, | dd,, | SUR,J)I|-SUR, | US,, | 44,,+|dd,, | SUR,,) | SUR,, | US,,
1 Cus_1 | 8200 | 10 8200 0 0 4500 5 4500 0 0
2 Cus_1 | 4000 | 20 4000 0 0 6600 | 12 6600 0 0
3_Cus_2 | 8000 | 17 8000 0 0 7000 | 20 7000 529 0
4_Cus_2 - - - - - - - - - -
5 Cus_3 | 7300 | 22 7300 43 0 3500 4 3500 482 0
6_Cus_3 - - - - - - - - - -
7_Cus_4 | 10000 | 25 10000 0 0 7400 | 28 7400 4780 0
8_Cus_4 - - - - - - - - - -
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%4-16 £E S TEFRERE L E(4)

A 25](P)
ITR%R C D
(0) Tk | g | ERE | MEBRE | KW | x| xm| ExE | RRE | KB
2R | (R) |(RAQ,,-| &R | RE | g | (») |(RaQ,,-| &8 |RE
dq,, | dd,,| SUR,) | SUR,, | US,, | da,, |dd,, | SUR ) | SUR,, | US,,
1_Cus_1 2900 9 2900 0 0 - - - - -
2 Cus_1 5000 20 5000 0 0 - - - - -
3 Cus_2 | 9000 15 9000 0 0 6000 5 6000 0 0
4 Cus_ 2 | 5500 10 5500 0 0 4900 10 4900 0 0
5 _Cus_3 6300 24 6300 1 0 6800 18 6800 0 0
6_Cus_3 4500 13 4500 0 0 4800 22 4800 0 0
7_Cus_4 - - - - 3 5800 28 5800 195 0
8 Cus_4 | 5500 8 5500 5338 0 8000 9 8000 0 0
A 23 (P)
pg X3 E F
(0) EE | x| EXE | FBE | AW | zxlhy | gxEg |HHEE| AR
g8 | (®) | (RAQ,,“| B8 | RE Lg(p)| () |(RAQ,,-| &K | RE
dq,, | dd,, | SUR,, ) | SUR,, |'US,, | dq,, | dd,, | SUR,, ) | SUR,, | US,,
1 Cus_1 | 10200 3 10200 0 0 9400 9 9400 0 0
2 Cus_1 - - - - - 6200 28 6200 0 0
3 Cus_2 | 8900 13 8900 0 0 10900 14 10900 0 0
4 Cus_2 | 4000 28 4000 3261 0 7000 22 7000 0 0
5 Cus_3 | 6900 15 6900 3889 0 12000 19 12000 0 0
6_Cus_3 | 7000 27 7000 0 0 3000 28 3000 0 0
7 Cus_4 | 14000 | 27 14000 3469 0 11600 5 11600 0 0
8 Cus_4 | 6500 10 6500 1292 0 4200 14 4200 5604 0
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R dd, ,

> > AQ,,,, us,,, —~VHBD,  >=RAQ,, Yo,p

r=l t=1

R dd,, R dd,,

] ZIZIAQW, ug,,,bd, 2zbd,, .(Zl ;AQOWJ -ug, ,,—VHBD, ) Yo,p
BH312HEEEATIH4 0 AXAHETHESRBBEZAER
—HBEFAAX I EE BB EELTPZIHAE
ELBHASEHE

R dd, =5

=3 D> AQ,,,, ug,,, =[1+1+3298)x90% + (1+ 505 + 2363) X 60%] = 4691.25}
r=1 =1
HAEESBXRERALARE— I RE SNGFEEXIERBELHE
RERPBEMEROEEIERTRAER LIMFEEZIHE AT
BZAZEAME LY HEF T
R_dd,=5
gz%tté Uc":' B fﬁ'é}%%]‘%%}'},@if\ﬁ%ﬁé u%;i%zz ZAQI,ZJJ ’ ugl,z,r 'bdZ,r =

r= =

[(1+1+3298)x90% x90% + (14505 +2363) x 60%x 80%] = 4050
BEHIMERBRSRRREDRA X TIFEZE Sadeg

R dd,,=5

=zbd,,- (O Y AQL,, ug,,,) =90%%4691.25 = 4222.125}

LR ERERF 0 AL BHECERTFIMELZ HMEL RE
IREAZHE > KHEMIAA LK 3-11 ~ KX3-12 2 VHBD,, ¥ # (%R,
fiték A) RinfriF & B2 AR X RE VM2 R E R R TMBET
o> HEHE KXo TAH- -

R ddy»=5 R dd),=5

Z ZAQI,Q,r,t ‘ug,,, bd,, 2zbd, (Z ZAQ,ZJ,I ‘ug,,, —~VHBL,)

r=l =1l r=l =1

=> 4050F 290%(4691.25-191.25)
=> 4050 = 4050 7R, 3L

HRBAEECus_ ] B2 ERBZEHERAQ,SFBA 311 2 RH &
T A4 B E A RAQ,, =4691.5-191.25=4500F - £ ARG ¥ > FHEHE
AU EREFRE RULFBFEERZA O EHESRHEANET RN
Ale A RpdeEaE HARL2 RETERA —MMEFTLSE - It
PP A BLeE B TR AT TERXLBEERERLLBAERIREN
ZEFER e AR TR Z B AR AFE R RIL 0 fhv B b dEE SR SUR
EAETERIREZESY  RLeARBFERAEAL
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41T A ARTEE RELE %

T ¥ = /\»fb g 2 N AL ) K
STER | ESH|RRE Fap) REE HeR )\ FRBE gﬁi ha it > ;Ffif% a1 2 Ao ‘;;; ! f?
© | ® | oy | O |[AQ| ugp |77 T bdy |7 g |FEEE VHBI')‘M‘ TABE | o | sur,
380 85% | 323.268 95%
R1 1 85% 0.85 95%
499 85% 424.15 95%
1518 50% 759 80%
R2 1977 50% 988.5 80%
2_Cusl A 4000 2386 20% 1193 80% 90% 83.04% 404.4518 90.00% 4000 0
1 30% 0.3 75%
R3 21 30% 6.3 75%
2364 30% 709.2 75%
1 0% 0 50%
R4 117 0% 0 50%
49 0% 0 50%
&A4-18 £ BTEE RBLE %
T ol B3 I AN AL g N AL 3 5
SERIFESET EAPPEILT S 1TSS IR E L1 bt I B Lot PSR RH Rtol ho
HA R RKFR| T Z ol %R e HE el
© | P | 9, | @) |AQipri| U8ops bd,, b, TAE R R VHBD, TAE R R RAQ,, | SUR,,
1_Cusl B 4500 1 90% 0.9 90% 90% 86.33% 191.25 90.00% 4500 0
R1 1 90% 0.9 90%
3298 90% 2968.2 90%
R2 1 60% 0.6 80%
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505 60% | 302.85 | 80%
2363 | 60% | 1417.8 | 80%
%4-19 ERCITEERBE X
o o | A % : | AR R . | HEEEREE .| FEE | RERF
STEA AR | FAE | Fap REE Hok) I FEER g | ok e sepem | |PREZAE] TS |
d A TEA bd, ) TN 2 % TAE B & .
(O) (p) qU,P (r) Qo.p,r,t ug(),p,r D7 Zbdo,p /?\)[§ l-“'-'—' $‘ VHBD{)’p /?\71[§ l""-'—' $‘ RAQO’p SUR{)’p
4114 | 95% | 3908.3 | 90%
6_Cus3| C 4500 | RI 655 90% | 589.5 85% 85% 89.48% 0 89.34% 5653 0
2 85% 1.7 80%
& 4-20 R DITE R REE
s = o | A % | EAETR ., | HEREAEE .| FER | RERA
TR AR FRE |y |REE | HeF |, , o |FEER Ho A " - JoR k2 |, o A
; A0 ) HeR | BRFR® P Z ol %R i & HE &8
© | ® | M, | @ oprs | U8ops e | gbd,, | TR VHBD, , = RAQ,, | SUR,,
RI1 1685 | 95% | 160047 | 95%
2052 | 95% | 1949.4 | 95%
6_Cus3| D 4800 | R2 85% 91.09% 0 91.09% 4800 0
1315 | 95% |1249.25| 80%
R3 1 90% 0.9 80%
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%421 ALETEELBmE A

o = | . , | BAEEE R L, | e REAHEL L | HER | F®ERF
TR AR FRE | gy |REE | HeF |, , o |FEER Ha - N EE1.Y 3 "7 | I A
4 A0 ) He" | g BRTFIR P Z ol %R g HE &8
(O) (p) q(),p (r) 0,p,r,t go,p,l’ p.r Zbdoyp 4 W VHBDOYP 4 W RAQU!p SUROYP
R1 1 96% 0.96 90%
1201 96% 1152.96 90%
R2 4261 95% | 4047.95 80%
5_Cus3 E 6900 R3 3792 80% 3033.6 75% 85% 76.08% 1265.657 85.00% 10789 3889
3544 80% 2835.2 75%
RA 1404 70% 982.8 50%
1 70% 0.7 50%
& 4-22 e FrTEERE &
o = | . , | BAEEE R L, | e REAHEL L | HER | #ERF
TR AR | FRE | gy |REE | HeF |, , o |FEER Ha ) - TRm | e | s
) A0 ) HeR | g ZRTF R P Z JoR %R g ¥ = &8
(O) (p) qo,p (r) R go,p,r o Zbdo,p N " VHBDOP N " RAQU P SUR()J’
877 100% 877 95%
R1 1029 100% 1029 95%
3665 100% 3665 95%
7_Cus4 F 11600 2 ~ 87% 83.40% 501.2105 87.00% 11600 0
R2 3699 100% 3699 80%
R3 1767 100% 1767 65%
1064 100% 1064 65%
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4.2.1. 2 IR AR 3R B & R4

AT THRIE LA b e o B B AR H1 1% » ALK& 4-16 2 B 0 4f
HEBETREEREANAR 32l BTRELTAHATELHE > W TAT

T -

M~

o P
(RAQ, ,—SUR, )/ >.> dq,,=100% % 3-21

1 o=l p=1

%

S
Il

=263300 /263300 = 100%

B EREE X T4 X R TiE 100% > S8 %8 3 AFRLEA TAF 3b 4, 2
SRAEMERRITAYE  Bleflthz LCD ¥ & & 2[4 R K4k AHP[p,t]
GHIEBLEEP > PR EAZIAE o @ LCD F &3 18 Z
K2 FEREHE ok 4-23 FroF ©

& 4-23 REBEREE B FRLCD F i L Flth 2

% (1) & s 5 (p)

A B C D E F
R1 7 0 0 3 2 0
R2 1 0 3 5 1 0
R3 3587 2 7258 11395 0 4187
R4 6361 4997 10996 10159 14045 15669

85




4.2.2 £ —. Efefo LCD ¥ B RBARAAZRAERLT
4.2.2.1 #3835 P2 Fo e B M H1

BAEEG—F > FAREZRAD 333 B LRI L R HER
B BRI RRITIEASZ AT » £ ARG AR B —6F 0 Bk F
SLJAEATHREE TAESE M BN E RAEMS R > AEREZ B - AMmAKRIEK
I AR 0 AR REEE SR A ER 0 N RREZHUT o

TR A4-24 BB 2 EBEESLTEERRARIE > Mk 4-20 B & &
LEBLCD ¥ bSR3 F 0 HAXALHAIE 4.1 it - Ak
AHBEMR -

®4-24 BEERERIH(EH =)

A &3 (p)
A B C
# — —— ar:

SRR TRk [am | EBE | Gk [t THEF | FE | M| FABE
500 | R |oFrlER R L T 200 | R | TR
dq,, | dd,, = zBD, ) —{ da,= |"da, '} ‘zBD,* | dg,, |dd,, | zBD,,

1 Cus_1 | 6000 | 2 90% i - . i i i

2 Cus2 | - i ! 8000 | 3 85% i i i

3.Cus3 | - i A : . h 10000 | 4 85%

4 Cus_4 - - - - - - - - -

A &3 (p)
D E F

WRME I GR [xm [ TMBE | KR | AN | BHBE| GK || THLE
50| | TR || R | TR [20H|®) | TR
dq,, | dd,, | zBD,, | dq,, | dd,, | zBD,, | dq,, |dd,, | zBD,,

1_Cus_1 | 7000 5 90% 3500 4 90% - - -

2_Cus_2 - - - - - - 6000 5 85%

3_Cus_3 - - - 6000 5 85% - - -

4_Cus_4 - - - 5500 2 87% 5000 4 87%

86




% 425 A& LEKLCD ¥ &b A28 k3] B (t=1~5)

Emsl | 2a 3A 40 B LCD ¥t R 2| &
#AH) | = (=2 (=3 (=4 =5

ARl | 1000 | 1500 | 1000

A AR [ 800 600 800
AR3 | 300 200
A R4 | 200 100
BRI | 1200 | 1000 | 2000
B_R2 | 1200 | 2000 | 1000

B "B R3 | 400 500
B_R4 | 200 300
CRI | 1500 1500 | 2000

¢ | CR2 [ 1500 1800 | 1000
CR3 | 500 600 200
C R4 | 400 200
DRI | 1000 2000 |7 1000

L [ DR2 [ 1300 2000
D_R3 |_"500 1000
D_R4 |+ 400 300
E_RI | 1500 | 2000 | 1000 | 3000

o | E-R2 is00 | 1000 | Tis00 | 1500
E_R3 | 600 500 | 1000
E_R4 | 400 600
F RI | #1300 || 1500 | -2000- | 1000

L [ FR2 | 000 2000 | 71800 | 1500
FR3 | 500 900
F R4 | 400 600

B ERMAS BT ARBR ISR i BRG] B2 X ETR
R REG R TAH T~ %k 4-26 4 1LOGC #H 2B X 2 4t B Mk 4-27
HEEREGENE - A TEXTREMEL ZHB L - IR AH T X
F R EREALSE TAE WS AR R Z T AT - AR B I A e 4R B 2R
ZHRERPEL EmF i Tk B e KBERA AMEB -
% 4-26 iLOG # 28 X 2 szt B R(EH =)

= fE A (Optimal solution) : 269,540,580(T)
e % BB % RARE T

(No.of constraints) | (No.of variables) (Solving time)

1307 1938 15.23sec
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%421 EEGTEEREMAER E(EH =)

A &% (p)
ITRELR A B
© | BER | xm| ERE | HBE | R | BR | RM| ERE | HBRE | R
2(R)| (R) |(RAQ,,-| &8 |RE|EKR)| (R) |(RAQ,,-| &K | &
dq,, | dd,, | SUR,,) | SUR,, |US,,| dq,, |dd,, | SUR ) | SUR,, | US,,
1_Cus_1 | 6000 2 4225 0 1775 - - -
2_Cus_2 - - - - - 8000 3 7532 0 468
3_Cus_3 - - - - - - - - - -
4_Cus_4 - - - - - - - - - -
A %35 (p)
ITRELR C D
© | ER | xm| ERE | afdeb B R s | EXE | Mes | A
(A | (R) |(RAQ, - | 4K (RE | Z(H)| (R) |(RAQ,,-| &8 | RE
dq,, | dd,, SUR, , ) SURTRH G, [, (Y SUR,, ) SUR,, | US,,
1_Cus_1 - - - - - 7000 5 7000 0 0
2_Cus_2 - - - - - - - - - -
3_Cus_3 | 10000 4 9995 0 5 - - - - -
4_Cus_4 - - - - - - - - -
A &3](p)
WTRGR E F

© | BR | M| ERE® | MG | A% | Bk | am| EXE | HBHE | LS
B(h)| (R) |[(RAQ,,-| &K/ |RE | 2K | (X)) |(RAQ,,-| &K | &%
dq,, | dd SUR,,) | SUR Us dg,, | dd SUR,,) | SUR Us

o.p o.p oup o.p o.p oup
1_Cus_1 | 3500 4 2950 0 550 - - - - -
2 _Cus_2 - - - - - 6000 5 6000 0 0
3_Cus_3 | 6000 5 6000 0 0 - - - - -
4_Cus_4 | 5500 2 5500 0 0 5000 4 5000 0 0
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4.2.2. 2 #IR AR 3L R B & R

HAT THRIA A HE R A BL B2 > AL R K 4-27 & A 3TE

\

FTREMERF(RHI )N HEMBITRETFHAR 3-21 w47
WMEZGHATES R » W FA® -

A 3-21

Me

,
ZI<RAQ0,p -SUR, ) zquo,p =100%

o=l p=1

Il
LN

%

= 54199/57000 = 95%<100%

B EXEE K TR 403X R ki 100% > 3L 4B AFRIE TAEE 3]
4 R A S R R AT

4.2. 2.3 A TAE R E & R ALM G

HARE TAF s PR Fo B B AR B4 R T 49 40 RBIER I KRB RATA T
B2z HER > BALBRLALRERIIRET NEHIE—HKEZFRER
AR #MARC,, >2Max(pt,) 2454 > fh & 4-287 LA 4F 4o £ m=1,t=4
m=2,t=4 Fo m=3,t=5 B & LI X R 0 BLbZBEANR R LCD ¥ & &
RHEREIPEE

F£A4-28 4% 6 Rl BR A AECRC,, ) (FE 4 2 8))

T3 o

# & (m) B EO
t=1 =2 ™y =4 t=5
m=1 0 15 24 2353 7
m=2 13 10 10 21104 3
m=3 24 18 3 11 4716
m=4 3 5 15 21 11
& 4-29 B E S F BRI RA
M A FH A
Al | ¥ (7o/48) A &%l 8 (7o/48)
A_RI1 1000 D_RI1 500
A L[AR2 800 D D_R2 450
A_R3 500 D_R3 400
A_R4 300 D_R4 300
B_RI 1000 E_R1 400
B B_R2 700 E E_R2 350
B_R3 400 E_R3 300
B_R4 300 E_R4 250
C C_RI1 500 F F_R1 400
C_R2 450 F_R2 350
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C_R3 400 F_R3 300

- 20 F R4 250

> ¥ LCD ¥R &4
NI LOD F AR b RS tg 0 BRBmELEE B ERIER
Mzmk s EER R 4-20 A - IR Z LB BAZRIHERD K
MEEHEX(LRA 3.3 HMYLCD ¥R ERSL > RBEZ L E 0
HFRIBHBARME > ko &k 4-30 FAow 0 Tl BB F RS RO EEEA K
HHERVWTEABR SR wk 4-3] pim» RRMERA LMEC -
& 4-30 & A REREFIMHHKE

AR | & MHLCD ¥ RuRE#ME(NAR,,, (R4 R)
t=1 t=2 t=3 t=4 =5
A_RI1 1 699
A_R2 613 1
A A_R3
A_R4
BRly | Bf5 168 ]
B.R2 124 2
B BZR3 172
B_.R4
C_R1 5 3 )
C C_R2 48
C_R3 *)
C_R4
D_RI1
D_R2 3
P D_R3
D_R4
E_RI 400
B E_R2 | 199 1
E_R3 72 13 1 1
E_R4
F_R1
F F_R2
F_R3
F_R4

& A-31 AR 2R RAAFITE
TEF0) | AR3p) | FREC(,,) | KHLES,,)
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1_Cus_1 A 6000 1042
1_Cus_1 D 7000 1
3_Cus_3 C 10000 3

ElSIJ'JZt 4-31 T340 ZFRRETE L RDBIH R Bk 4-32 Thoid >

BB 18 P9 &-HA &% & RIBRE AE RC,,, > Max (pt,) ZAFRM TR s 3L € & F
R E E?Tﬁ%i‘“”jﬁﬂiwfeﬁ » ARIEE 3-4 T oL AN LA R ITEER
TR -
& 4-32 B & FlERER(RC,, ) (B4x @ #)
25 B EL()
e =1 =2 =3 t=4 =5

m=1 0 7 7 5 3

m=2 24 15 2 11 3

m=3 24 24 3 7 7

m=4 7 3 3 10 10

> AXTREEXE
i E%& 4-31 #3405 1 Cus 43 Cus 3 METEZ KB BE N
LB=10 > #& /8 EAT-THAE » LA S B FATL -
¢ Step_1:
M mERAIR - AR A AR EILE > AEE KRB R EREKR
AEH LB > dok, 3-44~ X 3-45 pfow
B
N, " TE®FoEBpREAME > WwREH |
Ut A S
US,,<=N,, *H

540

VO,p i‘, 3_44

Us,, >=10*N,, Yo,p A 3745

€ Step_2: ¥ EITE 2 FRA| X TG TAE b e A2 Ao e B AR B 2 2
B R -
€ Step_3:

HHEEAXREZLERFLRAMED AR EZZ LB 2
HATREZARAGR E HERAEBITEARGR ERW K 4-33 T °

& 4-33 AEBERMRBETE(RM  R)
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TEFO) | ESAp) | FRE(dg,,) | RHREUS,,)

1_Cus_1 A 6000 1438
1_Cus_1 D 7000 10
3_Cus_3 C 10000 10

A4 ALBRABRLETETHRAL  MAABREZTED
SR A E R LB=10 24540 405 0 &5 2 $U4T R A T b AL 8] 45 2 3
Bk » BEFRBIAMBAIESAINERFALS BRI ERILR A%
4-34 BEER 5B KT -

Q

* 4-34 ATARSE TSR I G R AL LR &

wEXER) BABRER) |
R A2 03 &3 oA
. (2.2 (RAQ,, -SUR,,)) | (2.2.US,,) ()
o=l p=1 o=l p=1
BRI R BN &R 54,199 2801 269,540,580
¥ LCD ¥ R &b 55,954 1046 283,282,420
AETEERE SRRk 1458 284,248,999

& 4-34 TG W 0 AR EREH I LCD F g on btk 0 4K H g
m7f+A§§%i’ﬁ$%$%%ﬁLd)#ﬁ%zﬁ%ﬁ%z*%i
TE Y AABEANNHERBAB=I0)Z TS > SSERITHE S MmAE
%z%%%ﬁ%ﬂﬁﬁ?mﬁy%m°ﬁﬁiiﬁﬁﬁz%%’W F %o R,
BTSRRI EPATIBAE S HATAM  MENE S CBRE R LS &
ZERM -

AETR LR EE  BEAMBIFERBERIE  LELES
A RBRTAR@RRHM  wRA QBRI B EDBLEZ T OLE T
N3 A gk BATT AL -
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4.2.3 £H1=. LCD ¥ g &b 3B A M H B X RF 2/
4.2.3.1 #BR T35 PR fo e | A5

LEHB——F > FELCD ¥R RBARRARALZRZEALT > %
F£ B %0 LCD F R ot R IR H T EATHRE KA - Mg A RN - HEH
STERBARAIET  TRGHREEE AETRERZEN > BMmERR
R o TR R BB TBERERZTMEI R TR > Bp LCD ¥ & &
R EEmELR -

AN EREH T ARATERBIIRAA TGS - LR EA4
it & LCD ¥ i &1 & Foktfn B A > AR 4.2.2. 3 & #73¢ LCD ¥ & &
FHZHFX > RRBEALERZRIE - LB ABRK » £ LCD £
RN AREITEFRMBZHEAT - HRAH 2 X Kbt THEE F Ao
BEERZ TR TRZM G BFLER EH]— ~ b

PR By R EATIEER LB R Bl —XTEF K 0 Rz A S
AR 4.1 8 A7 e ELR BRI
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%435 EELE

BEBRMEZ(=1-5)(EH =)

#MHELCD ¥ i REIME(NAR,, ) (RAL K)
B & .

t=1 t=2 t=3 t=4 t=5
A_RI 5882 1
A_R2 1059
A_R3 1
A_R4
B_RI 4513
B_R2 4616
B_R3
B_R4
C_R1 8999 1
C_R2 1611
C_R3
C_R4 800
D_RI1 3000 771 274
D_R2 3799 1
D_R3 1800
D_R4 1 898 1
E:R1 4669 1 2696 66 372
E_R2 1148 121 2 4729
E_R3 465 1202 833
E_R4 1 1199
F_RI 4731 780 1
F_R2 Y72 327 5101
F_R3 855 545
F_R4 6 2767 3227

B EMALEEAN 3. 3.3 B LD RSB M PR ETER
o REGRWTA T 24-DEELERZERRIEE - Mk 4-36
HEERIGENG - ESTEXEREMEAL EHB LR - N AHT X
BERAPAEF — s AR BB R BT TR TR R T IR A4
Z B AT BRITEARBEPBIHRERNE E S g &
R G B RBERA LR E - MAZGIHEZBETER B2 ot THE
BRPEEEREAEI R TR G > K& 44 8 BITRANER -
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%436 EERTEFREMELE(EH =)

A &3 (D)
TE&R A B B
(0) Tk | x| ExE | BT | KRS | sk | xm| E2xE | FEBRAE | KA
FH)| (R) |(RAQ,,-| &8 |RE|g(H)| (%) |(RAQ,,-| &8 | RE
dq,, dd,, SUR,, ) SUR,, | US,, | dq,, |dd,, SUR,, ) | SUR,, | US,,
1 Cus_1 | 6000 2 6000 0 471 - - -
2 _Cus_2 - - - - - 8000 3 6707 0 1293
3. Cus 3| - - ; ; ; ; ] ] ] ]
4 Cus 4 | - - - - - - - . ; ;
A&3 D
TE&ER - - D S
TR | kg | ERE | RRE | KW | R x| 2xE | FBRA | KB
(0) = A AL /i.e_ 5 AAE /ig_
FR) | (R) | (RAQ,, - | =K N RELS ()| (%) |(RaQ,,-| &F | %
dq,, | dd,, | SUR, ) | SUR,=|US,, | dq,, |dd,, | SUR ) | SUR,, |US,,
1_Cus_1| - - | - S RN000 | 18 7000 0 0
2 _Cus_2 - - - = - a 3 - - i
3_Cus_3 | 10000 4 10000 0 0 - - - - -
4 Cus_4 - - - - - - - - -
A&Z D
RS L _ F S
@ | BR | wm| ExE | HRE RS gx | gy Exg | MRE | RH
FH)| (x) |(RAQ,,-| &R |RE | 8(H)| (®) |(R4Q,,-| &8 | RZ
dq,, dd, » SUR,, ) SUR,, | US,, | 4q,, dd, » | SUR,, ) SUR,, | US,,
1. Cus_1 | 3500 | 4 3500 0 0 ; ; ] ] ]
2 Cus.2 | - - - - - | 6000 | 5 6000 0 0
3 Cus_3 | 6000 5 6000 0 0 - - - - i
4 Cus_4 | 5500 | 2 5500 0 0 | 5000 | 4 5000 0 0
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4.3 HHRAB B APITERRARAIER

AR A A B ERBA TSR TER TR AHITEZ
BROBPRMEZSHx,,, [AMEA] B4R MRS £%
EMRHZ AR ELT » A& D RAABAR > A E &3 & EAJC
PWB ~» BL)AFT & 24k » RBEARIAB LM EHIRBEEZ 2# -
4.3.1 AR BB

ECrFEHx, ZEENT AR 3. 4] &R ER I
A > M iLog OPL Studio 3.5 AT A > KRB E&MAERZFERE - &8
A G Z B EH ELS MRS E R E - A0 T Ak
F o

FA4-3T BAMB B2 A B dilogOPL EHE £ 2 #:tBM - Mk
4-38 BRI AG B, Zh > THEEE S FRZBE il > ¥
EMAZEHERAEERE o

& 4-3T7-1LOG 3242 X 24031 A

= 1E A% (Optimal solution) : 781,356,880 (7T)

MR ] X 48 % BE B K AR B
(No.of constraints) | (No.of variables) (Solving time)
7764 8268 95.67sec

B ot A A 4-38 24P TTHEmARAT A A-40 430 4L e 3R A B
B2 E R AR 441 SIIAHRL G T 0 e @ik
T A -

BEERMBEERA b 5 B H IR SR 2 AL LA 4-38
SHMARZAERREE—MAED A ZERA KEMHRD %GR 25 E
Wt - A 440 SIS MR G H B LS R B RE - A0 A
2 FREFIHERTRE > Ao T UK 4-39 7
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*4-38 EHAERZAEEE

A ov | (D)
(p) =1 =0 t=3 t=4 t=5 =6 t=7 t=8 t=9 t=10 t=11 t=12 t=13 t=14
A 915 2435 1911 0 13 3438 2420 2436 2436 564 0 0 0 0
B 458 2436 4794 4653 2363 0 0 0 0 0 4726 4557 0 0
C 3000 3092 4 0 0 5992 0 0 5643 5284 0 0 5810 3714
D 1039 3092 0 2908 3092 0 5999 3092 357 6092 0 0 0 0
E 8005 0 4582 0 4422 2501 0 4588 0 0 0 471 9317 9458
F 2670 0 877 4729 4729 0 4694 4472 4729 0 9022 9458 0 3637
& db | 212 (D)
(p) t=15 t=16 t=17 t=18 t=19 t=20 t=21 t=22 t=23 t=24 t=25 t=26 t=27 t=28
A 2918 4872 2436 1521 2614 4799 3037 1802 4799 4872 4872 0 0 0
B 0 2363 4727 2436 2185 2436 0 1 2436 2436 2436 2436 2436 2436
C 5376 0 0 0 3000 3092 3604 3526 0 0 0 0 0 0
D 0 0 2998 4164 0 0 2052 3001 0 0 0 3000 3000 0
E 4746 0 0 0 0 0 0 2 4729 4729 4729 6961 4729 9317
F 0 4588 0 4584 4729 0 3381 4442 1 0 0 2215 4729 4729

LR A-BTHERAEDHMBATEEZ ARG AHEME B EAZGFHIBE ARG — MR —ESHZAE > TREAZIAEE
R AT AEBAHTAEAAR AR HBEBREREZFIRL -
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(439 F—HAESLAZRBHMERG SR EREL
e | A&p | FRE st gl 4 sz | OB E |BERAT TN E
(t) (p) (Z1,1) b (MD,,,,) (Z,,*dn,,)
IC; 915 9150
| A 915 PWB,; 915 915
BL, 697 697
BL4 218 218
18 B 4 3
z[1,1]=915 ~ MD|[1,1,3,1] =915 ~ MD[1,2,1,1] =915 ~ MD|[1,3,1,1] =697 ~
MDJ[1,3,4,1]1 =218

e X 3-47

X351 28 H
TEESS SRS

BEAOISh mu4dls

18 IC #pstt R 48 pR, > ¥ Ae A 1) BR 35 2 9150 48 1Cs ot oAt 4 2K

v W[ 4540 L& E S A B IC; Mk 4R 2 BT
AT 4o BB ELEEZ 10

T At

BASMEESRAEHNEES A |8 SEcE sfp ZhF 486 AL

915 18 PWB,

BF o &k 44 RGZ MR R
A IR AT B Mot

P
MLd,e,t—l + PMd,e,t : eqd,e e Z dnp,d F MDp,d,e,t — MLd,e,t

Uk 4-41 ¥ &% 12 #7E B B 100000 18 1C5 4 4

p=1

~ 697 {8 BL, = 21848 BL, °

Yd, e,t>ol

' Bp il & 4-40 5K 5 & &7 Sk 4a
1% AKX 3-50 %*ﬁ‘*@ﬁfﬁi&ﬁ*ﬁc » Ju F AR o

K 3-50

G- YR

ML[1,3,11]=570 T 4540 IC3 £ 5 L1 BARFITF STO B 5 & » md &k 4-40 7T
S04 % 12 BAE £ 64200 18 IC; 45k » R sbaa4B 48 % 12 #34085 B 100000 18

IC; ¥78HPM[1,3,12]=1 ~ eq, ,
LIANBLBALESD

mAEEZER -

Rt Mk 4-38~%k 4-42 2 B
fe B E 18
B2
EHRMAE A

=100000] -

BN Z AT B A 10 R 0 #R
AR E T TARBE S R T A 12 BB RE] 0

AARBIANBBTHB TR
BENAMAEZ SR RO RER T E2 ML A5

NE DB GHIEZRRE - A E b PR ARABE AR 4

2 AR o
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& 4-40 BB YRR SR E R = (1=1~10)

Wk | A WA ERE(Sdn, mp,,.,)

N " =l

BE B T T o [ e | =4 | o5 | =6 | =7 | =8 | = | =10
IC, | 30000 | 30920 | 40 0 0 [19450| 0 24360 | 24360 | 30830
IC, | 4580 | 24360 | 47940 | 46530 | 7990 | 0 0 0 0 0
IC; | 9150 | 24350 | 19110 | 10 | 130 |34380| 0 0 0 0
IC, 0 0 0 0 |15640| 0 0 0 0 0
IC; 0 0 0 0 0 |40470| o 0 [56430| o0

© ICs | 26700 | 0 0 | 4100 | 0 0 |24200] o0 0 0
IC, |42300| 0 45820 4570 [44220| o0 0 |4580| 0 0
ICs 0 0o | 8770 | o 0 0 0 0 0 0
1C, 0 [30920]| 70 0 0 0 [59990 | o0 0 | 60920
IC1o 0 0 0 |43190 [ 47290 | 0 | 46940 | 44720 | 47290 | 27650
IC,, 0 0 0 - {24510 | 30920, 80 0 [30920] 3570 | o0
IC, |48140| 0 0 0 0 [25010] o 0 0 0
PWB, | 915 | 0 0 0 0 0 0 0 0 0
PWB, | 458 | 2436 | 4794 | 14653 | 2363 | 0 0 0 0 0
PWB; | 0 | 1225 | 1911 ] 0 0 0 0 | 2436 | 2436 | 564
PWB, | 0 |a210/] 0 1 137 | 3438 [ 2420 | 0 0 0
PWBs | 0 | 1736 | 0 T 0 0 0 0

owp | PWBs | 3000 [ 3092 [ 4 0 0 -] 5992 %0 0 | 5643 | 5284
PWB, | 1039 | 0 L O LT =0 0 [599 | 0 0 | 1897
PWBy; | 0 | 1356 |- 0 0 0 0 0 | 3092 | 357 | 4195
PWB, | 3065 | 0 | 877 | 624 | 0 0 0 0 |4729 | o0
PWBy | 5500 | 0 | 3110 | 0 0 | 2501 | 0 | 4588 | 0 0
PWB, | 2110 | 0 | 1472 | 0 | 422 o 0 0 0 0
PWB, | 0 0 0 | 4105 | 4729 | 0 | 4694 | 4472 | 0 0
BL, | 697 | 0 0 0 0 | 3438 | 0 0 0 0
BL, | 458 | 2436 | 4794 | 4653 | 2363 | 0 0 0 0 0
BL, 0 0 0 1 13 0 | 2420 | 2436 | 0 0
BL, | 218 | 2435 | 1911 | 0 0 0 0 0 | 2436 | 564
BLs | 4039 | 1510 | 0 0 0 0 0 0 | 5643 | 5284
Bl 0 | 2670 | o | 2908 | 3092 | 8 | 3350 | 3092 | 0 | 6092

BL BL, 0 0 7 0 0 0 2049 | 0 | 357 0
BLg 0 | 2004 | 4 0 0 |59 o 0 0 0
B, | 2670 | 0 | 877 | 0 | 4729 | o0 0 0 0 0
BL,, | 3005 | 0 | 2115 | 4729 | 0 0 | 4694 | 4472 | 4729 | 0
BL,, | 5000 | 0 | 2467 | 0 | 4422 [ 2501 | o | 4588 | o0 0
BL, | 0 0 0 0 0 0 0 0 0 0
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* 4-40 Sz BEA %50 F R 2 (8)(t=11~20)

x| Mt E R =E( ijdnw, .MD,,,, )
R o t=11 t=12 t=13 t=14 t=15 t=16 t=17 t=18 t=19 t=20
1C, 0 0 40 0 29180 0 18110 0 0 0
IC, | 47260 | 45570 0 0 0 |23630 | 47270 | 24360 | 21850 | 0
IC; |67300 64200 0 |[36370| 0 [93750 | 6250 | 52710 | 47290 | 0
IC, 0 0 0 0 0 0 0 0 0 | 24360
1C;5 0 0 58100 | 37140 | 53760 0 20 0 30000 | 30920
IC 1Cs¢ 0 0 0 0 0 0 0 0 0 0
1G4 0 4710 | 12500 0 0 0 0 0 0 0
ICs 0 [30380 | o0 0 0 850 0 0 0 0
ICo 0 0 0 0 0 0 0 | 49980 | 26140 | 47990
ICio |22920] 0O 0 0 0 0 0 0 0 0
ICyy 0 0 80670 | 94580 | 47460 0 29980 0 0 0
ICy, 130 0 0 0 0 0 0 0 0 0
PWB, 0 0 0 0 0 1405 0 0 0 0
PWB, | 4726 | 4557 | 0 0 0 | 2363 | 4727 | 2436 | 2185 | 2436
PWB; 0 0 4 0 0 | 3467 | 2436 | 1521 | 2614 | 4799
PWB, 0 0 0 g i 0 0 0 0 0
PWBs 0 0 0 0 0 0 0 4164 0 0
PWB PWBg¢ 0 0 5810, | 37141 5376 0 2 0 3000 3092
PWB, 0 0 0 0 0 0 2998 0 0 0
PWB; 0 0 0 0 0 0 0 0 0 0
PWBy | 9022 | 9458 0 3637 0. | 4588 0 | 4584 | 4729 0
PWB,, | 13 471 | 9317 | 9458 | 542 0 0 0 0 0
PWB 0 0 0 0 4204 0 0 0 0 0
PWB» 0 0 0 0 0 0 0 0 0 0
BL, 0 0 4 0 | 2018 | 1422 o0 1521 0 0
BL, | 4726 | 4557 0 0 0 2363 | 4727 | 2436 | 2185 | 2436
BL, 0 0 0 0 0 3450 | 0 0 2614 | 4799
BL, 0 0 0 0 0 0 | 2436 | 0 0 0
BLs 0 0 5810 | 3714 | 0 0 | 2874 | o0 0 1470
BL BLg 0 0 0 0 0 0 124 4164 0 0
BL, 0 0 0 0 0 0 0 0 0 0
BLg 0 0 0 0 | 5376 0 2 0 3000 | 1622
BL, | 5266 | 958 0 0 0 0 0 0 0 0
BLo | 3756 | © 0 3637 0 | 4588 0 | 4584 | 4729 0
BL; 13 471 9317 | 9458 | 4746 0 0 0 0 0
BL» 0 8500 0 0 0 0 0 0 0 0
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£ 440 582 W RHAR 43 KB (H)(1=21-28)

Myl EPET] A E R E( idnpvd .MD,,,, )
P , =
s ks =21 | =22 | =23 | t=24 | =25 | t=26 | t=27 | t=28
IC, 0 0 0 0 0 0 0 0
1C, 0 10 | 24360 | 24360 | 24360 | 24360 | 24360 | 24360
IC; 33810 | 44420 | 10 0 5030 | 22150 | 47290 | 47290
IC, 0 0 0 0 0 0 0 0
ICs 36040 | 35260 0 0 0 0 0 0
, 1Cs 0 0 0 0 0 0 0 0
¢ IC, 0 0 0 0 0 0 0 93170
ICs 0 0 0 0 0 0 0 0
1Co 50890 | 48030 | 47990 | 48720 | 43690 | 30000 | 30000 0
ICro 0 0 0 0 0 0 0 0
IC, 0 20 | 47290 | 47290 | 47290 | 69610 | 47290 0
ICp 0 0 0 0 0 0 0 0
PWB, 0 0 0 0 0 0 0 0
PWB, 0 0 2436 | 1668 0 2436 | 2436 | 2436
PWB; | 30375 | 1803 | 4799 | 5640 | 7308 0 0 0
PWB, 0 0 0 0 0 0 0 0
PWB, 0 0 0 0 0 0 0 0
PWE PWB, | 3604 | 3526 0 0 0 0 0 0
PWB, | 2052 | 3001 0 0 0 3000 | 2399 0
PWB; 0 0 0 0 0 0 601 0
PWB, | 3381 | 4444 1 646 0 2215 | 4729 | 4729
PWB 0 0 4729 | 40837 | #4729 | 6961 | 4729 | 9317
PWB,, 0 0 0 0 0 0 0 0
PWB ., 0 0 0 0 0 0 0 0
BL, 0 0 0 0 0 0 0 0
BL, 0 1 2436 | 2436 | 2436 | 2436 | 2436 | 2436
BL, 3037 | 1802 | 4799 | 4872 | 4872 0 0 0
BL, 0 0 0 0 0 0 0 0
BLs 5656 | 6527 0 0 0 3000 | 3000 0
Bl Bl 0 0 0 0 0 0 0 0
BL, 0 0 0 0 0 0 0 0
BLs 0 0 0 0 0 0 0 0
BL, 0 0 0 0 0 0 0 0
BLy 3381 | 4444 | 2422 0 0 2215 | 4729 | 4729
BL,, 0 0 2308 | 4729 | 4729 | 6961 | 4729 | 9317
BL., 0 0 0 0 0 0 0 0
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* 4-41 S R ER %I E E(=11~20)

Aokt
s

Mokt
%

BEE

t=11

t=12

t=13

=14

t=15

t=16

t=17

t=18

t=19

IC

IC,

100000

0

IC,

0

0

100000

0

IC;

(e} Nen)

100000

0

100000

0

100000

0
0

IC,

ICs

100000

0

0

100000

100000

ICs

IC,

ICsg

IC,

100000

100000

ICo

100000

ICyy

200000

100000

ICy,

PWB

PWB;

PWB,

PWB;

PWB,

PWB;

PWBg¢

PWB,

PWBg

PWBy

PWB

PWB/,

PWB,

BL

BL,

BL,

BL;

BL4

BLs

BLe

BL;

BLg

BLy

BLo

10000

BL;

10000

10000

BL,

B RRARFARAARR N0 RBEEAERLHBE
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% 4-4]1 B2 BRA %R E 2 (4) (=21~28)

Aokt
s

Wkt
%

i

=2

RE

t=21

t=22

t=23

t=24

t=25

t=26

t=27

t=28

IC

IC,

IC,

100000

100000

0

IC;

100000

(e} Nen)

0

0
0

100000

0
0

(e} Nen)

IC,

ICs

0

ICs

IC,

100000

ICsg

IC,

100000

100000

100000

0

| (&)

ICy;

0

100000

100000

100000

IC,

PWB

PWB;,

PWB,

10000

0

PWB;

10000

PWB,

PWB;

PWBg¢

PWB,

=l Hew)

PWBg

PWBy

10000

PWB

PWB/,

PWB,

BL

BL,

BL,

BL;

(e} Nen)

BL4

BLs

10000

BLe

BL;

BLg

BLo

BLo

10000

BL;

10000

10000

10000

10000

BL,

104

B RRARFARAARR N0 RBEEAERLHBE




& 4-42 REN @ E RSB SRR ERE

P B A (d)
IC PWB BL
M | RBE | EGE | MBE | HHGR | HeE

IC, 28210 PWB; 2680 BL, 0
1C, 22490 PWB, 5454 BL, 8749
IC; 0 PWB ; 0 BL; 385
IC, 0 PWB 4 0 BL,4 0
IC; 46860 PWB 5 0 BL; 7473
1Cq 0 PWBg 4361 BLg 0
1C, 20830 PWB - 0 BL, 1987
ICg 0 PWB g 9399 BLg 0
ICy 19670 PWB g 542 Bl 0
ICyo 12016 PWB o 5452 BL 1y 542
ICy; 25724 PWB (4 3792 BL, 9244
ICy» 0 PWB |, 0 BL, 0
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4.4 3 a#r

SLEHH A2 B 43 iz EEMHEEZ I A ZHERAIIEATITZ
HF - pRH BRI PSR IATE RET I ELIEA
> BRI ENHBGEMITERRMEAE

A E ZHHRIBERNETEFRETRE HARETBREPHRE
ZRAR REE—BIEZFAFERZWTEEZI wE SR LTRSS
BEERZEMIETRME - WIERERANELCD KX FRuEA
o> BRI EERBMEREEENT  EAEIZME DX TR F
BHBEERZEBERERTRET FAATEHEA -

AAXZEOY  BRITEHBER —ERANAEXZIBHEL  HAH
SR MABEEE RN R T R UL G2 hott THERL R 2 tb & 45 gk
EEBRRBEM  LEER 1 B REBE R w2 Aot AR F 15 B R
FBRZIMIUE TR e TARLAS BHZ R FHFHETHE -
REHAAR G XTI ERLAEE RZ AL TRZILE 4o
A ¢

& A4-43 R B TR EE R B B T R AAERE R T R Ak

% 151 3 % 45 8 XERZEEHLREINYRESALETR PHEERE
L% ;4 2 oF:
% {5 —. 38 32 84.2% 99.51%
Z 5 .
RIS 9 6 66.67% 99.58%
Z 5 .
35 LCD £ s 9 5 55.5% 99.73%
Z 5 —.
. a 67 47
T 9 6 66.67% 99.47%
E = 9 6 67% 99.48%

BEERZBNTAE  ASEFFERILBRERT  UEF— 2R it
T £ 842% 2 X RRMIF AT R TIREARE B RIARME - tb77 B £ 4
— A EARALCD ML EZEATEATRE > AERAELERRREARSE
BZBEPREHTEZIIHEL  BAR S RN EHEBR XL LM &
AERBEARRZHEEREER BB T > £4] =14 & 44 LCD k&
RRRZEATFTRE B LEp —23TB@oHBR) £ REFRELHE
BARAZMENRTE EX AR BT EHEEERZ LR TRE
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o MERZEEZ R EHERTESFE TRAZ L FRIK M EH =R
Byl
RERZBENEEETRZER

Al R 2T
U ABEAoA FEEBEEUN 75 AR TR o T L F 50
c A F = EEH P > &R EHAuE THEE F o BT

BB #H 5 RMEG -

BE BAIXSEFZIEETEo EF=fEMR— —FRAZIEE
75 EB =2 LCD ¥ et R ARBEEE RREIMF £ RBRNBFRY
BRZ M B s RARA] - M EH— ~ =A% & LCD ¥ A b R4 € 4a TR
FITFRAR b EBZRBZRINFT X HAr R R P EERT
HER — —BEXEAZZE BLRHGES — X RHAFTLHHE -

e LAZXPFHREGEEETEL  EHR I FHEREEEERES— =
BHE 9L ZEZFMEREER HBEV = PFHEREXFEZ X

R BPTHEAF I — » =2 LCD ¥ b Rt SR -

A% N BRI R ZRTFIRRE 7S E BN L B AR & E = RA48E A7
BRoHHRE—F BRI AR AU ERZBERARR #t;bm}%g/\ﬁ%
B oo 4 TAE 2 RFIR B AR

& 444 BB X B etk FAEEE 0 fAE B R TAF 7 B T RE ok

£ —.
Ak | | X ER RSB EIRHEETARETR]
BAE BETR R EHB e P oL AR &
Cus_1 | 90% 9 9 100.0% 100%
Cus 2 | 85% 10 7 70.0% 99%
Cus. 3 | 85% 10 7 70.0% 99.05%
Cus 4 | 87% 9 9 100.0% 100%
N\ 38 32 T3y 842% | 4 ]99.51%
Ep—. RERADER
Emma| [ xEmemgsAnEIsRAESARETR]
KA B 5 sRTR R ERE rarn s SN &S
Cus 1 | 90% 3 2 67.7% 99.86%
Cus 2 | 85% 2 2 100% 100%
Cus. 3 | 85% 2 0 0% 98.86%
Cus 4 | 87% 2 2 100.0% 100%
NN s 9 6 i 66.67% | T |99.58%
K —. #3% LCD ¥ 5 &
=T XEMZ TR ENHRETARETR |
KA % 5 sETR R ERE rarn s SRS &S
Cus_1 | 90% 3 2 67.7% 99.79%
Cus 2 | 85% 2 1 50.0% 99.99%
Cus. 3 | 85% 2 1 50.0% 99.09%
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87%

2

1

50.0%

99.99%

E§§§

9

5

F35 55.5%

| 99.73%

F A4 BFBER G o THER R Fo B T R TAE R R T IR A& (8)

Kol —. A¥ITREXE

THEBE | XEMZ BB EENYEETEBETR |

Rl BETR R BE o R LA g &S
Cus_l | 90% 3 2 67.7% 99.36%
Cus_ 2 | 85% 2 2 100.0% 100%
Cus 3 | 85% 2 1 50.0% 98.92%
Cus_4 | 87% 2 ] 50.0% 99.65%

NN 9 6 3 66.67% | F# | 99.47%

£H=

THEBE | XEMZ BB EENYEETEBETR |

Rl BETR R BHE o R LA g &S
Cus_l | 90% 3 2 66.67% 99.44%
Cus2 | 85% 2 1 50% 99.62%
Cus 3 | 85% 2 1 50% 98.86%
Cus_4 | 87% 2 2 100.0% 100%

NN 4 # 9 6 EFT 66.67% | 35 |99.48%

B k& 4-44 45 4o o S AME & ) 0 Cus_1 4v Cus 4 K Bt ol
FHEBRGARRI LB ERRTRITEEZ o AGLERRKR LS SN

Cus_2 #v Cus_3 o $£3, % 75 B Cus_1Fu Cus 4% B F P % K 2 THER F TR
Aa¥H Cus 2 fv CUS 3B B BARTFEFTHRASBER LT RIELER
EAE -

> RAEse

a2 T X R ARBEMB TSR TER RAE AR E
LU ERITEEZBEBEREL  BTHMEMHRERE - £ ARAXZ YR ELE AR
PoRRAEMZREE—MEHEL AEHERMNNBEENEE F P A
ZE W RBEEKRXEL A MU Z BT R AT E R A
BHBER RACWHESEAT  BEGSKRHAZKAEBAIH St
BHBRERE  FARABEZREBEK - Tk 4-45 A& R K X
B AR AE A AR
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& 4-45 B AA 2 X R He B Kok B B Y

s || FOF | gue | asie | owre | oeee [THRAH

IC e 34,500 138,060 | 900,000 1,800,000 2,596,440 70.44 %
XA 27,500 37,740 400,000 700,000 1,089,760 29.56 %

PWB e 33,300 15,809 100,000 190,000 307,491 83.42%
XA 39,000 17,871 30,000 10,000 61,129 16.58%

BL EX S 35,000 30,393 100,000 200,000 304,607 82.63%
XA 36,000 1,987 20,000 10,000 64,013 17.37%

BEKTAS  RUEMABTE  MRERER S IHIKE B

AN o Mkt Edfe B RHE A 2 ZIEAA 8D a9 4 IC Mk > ARk
RETERD  HBERNICEHALAMER - RIFEL 1 2k 4-6 TH4 0 IC
P LSRR ) A Sk 5 B A A 45 42 PWB Fv BL RAF 42 7R ] & &b #5 ]
£/ Rm o g ERBERERS > RERFEE R RAEEZFRLT
LR KX ABEBEMREN S Rl e Rn % F Lk 2 B RN

M Ik R AE 45

YEE A MIKZ IR BT TR E AR GE X

Ao 2 R B £ 8B B 4D © B 2 Sk ST HI A ) A 1A
Fo &5 X ke B EL A2 A TR o
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5.1-»

FEE ERBARARET G
)

TFT-LCD Z ¥ £ L R FHRBBARFERT  FAEREDLBMAELZR

FERES Ol EAN—BRAZEE AERAT > dofTiFiEeF

ABEREZLE ZRRFT » AR pBELEBBEE > 774 %E
TFT-LCD 4 Z 4255 & X Hh 2 Bsgri £ o

FENIL S BREA XA RBETEF K2 B8 AxX# & TFT-LCD #

MR ZFEFR IR B LS R B8 PR A —

ZE

AEHRRAE A% ERETEEALERPRERA T AT HL&3TE

2B AN IR R ALIA TR L A AR A o A SR b

ACS

(1)

2)

2 A

(e
BT AR MR fuT BB TR - AMAARRBEEITEZER » AX

LA ¥ A H BaR KL A B AR SHEIRSE T 4R35 (PWB B 515 ) 42
HRBEXRBE AR BERN ) BAEEXZREE S S REESREE S
BTEx ARt tEis c £ETHIF A FHBETEXN2 4
BREFR] D ARG E FRECHEERFBEZFA T L E LER
Z RAFEE R M o g AR MR 2 &R > AL LK LCD ¥
Bdh R A TREE R E 2 A A R E R A -
PRI NEEX I ZENAIFERAIER o E—%
Bz &R B E A AT RSP B A7 ST 0 SRR B K R
HRDNRAZHEE - WEAXTELZEMHERERT 28R L
BATZHA BIF 0 R BAFMRA » LR BB 4 & A7 2 Bl sttt
HE > wHBHARARZERL AFHIKESL  BERLZHH > TR
M R E -

BHEFNERFLILER BABAXAERIIZ LA EMHEEZ T4 FHE
BRI I o T

(1) FlBA BiRIA TR BT ER R FRIBFUT - AXUF— &

LAARRRIEARBEEE EZIMAWHHETERALRRZAE L
E@RumASEEF > REPBEELBLEZAEGFIA F 99.98%)Fv E & B
BRI EMN M RkRIRALHZTRAMK -
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2) EAX=ZFOF > AR RAZER > BEDREREHE
a3k 99% A E

Q) EMHFTHATESRRAEZEINERABEABTAT > £ERE
EWRBEAREN AL RIER  THFOEER FEZRFR > A8
R B HEAR 2 T o

4) HHH5—TERETXAILE TREALZRINEZAERIAMET
MR EEEITEZER RN I BRI HEFN -

52~ RRFEF &

SBRAR XA IR BB RE A4 BEIFR AR R

Mo EHERARTZRE EFREARER > BARRAALELT

1.

2.

2.

AXFRFZEEER L EEBELHOENE R THEIF T R
wik o MAY —IREREEBAITEZIRE R G AR R IFEA L
BEZFEEE - RAMAETH L FBAE Xy RE 77 T1E A LAk
BEZHAE  RARRERBILIAN > TR EEHTE -

KRN Cellfie & & 5 582 LCD (R iidmmr &% h0

%o b 77 B AR B]EE B 2R IR B e B ML 0 4o 18 SET 20 T F AL S 46 B R
EL R BT 4R A Mz E Ko Cell &z & 18 T84
B LCD 3 5, o SOt 2 AR 0. 8] MERIERI M R A E A R -
AXEWHRE T & it EZEIE AR — Yk Z Wk K e okt
FLERAE > EAF EMMEFAMZHENREIAE - K £AFERIET > R
Bl Bt T am F 2 & & o Bt RRAERII MR B
T ANBR AR R ZEE - RYRIRE B ARk
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P

Fiek A 41 BRATH(ES DA ABRB LA R RTHRH K
HFZEX

BEREE > RAMEEAFIHIE 0 X R REH > Fa B Mo T AT
X[1,1,3,6] =490 X[2,3,1,3] = 1006 X[3.4,2,9] =239 X[4,3,4,10] =2999 | X[6,2,4,4] =3699
X[1,1,3,7] =322 X[2,3,2,3] =295 X[3.4,3,2] =1 X[4,4,1,4] = 1794 X[6,2,4,8] = 1801
X[1,1,3,8] =483 X[2,3,2,4] = 1353 X[3.4,3,3] =1 X[4,4,1,6] = X[6,2,4,9] = 1400
X[1,1,3,9] = 1997 X[2,3,3,4] = X[3,4,3,10] =1739 | X[4,4,2,3] = X[6,3,4,1] = 1767
X[1,1,3,10] =1 X[2,4,1,1] =457 X[4,1,1,6] =1 X[4,4,2,6] = X[6,3,4,5] = 1064
X[1,1,4,1] =394 X[2,4,1,3] = 1429 X[4,1,1,71 =797 X[4,4,2,8] =3091 X[6,3,4,8] =40
X[1,1,4,2] =73 X[2,4,2,3] = 2063 X[4,1,2,2] =192 X[4,4,2,10] =526 X[6,3,4,9] =3329
X[1,1,4,3] = 1911 X[2,4,24] =1 X[4,1,24] =1 X[4,4,4,10] =1 X[6,4,4,1] =903
X[1,2,3,8] =617 X[3,1,1,6] = 2450 X[4,1,2,5] = 2809 X[5,1,1,1] = 1605 X[6,4,4,7] = 2466
X[1,2,3,9] =437 X[3,1,1,9] = 506 X[4,1,2,7] =284 X[5,1,1,8] = X[6,4,4,8] =2631
X[1,2,3,10] =563 X[3,1,1,10] = 343 X[4,1,2,8] =1 X[5,1,2,1] = 1995 X[1,1,1,15] = 1704
X[1,2,4,1] =521 X[3,1,2,6] =355 X[4,1,2,9] = 1 X[5,1,3,3] = 1495 X[1,1,1,16] = 2436
X[1,2,4,2] =999 X[3,1,29] =1 X[4,1,2,10}.= 1845 | X[5,1,3,6] = 704 X[1,1,1,19] =499
X[1,2,4,6] = 2363 X[3,1,3, 1= 1574 X[4,2,1,6] =1 X[5,2,1,1] = 1953 X[1,1,2,15] =1
X[1,3,3,5] =13 X[3,1,3,2)= 1625 X[4,2,1,7]= 2110 X[5,2,1,8] =306 X[1,1,2,16] = 2436
X[1,3,3,6] = 585 X[3,1,3,3]=1 X[4,2,2,2].=.1196 X[5,2,2;1] = 847 X[1,1,2,17] =123
X[1,3,3,7]=1 X[3,1,3,10] =545 X[4,2,2,3] =1 X[5,2,3,3] = 3086 X[1,1,2,18] =1
X[1,3,3,8] = 1335 X[3,2,1,9] = 2493 X[4,2,2,5] =283 X[5,2,3,5] = 108 X[1,2,1,18] = 1517
X[1,3,39] =1 X[3,2,2,6] = X[4,2,2,6] =1 X[5,3,1,8] = 3483 X[1,2,1,19] = 1820
X[1,3,4,2] = 1364 X[3,2,2,9] = 2403 X[4,2,2,7] = 2808 X[5,3,2,1] = 1590 X[1,2,1,20] = 2386
X[1,4,3,7] = 2097 X[3,2,3,1] = 1333 X[4,2,2,9] =355 X[5,3,3,3] = X[1,2,2,15] =1
X[1,4,3,8]=1 X[3,2,3,3] = X[4,2,2,10] = 644 X[5,3,3,5] = 1482 X[1,2,2,16] =1
X[1,4,39] =1 X[3,3,1,10] =2384 | X[4,3,1,4] =1112 X[5,3,3,6] = 144 X[1,2,2,17] =2313
X[2,1,1,2] =1 X[3,3,2,6] = 2449 X[4,3,1,6] =1 X[5,4,1,8] =798 X[1,2,2,18] =1
X[2,1,1,3] =1 X[3,3,3,11 =93 X[4,3,2,1] = 1039 X[5,4,2,1] = X[1,2,3,19] =157
X[2,1,2,4] = 1008 X[3,3,3,2] = 1466 X[4,3,2,2] = 1704 X[5,4,3,5] = 2832 X[1,3,1,15] = 650
X[2,1,3,4] =2290 X[3,3,3,3] = X[4,3,2,3] =4 X[5,4,3,6] = 1653 X[1,3,1,18] =1
X[2,2,1,1]=1 X[3,4,1,6] = 546 X[4,3,24]=1 X[6,1,4,3] =877 X[1,3,1,20] =1
X[2,2,1,2] =2136 X[3.4,19] =1 X[4,3,2,6] =1 X[6,1,4,4] = 1030 X[1,3,2,15] = 561
X[2,2,1,5] =2363 X[3,4,1,10] =273 X[4,3,29] =1 X[6,1,4,5] = 3665 X[1,3,2,20] = 2363
X[2,3,1,2] =299 X[3,4,2,6] = 191 X[4,3,2,10] = X[6,1,4,7] = 2228 X[1,3,3,19] =
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X[1,4,1,18] =1

X[3,1,4,19] =2145

X[5,1,3,13] =4727

X[6,3,1,12] = 4118

X[2,2,4,24] = 1735

X[1,4,1,19] =117

X[3,2,2,13] =655

X[5,1,3,14] =1

X[6,3,2,18] = 3211

X[2,2,4,25] = 2435

X[1,4,1,20] =49 X[3,2,2,14] =3091 | X[5,1,3,15] =1186 | X[6,3,2,19] =1 X[2,2,4,26] =2
X[1,4,2,15] =1 X[3,2,2,15] =1 X[5,2,1,13] =3438 | X[6,3,4,11] =421 X[2,2,4,27] = 2435
X[2,1,1,17] = 164 X[3,2,4,14] =1 X[5,2,1,14] =2731 | X[6,3,4,12] =1 X[2,3,4,23] = 1583
X[2,1,2,11] =2356 | X[3,2,4,15] =3091 | X[5,2,3,12] =399 X[6,3,4,16] =474 X[2,3,4,26] = 2360
X[2,1,3,11] = 1144 | X[3,2,4,19] =62 X[5,2,3,13] =1 X[6,4,2,19] =1 X[2,3,4,28] =1

X[2,1,3,12] = 1000

X[3,2,4,20] =2799

X[5,2,3,14] = 1530

X[1,1,1,23] = 2020

X[2,4,4,23] =151

X[2,1,3,16] =399 X[3,3,2,14] =1 X[5,3,1,13] = 1076 | X[1,1,1,24] =563 X[2,4,4,24] =701
X[2,1,3,17] =1 X[3,3,2,15] =1 X[5,3,1,14] =1998 | X[1,1,1,25] =1 X[2,4,4,25] =1
X[2,1,3,18] =1 X[3,3,4,15] =1 X381 sl X[1,1,3,21] =673 X[2,4,4,26] =2
X[2,1,3,20] =2435 | X[3,3,4,17] =1 X[5,3,3,12] =72 X[1,1,3,22] =1 X[3,1,2,21] =40

X[2,2,2,11] =7

X[3,3,4,19] =193

X[5,33518)=1

X[1,1,3,24] = 2436

X[3,1,2,22] = 1044

X[2,2,2,12] = 2435

X[3,3,4,20] = 284

X[5,3,3,14]. = 1794

X[1,1,4,22] = 1801

X[3,1,4,21]1=2

X[2,2,3,11]1=1218 | X[3,4,2,13]=1 X[5,3,3,15] =3543 | X[1,2,1,24] =1 X[3,1,4,22] =614
X[2,2,3,12] = 1121 | X[3.,4,2,15] =1 X[5.4,1,13] =1 X[1,2,1,25] =2435 | X[3,2,2,22] = 1862
X[2,2,3,20] =1 X[3,4,4,13] =1 X[5,4,1,151=1 X[1,2,3,23] =2031 | X[3,2,4,21] =602
X[2,3,1,17]1 =2127 | X[3,4,4,20] =9 X[5.4,3,14}=1404 | X[1,2,3,25] =2435 | X[3,2,4,22] =5
X[2,3,3,16] =15 X[4,1,1,18] = 1066 - X[6,1,1,11] =951 X[1,3,1,21]1 =2363 | X[3,3,2,21] =2960
X[2,3,3,17] = 1420 | X[4,1,4,17] = 1331 | X[6,1,1,12] =611 X[1,3,1,23] =343 X[3,3,4,22] =1

X[2,3,3,18] =1253 | X[4,1,4,18] =1903 | X[6,1,2,18] =17 X[1,3,1,24] =1 X[4,1,3,22] = 1685
X[2,3,3,19] =2185 | X[4,2,1,18] =1 X[6,1,2,19] =3483 | X[1,3,3,21] =1 X[4,1,3,27] =2773
X[2,4,2,12] =1 X[4,2,4,17] = 1666 | X[6,1,4,11]=4013 | X[1,3,3,23] =405 X[4,2,1,22] =3
X[2,4,3,11] =1 X[4,2,4,18] =1167 | X[6,1,4,12] =2381 | X[1,3,3,25] =1 X[4,2,3,21] =2052
X[2,4,3,16] =1949 | X[4,3,1,18] =1 X[6,1,4,14] =3637 | X[1,4,1,24] = 1871 | X[4,2,3,22] = 1312
X[2,4,3,171 =1015 | X[4,3,4,17] =1 X[6,1,4,16] =3 X[2,1,4,23] =692 X[4,2,3,26] = 3000
X[2,4,3,18] =1182 | X[4,3,4,18] =1 X[6,2,1,111=3637 | X[2,1,4,26] =72 X[4,2,3,27] =225
X[3,1,2,13] =2249 | X[4,4,1,18] =4 X[6,2,2,18] =1356 | X[2,1,4,27] =1 X[4,3,3,22] =1
X[3,1,2,15] =2281 | X[4,4,4,18] =21 X[6,2,2,19] = 1244 | X[2,1,4,28] =2435 | X[4,3,3,27] =1
X[3,1,4,13] =2904 | X[5,1,1,13] =73 X[6,2,4,12]1 =2347 | X[2,2,4,22] =1 X[4,4327]=1

X[3,1,4,14] =621

X[5,1,1,15] =15

X[6,2,4,16] =4111

X[2,2,4,23] =10

X[5,1,1,26] = 2230
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X[5,1,2,23] = 4726 | X[6,3,1,26] =1 RC[1,26] =4 |RC[3,1]=21 |RC[4,4]=0
X[5,1,2,24] = 2928 | X[6,3,1,27] =4099 | RC[1,27]=0 | RC[3,2]=0 RC[4,5] =0
X[5,1,2,25] =401 | X[6,3,4,21] =1586 | RC[1,28] =10 | RC[3,3] =1 RC[4,6] =24
X[5,1,2,26] = 2060 | X[6,4,1,27] =1 RC[2,1]=4 RC[3,4] =0 RC[4,7] =15
X[5,1,2,27] = 1998 | X[6,4,1,28] =27 RC[2,2] =22 | RC[3,5] =0 RC[4,8] =0
X[5,2,1,26] =2 X[6,4,4,21]1=2 RC[2,3] =7 RC[3,6] =11 |RC[4,9]=0
X[5,2,2,23] =1 RC[1,1]=3 RC[2,4] =5 RC[3,7]1=13 | RC[4,10]=0
X[5,2,2,24] =601 | RC[1,2] =15 RC[2,5] =0 RC[3,8] =0 RC[4,11] =4
X[5,2,2,25]1 =3077 | RC[1,3] =0 RC[2,6] =3 RC[3,9] =0 RC[4,12] =0
X[5,2,2,26] =2668 | RC[1,4] =14 RC[2,7]=11 |RC[3,10]=7 |RC[4,13]=7
X[5,2,2,27]1 =1 RC[1,5] =24 RC[2,8] =11 | RC[3,11] =24 | RC[4,14] =0
X[5,2,2,28] =2625 | RC[1,6] =3 RC[2,9] =3 RC[3,12}=3 | RC[4,15] =11
X[5,2,3,28] =2222 | RC[1,7] =0 RC[2,10] =0 | RC[3,13]=10 | RC[4,16] =7
X[5,3,2,23]1 =2 RC[1,8] =7 RC[2,11]= 24, | RC[3,14] =10 | RC[4,17] =3
X[5,3,2,24] = 1200 | RC[1,9] =3 RC[2,12] = 15 | RC[3,15] = 10 {+RC[4,18] =11
X[5,3,2,25] =1 RC[1,10] =3 RC[2,13]=7 | RC[3,16] =24 |\RC[4,19] =3
X[5,3,2,26] =1 RC[1,11] =7 RC[2,14} =11 -RC[3,17] = 15 | RC[4,20] =11
X[5,3,2,27] =2729 | RC[1,12] =0 RC[2,151=7 "|RC[3,18]=15 | RC[4,21] =22
X[5,3,2,28] =2104 | RC[1,13] =7 RC[2,16] =0 | RC[3,19] =24 | RC[4,22] =17
X[5,3,3,28] =2366 | RC[1,14] =0 RC[2,17] =15 | RC[3,20] =15 | RC[4,23] =15
X[5,4,2,25] = 1250 | RC[1,15] =32 RC[2,18] =9 |RC[3,21]=0 | RC[4,24] =15
X[5.4,2,27] =1 RC[1,16] =0 RC[2,19] =10 | RC[3,22] =0 | RC[4,25] =15
X[6,1,1,22]1 =4297 | RC[1,17]=0 RC[2,20] =24 | RC[3,23] =15 | RC[4,26] = 15
X[6,1,1,26] =2213 | RC[1,18] =4 RC[2,21]=3 | RC[3,24] =15 | RC[4,27] =15
X[6,1,1,28]1 =959 | RC[1,19] =15 RC[2,22] =13 | RC[3,25] =0 | RC[4,28] =15
X[6,1,4,21]1=6 RC[1,20] =15 RC[2,23] =10 | RC[3,26] =3

X[6,2,1,22] =145 | RC[1,21] =0 RC[2,24] =10 | RC[3,27] =3

X[6,2,1,26] =1 RC[1,22] =11 RC[2,25] =10 | RC[3,28] =7

X[6,2,1,27] =629 | RC[1,23] =7 RC[2,26] =0 | RC[4,1]=18

X[6,2,1,28] =3743 | RC[1,24] =15 RC[2,27] =10 | RC[4,2] =24
X[6,2,4,211=1787 | RC[1,25] =15 RC[2,28] =10 | RC[4,3] =31
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AQ[1,1,1,1]1 =394

AQ[1,5,1,3] = 1495

AQ[4,3,4,6] =196

AQ[8,3,3,3] =1

AQ[2,1,3,19] =21

AQ[1,1,1,3] = 1911

AQ[1,5,2,1] =2800

AQ[4,3,4,9] =240

AQ[8,3,3,6] =2449

AQ[2,1,3,20] =2364

AQI[1,1,1,6] =490

AQI[1,5,2,3] =3086

AQ[4,3,4,10] =2012

AQI8,3,4,6] =540

AQ[2,1,4,18] =1

AQ[1,1,1,7] =322 AQ[1,5,3,1] =1589 | AQ[4,4,1,7] =984 AQ[8,4,1,6] =2 AQ[2,1,4,19] =117
AQ[1,1,1,8] =483 AQ[1,5,3,3] =1 AQ[4,4,19] =1 AQI[8,4,1,7] =96 AQ[2,1,4,20] =49

AQ[1,1,1,9] = 1997 | AQ[1,5,4,1]=15 AQ[4,4,1,10] =1845 | AQ[8,4,1,8] =1 AQI[2,2,1,11] =3500
AQ[1,1,1,10] =1 AQ[1,6,1,7] =2228 | AQ[4,4,2,6] =2 AQ[8,4,2,2] =374 AQ[2,2,1,12] =1000

AQ[1,1,2,1] =521

AQ[1,6,2,8] = 1801

AQ[4,4,2,10] = 644

AQ[8,4,2,7] =4918

AQ[2,2,2,11] =1225

AQ[1,1,2,2] =999

AQ[1,6,2,9] = 1400

AQ[4,4,3,10] =3076

AQI8,4,2,9] =355

AQ[2,2,2,12] =3556

AQI[1,1,2,6] =2363

AQ[1,6,3,8] =40

AQ[4,4,4,10] =527

AQ[8,4,3,6] =2

AQ[2,2,4,11]=1

AQ[1,1,2,8] =617

AQI1,6,3,9] =3329

AQ[5:252:2)=51631

AQ[8,4,3,9] = 1

AQ[2,3,1,13] =2

AQ[1,1,2,9] =437

AQ[1,6,4,1] = 903

AQ[5,2,3,2] =299

AQ[8,4,4,4] = 1794

AQ[2,3,1,19] =2145

AQI[1,1,2,10] = 563

AQI[1,6,4,7] =2466

AQ[5,2:343]=1301

AQ[8,4,4,6] =2

AQ[2,3,2,19] =62

AQ[1,1,3,2] = 1365

AQ[1,6,4,81=2631

AQ[5,2,3/4] = 1354

AQ[8.,4,4,8] = 3091

AQ[2,3,2,20] =2799

AQ[1,1,3,5] =13

AQ[3,4,1,2] =98

AQ[5,2,4,1]1 =457

AQI8.5,1,6] =704

AQ[2,3,3,17] =1

AQI1,1,3,6] =585

AQ[3.4,13]=1

AQ[5,2,4,3] = 3492

AQI[8.5,1.8] =1

AQ[2,3,3,19] =793

AQ[1,1,3,7]1=10

AQ[3.4,1.4)=1

AQ[5.2.4.41 =1

AQI[8,5:2,5] =108

AQ[2,3,3,20] =284

AQ[1,1,3,8] = 1335

AQ[3.4,1,5] =2809

AQ[7,6,1,3] =877

AQ[8,5,2,8] =306

AQ[2,3,4,17] =1

AQ[1,1,39] =1 AQ[3,4,2,2] = 821 AQ[7,6,1,4] = 1029 4 AQI8,5,3,5] = 1482 | AQ[2,3,4,20] =9
AQ[1,1,44] =1 AQ[3.4,23] =1 AQI[7,6,1,5] =3665 | AQ[8,5,3,6] =144 AQ[3,1,1,15] =1324
AQ[1,1,4,7]1=2097 | AQ[3,4,2,5] =283 AQ[7,6,2,4] =3699 | AQ[8,5,3,8] =3483 | AQ[3,1,1,16] =4872
AQ[1,1,48] =1 AQ[3,4,3,2] =1704 | AQ[7,6,3,1]=1767 | AQ[8,5,4,5] =2832 | AQ[3,1,1,17] =123
AQ[1,1,49] =1 AQ[3,4,3,3] =4 AQ[7,6,3,5] =1064 | AQ[8,5,4,6] =1653 | AQ[3,1,2,13]=2
AQ[1,2,1,2] =1 AQ[3,4,3,4] =1113 | AQI[8,3,1,1]=1574 | AQ[8,5,4,8] =798 AQ[3,1,2,15] =1
AQ[1,2,1,3] =1 AQ[3.443] =1 AQ[8,3,1,2] =1625 | AQ[2,1,1,15] =380 | AQ[3,1,2,17] =2313
AQ[1,2,1,4] =3298 | AQ[4,3,1,9] =507 AQ[8,3,1,3] =1 AQ[2,1,1,18] =1 AQ[3,1,3,13] =2
AQ[1,2,2,1] =1 AQ[4,3,1,10] =888 | AQ[8,3,1,6] =2805 | AQ[2,1,1,19]1 =499 | AQ[3,1,3,15] =1211

AQ[1,2,2,2] =504

AQ[4,3,2,9] = 1283

AQI8,3,2,1]1=1333

AQ[2,1,2,18] =1518

AQ[3,1,4,15] =1

AQ[1,2,2,5] =2363 | AQ[4,3,3,10] =2384 | AQ[8,3,2,3] =1 AQ[2,1,2,19] =1977 | AQ[3,2,1,16] =399
AQ[1,3,2,9] =3612 | AQ[4,3,4,2]=1 AQ[8,3,2,6] =1 AQI[2,1,2,20] =2386 | AQ[3,2,1,17] =165
AQ[1,5,1,11=3600 | AQ[4,3,4,3]=1 AQ[8,3,3,2] = 1466 | AQ[2,1,3,18] =1 AQ[3,2,1,18] =1
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AQ[3,2,1,20] =2435

AQ[5,4,1,17] =1331

AQ[5,6,3,16] = 474

AQ[2,6,2,28] =3743

AQ[6,6,3,26] =1

AQ[3,2,2,20] =1

AQI[5.,4,1,18] =2969

AQI5,6,3,18] =3211

AQ[4,5,2,28] =4847

AQ[6,6,3,27] =4099

AQ[3,2,3,16] =15

AQI5,4,2,17] =1666

AQ[5,6,3,19] =1

AQI4,5,3,28] =4470

AQ[6,6,4,27] =1

AQ[3,2,3,17] =3547

AQ[5,4,2,18] =1168

AQ[5,6,4,19] =1

AQ[4,6,1,21]1 =5

AQ[6,6,4,28] =27

AQI3,2,3,18] =1253

AQ[54,3,17] =1

AQ[6,3,1,13] =4114

AQI[4,6,1,22] =297

AQ[7,1,1,21]1 = 673

AQI3,2,3,19] =2185

AQ[5,4,3,18] =2

AQ[6,3,2,13] = 655

AQI[4,6,2,21] =1787

AQI[7,1,1,22] =464

AQ[3,2,4,16] =1949

AQ[5,4,4,18] =25

AQ[6,3,4,13] =2

AQ[4,6,2,22] = 145

AQ[7,1,1,24] =2999

AQI[3,2,4,17] =1015

AQI[5,5,1,14] =1

AQI8,6,1,11] =3941

AQI[4,6,3,21] =1586

AQ[7,1,1,25] =1

AQ[3,2,4,18] =1182

AQ[5,5,1,15] =1201

AQ[8,6,2,11] =3637

AQ[4,6,4,21] =2

AQ[7,1,2,24] =1

AQ[3,3,1,13]=1035.

AQ[5,5,2,14] =4261

AQI8,6,2,12] =2343

AQI[5,1,1,22] =1337

AQ[7,1,2,25] =4870

AQ[3,3,1,14] = 621

AQI[5,5,3,14] =3792

AQ[8,4,2;17]=4918

AQ[5,1,1,23] =2020

AQ[7,1,3,23] =331

AQ[3,3,1,15] =2281

AQI[5,5,3,15] =3544

AQ[8,4,2,19] =355

AQ[5,1,2,23] =2031

AQ[7,1,3,24] =1

AQ[3,3,2,14] =3092

AQI5,5,4,14] =1404

AQ[84;3:16] = 2

AQI5,1,3,21] =2364

AQ[7,1,3,25] =1

AQI3,3,2,15] =3092

AQ[5,5.4,15]1 =1

AQ[8,4,3,19]1=1

AQ[3,1,3,23] =416

AQ[7,1,4,24] =1871

AQ[3,3,3,14] =1

AQ[5,6,1,11] =3

AQ[8,4,4,14] =1794

AQ[5,3,1.21]1 =42

AQ[7,2,1,23] = 692

AQ[3,3,3,15] =2

AQ[5,6,1,16] =3

AQ[8,4,4,16] =2

AQ[5:3,1,22] =1658

AQ[7,2,1,26] =72

AQ[3,3,4,15] =1

AQ[5,6,1,18] = 17

AQ[8.4,4,18] =3091

AQ[5,3;2,21] = 602

AQ[7,2,1,27] =1

AQ[3,5,1,13] =4800

AQ[5,6,1,19§=3483

AQI8,5,1,16] =704

AQI5,3,2,22] =1867

AQI[7,2,1,28] =2435

AQ[3,5,2,11] =1

AQ[5,6,2,16] =4111

AQ[8,5,1,18] =1

AQI5,3,3,21] =2960

AQ[7,2,2,22] =1

AQ[3,5,2,12] =398

AQ[5,6,2,18] =1356

AQ[8,5,2,15] = 108

AQ[5,3,3,22] =1

AQ[7,2,2,23] =10

AQI3,5,2,13] =3439

AQ[5,6,2,19] =1244

AQI8,5,2,18] =306

AQ[6,4,1,22] =1684

AQ[7,2,2,24] =1735

AQ[3,5,3,11] =12

AQ[5.4,1,17] =1331

AQ[8,5,3,15] =1482

AQ[6,4,2,21] =2052

AQI[7,2,2,25] =2435

AQ[3,5,3,12] =72

AQI[5.,4,1,18] =2969

AQI8,5,3,16] =144

AQ[6,4,2,22] =1315

AQ[7,2,2,26] =2

AQI3,5,3,13] =1077

AQ[5,4,2,17] =1666

AQI8,5,3,18] =3483

AQ[6,4,3,22] =1

AQ[7,2,2,27] =2435

AQ[3,5,4,13] =1

AQI5,4,2,18] =1168

AQ[8,5,4,15] =2832

AQ[6,5,1,23] =3981

AQI[7,2,3,23] =1583

AQ[3,6,1,11] =1018

AQ[5,4,3,17] =1

AQI8,5,4,16] =1653

AQ[6,5,1,25] =401

AQ[7,2,3,26] =2360

AQI3,6,1,12] =2992

AQ[5,4,3,18] =2

AQ[8,5,4,18] =798

AQ[6,5,1,27] =1998

AQ[7,2,3,28] =1

AQI3,6,1,14] =3637

AQ[5,4,4,18] =25

AQ[2,6,1,26] =2213

AQ[6,5,4,25] =1249

AQ[7,2,4,23] = 151

AQI3,6,2,12] =3

AQI[5,5,1,14] =1

AQI2,6,1,28] =959

AQ[6,5,4,27] =1

AQ[7,2,4,24] =701

AQI[3,6,3,11] =421

AQ[5,5,1,15] =1201

AQ[2,6,2,26] =1

AQI6,6,2,27] =377

AQ[7,2,425] =1

AQ[3,6,3,12] =4119

AQ[5,5,2,14] =4261

AQ[2,6,2,27] =251

AQ[6,6,3,23] =1

AQ[7,2,4,26] =2
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AQ[7,4,1,27] =2773 | RAQ[3,3] =9000 SUR[5,5] = 3889 VAQ[5,6] = 1904 HP[5,2,28] =1
AQ[7,4,2,26] =3000 | RAQ[3.,4] = 6000 SUR[7,2] =4780 VAQ[6,3] =271 HP[5,3,28] =0
AQ[7,4,2,27] =225 | RAQ[3,5] =8900 SUR[7,4] =195 VAQ[6,4] =252 HP[5,4,28] = 14045
AQ[7,4,3,27] =1 RAQ[3,6] =10900 | SUR[7,5] = 3469 VAQ[6,5] =630 HP[6,1,28] =0
AQ[7,4427]=1 RAQ[4,3] = 5500 SUR[8,3] = 5338 VAQ[6,6] = 1506 HP[6,2,28] =0

AQ[7,5,1,23] =744

RAQ[4,4] = 4900

SUR[8,5] = 1292

VAQ[7,1]=1213

HP[6,3,28] = 4187

AQ[7,5,1,24] =2928

RAQ[4,5] =7260

SUR[8,6] = 5604

VAQ[7,2] = 2436

HP[6,4,28] = 15669

AQI7,5,1,26] =4290

RAQI[4,6] = 7000

VAQI1,1] = 8298

VAQ[7,4] =5

VHBD[1,1] =298

AQ[7,5,2,22] =2

RAQ[S5,1] =7343

VAQI1,2] = 1668

VAQ[7,5] = 779

VHBDI[1,2] = 191

AQ[7,5,2,23] =1

RAQI5,2] =3982

VAQI1,3] =712

VAQ[7,6] =501

VHBD[1,3] =170

AQ[7,5,2,24] =601

RAQ[5,3] =6300

VAQ[ 1551 = 2386

VAQ[8,3] =958

VHBDI[1,5] = 771

AQ[7,5,2,25] =3077

RAQ[5.,4] = 6800

VAQ[1,6] =5398

VAQ[8,4] = 2636

VHBD[1,6] = 2333

AQI7,5,2,26] =2670

RAQI5,5] = 10788

VAQ[2;1] =5314

VAQ[8,5] =3719

VHBD[2,1] =404

AQ[7,5,2,27] = 1

RAQ[5,6] = 12000

VAQI2,2] = 2682

VAQI8,6] =118

VHBD[2,2] = 318

AQ[7,5,3,23] =2

RAQ[6,3] =4500

VAQ[2,3] = 1096

HP[1,1,28] =7

VHBD[2,3] =232

AQ[7,5,3,24] =1200

RAQ[6,4] =4800

VAQ[2,6] =967

HP[1,2,28] =1

VHBD[2,6] = 209

AQ[7,5,3,25] =1

RAQI[6,5] = 7000

VAQ[3.17=1849

HP[1,3,28] = 3587

VHBD[3,2] = 1145

AQ[7,5,3,26] =1

RAQI[6,6] =3000

VAQ[3.,2] = 6618

HP[1,4,28] = 6361

VHBDI[3,4] = 156

AQ[7,5,3,27] =2729

RAQ[7,1] = 10000

VAQ[3,3] = 1125

HP[2,1,28] =0

VHBD[3,5] = 44

AQ[7,5,4,25] =10

RAQ[7,2] =12180

VAQ[3,4] = 836

HP[2,2,28] =0

VHBD[4,3] =293

RAQ[1,1] = 8200

RAQ[7,4] = 5995

VAQ[3,5] =900

HP[2,3,28] =2

VHBD[4,4] =279

RAQI[1,2] =4500

RAQI[7,5] = 17469

VAQ[3,6] = 1290

HP[2,4,28] = 4997

VHBDI[4,5] = 677

RAQ[1,3] =2900

RAQ[7,6] = 11600

VAQI[4,3] =2012

HP[3,1,28] =0

VHBD[5,2] = 1118

RAQ[1,5] =10200

RAQ[8,3] =10838

VAQ[4,4] =2179

HP[3,2,28] =3

VHBD[5,3] =53

RAQI[1,6] = 9400

RAQ[8,4] = 8000

VAQ[4,5] = 2056

HP[3,3,28] = 7258

VHBDI5,5] = 1265

RAQ[2,1] =4000

RAQ[8,5] =7791

VAQ[4,6] = 822

HP[3,4,28] = 10996

VHBD[5,6] = 680

RAQI[2,2] = 6600

RAQI[8,6] = 9803

VAQ[5,1] = 825

HP[4,1,28] =3

VHBDI6,6] = 846

RAQI[2,3] =5000

SUR[3,2] =529

VAQ[5,2] =4553

HP[4,2,28] =5

VHBDI[7,1] = 749

RAQI[2,6] = 6200

SUR[4,5] = 3261

VAQ[5,3] =829

HP[4,3,28] = 11395

VHBD[7,2] = 1220

RAQ[3,1] = 8000

SUR[S5,1] =43

VAQ[5,4] =362

HP[4,4,28] = 10159

VHBD[7.,4] =5

RAQ[3,2] =7528

SUR[5,2] =482

VAQ[5,5] = 3415

HP[5,1,28] =2

VHBDI[7,5] = 779
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3 alpmt]=4,,, ~ blpmt]l =y,

clpmt]=y,,, ~dpmt]=9,,,

VHBD[7,61=501 |a[329]=1 |a[646]=1 |a[3414]=1 |a[l,125]=1 |a[5126]=1
VHBD[8,3] =155 |a[3.3,11=1 |a[647]=1 |a[3.4,15]=1 |a[l,2,24]=1 a[5,1,27] =1
VHBD[8,4]=1659 |a[33.2]=1 |a[64.8]=1 |a[34,16]=1 |a[l225]=1 a[5,1,28] =1
VHBD[8,51=2399 |a[333]=1 |a[649]=1 |a[34171=1 |a[1226]=1 |a[5321]=1
VHBD[8,6]=119 |a[334]=1 |a[6,4,10]=1 |a[34,19]1=1 |a[l227]=1 a[5,3,25] =1
a[l,1,4] = a[3,3,10] =1 |a[l,1,15]=1 [a[3,420]=1 [a[l,2,28]=1 a[5,3,26] =1
a[1,3,4] = al4,1,41=1 |a[l,1,16]=1 |a[4,1,17]=1 |a[l1,3,21]=1 a[5,3,27] =1
a[1,3,5] = a[4,1,51=1 |a[l,1,18]=1 |[a[4,1,18]=1 |a[l,3,22]=1 a[5,3,28] =1
a[1,3.,6] = al4,1,6]=1 |a[l,1,19]=1 [a[44,17]=1 |a[l,3,24]=1 a[6,1,27] =1
a[1,3,7] = a[4,1,7]1=1 |a[1,1,20]=1 |a[44,18]=1 |a[2,227]=1 a6,2,21] =1
a[1,3,8] = a[42,1]1=1 [a[1,2,13]=1 |a[4,4,19]1=1 |a[24.21]=1 a[6,2,28] =1
a[1,3,9] = a[422]1=1 |a[l2,15}=1 [a[5,1,03]=1 |a[2,4,22]=1 a[6,4,21] =1
a[1,3,10] = 1 a[4,23]1=1 ,['a[l.2,16]=1 |a[51,14]=1.|a[2,4,23]=1 a[6,4,22] = 1
a[l1,4,1] = a[4,2,4] =i | [a[L,2,17=1 | [a[5)1,15] = I' |.a[2,4,24] =1 a[6,4,23] = 1
a[1,4,2] = a[4,2,51 &y | a2 181= =] a5, 302] = 1 (ai2.4,25] = 1 b[1,1.4] =1
a[1,43] = a[4,2,6k=1'"1a[1,220]=1 [a[53713]=1 |a[214,26]=1 b[1,3,4] =1
a[1,4,6] = a[4,2,7k=1| | a[T;3000= 4" Ja[5,3,14] ='1 |@af4,27] = 1 b1,4,1]=1
a[2,1,11=1 a[4,2,81=1 |a[li4,131=1_1a[53,15]=1 |a24,28]=1 b[1,43]=1
a[2,1,2] = a[4,2,9] = 4 a[ 2, 17]'= 1= Fa[5:3:16] = 1} "a[3,1,24] = 1 b[1,4,6] =1
a[2,13] =1 a[4,2,10] = 1*{a[2,2,11]1 =1 |a[54,11}=1 | a[3,3,21] =1 b[2,1,1]=1
a[2,1,5] =1 a[4,4,10] =1 | a[2,2,12] =1 fa[6,1,11]=1 |a[3,3,22]=1 b[2,1,5] =1
a[2,1,71=1 al5,1,11=1 |a[23,11]=1 [a[6,1,12]=1 |a[3,3,23]=1 b(2,1,7] =1
a[2,1.8] =1 a[5,1,81=1 |a[23,12]=1 [|a[6,2,18]=1 |a[3,3,24]=1 b[2,2,3]=1
a[2,1,9] =1 al5,2,11=1 |a[23,16]=1 [a[6,2,19]=1 |a[3,3,25]=1 b[2,24] =1
a[2,1,10] = 1 a[53,31=1 |a[23,171=1 [a[6,220]=1 |a[3.4,21]=1 b[2,3,4] =1
a[2,2,3]1=1 a[53,51=1 [a[23,18]1=1 [|a[64,11]=1 |a[42.21]=1 b[3,1,6] =1
a[2.24] =1 a[53.61=1 [a[23,191=1 [|a[64,12]=1 |a[4,2,22]=1 b[(3,1,9] =1
a[2,3.4]=1 al6,3,51=1 [a[2,320]=1 |a[6,4,14]=1 |a[4,2,23]=1 b[3,1,10] =1
a[3,1.6] = 1 al6,4,11=1 |a[32,13]1=1 |a[64,16]=1 |a[4,2,24]=1 b[3,2,6] =1
a[3,1,9] =1 al64,31=1 |a[32,14]=1 [a[l,121]=1 |a[42,26]=1 b[3,29] =1
a[3,1,10] = 1 al64,4]1=1 |a[32,15]=1 [a[l,1,22]=1 |a[51,24]=1 b[3,3,1] =1
a[3,2,6] = 1 al6,4,51=1 |a[3.4,131=1 [a[l,1,23]=1 |a[5,1,25]=1 b[3,3,10] =1
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b[4,1,4]=1 |b[6,1,11]=1 |b[4,2,26] =1 |c[4,23]=1 c[2,3,19]=1 |c[1,2,25]=1 |d[1,3,6]=1
b[4,1,7]1=1 |b[6,2,18]=1 | b[5,1,24] =1 |c[4,24]=1 c[2,3,20]=1 |c[1,2,26]=1 |d[1,3,7]=1
b[4,2,1]=1 |b[64,11]=1 |b[53,21]=1 |c[4,2,5]=1 c[3,2,13] =1 |c[1,2,27]=1 |d[1,3,8]=1
b[4,4,10] =1 | b[6,4,14] =1 | b[5,3,25] =1 | c[4,2,6]=1 c[3,2,14]=1 |c[1,2,28]=1 |d[1,39]=1
b[5,1,1]=1 |b[64,16]=1 | b[6,1,27]=1 |c[4,2,7]=1 c[3,2,15] =1 |c[2421]=1 |d[1,42]=1
b[5,1,8] =1 |b[l,1,21]=1 | b[6,2,21]=1 | c[4,2,8] =1 c[3,4,13]=1 |c[2422]=1 |d[2,1,1]=1
b[5,2,1]1=1 |b[1,1,25]=1 | b[6,2,28] =1 | c[4,29] =1 c[3,4,14]=1 |c[2,423]=1 |d[2,1,2]=1
b[5,3,3] =1 |b[1,2,24] =1 | b[6,421]=1 |c[4,2,10]=1 |c[3,4,15]=1 |c[2/424]=1 |d[2,1,3]=1
b[5,3,5]=1 |b[1,3,21]=1 | b[64,22]=1 |c[5,1,1]=1 c[3,4,16]=1 |c[2,425]=1 |d[2,1,7]=1
b[5,3,6]=1 |b[1,3,22]=1 | b[6,4,23]=1 | c[5,2,1]=1 c[3,4,17]=1 |c[2,426]=1 |d[2,1,8]=1
b[6,3,5]=1 |b[1,3,24] =1 |c[1,3,5] =1 c[64,1]=1 c[3,420]=1 |c[2,427]=1 |d[2,19]=1
b[6,4,1]=1 |b[2,227]=1 |c[1,3,6]=1 {c[643]=1 c[4,1,17]=1 | c[2,4,28]=1 |d[3,1,6]=1
b[1,1,15] =1 | b[24,21]=1 |c[1,3)7]=1 |c[644]=1 c[4,1,18] =1 |c[3,3,22]=1 |d[3,1,10]=1
b[1,1,18] =1 | b[3,1,24] =1 | c[1,3,8] =1 c[64,5]=1 cl4,4,18]=1 |c[3,3,23]=1 |d[3,3,1]=1
b[1,2,13] =1 | b[3,3,21] =1 |cfl,39]=1 |c[64,6]=1 c[4,4,19] == | c[3,3,24] =1 |[d[3,3,2] =1
b[1,2,15] =1 | b[3,4,21]=1 | c[1,3,10] =1 | ¢[6.4,7] =1 c[5,1,13] = | c[3,3,25] =1 |d[3,3,3]=1
b[1,2,20] =1 | b[4,2,21] =1 | c[1i4.2] =1 " |ic[6:4:8)=-1 ¢lo,1,14] =1 | c[4,2,22]=1 |d[3,3,10]=1
b[1,3,19] =1 | b[4,2,26] =1 | c[2,1,2]=1"".c[6,4,9]=1 c[5,1,15] =1 |c[4,2,23]=1 |d[4,14]=1
b[1,4,13] =1 | b[5,1,24] =1 | c[2,1,3]=1 | c[6,4,10] =1 [c[53,13]=1 |c[4,2,24]=1 |d[4,1,5]=1
b[2,1,17] =1 | b[5,3,21]=1 | c[2,1,7]=1 " e[l,1,16]=1 7| ¢[53,14]=1 |c[5,1,24]=1 |d[4.2,1]=1
b[2,2,11]=1 | b[5,3,25] =1 | c[2,1,8] =1 c[1,1,L19] =1 |c[53,15]=1 |c[51,25]=1 |[d[422]=1
b[2,3,11] =1 | b[6,1,27] =1 | c[2,1,9]=1 |c[1,1,20]=1 |c[5,3,16]=1 |c[5,1,26]=1 |d[4,2,3]=1
b[2,3,16] =1 | b[6,2,21]=1 | c[2,1,10]=1 |c[1,2,16]=1 |c[6,1,11]=1 |c[5127]=1 |d[424]=1
b[3,2,13] =1 | b[6,2,28] =1 | ¢[3,3,1] =1 c[1,2,17]=1 |c[6,1,12] =1 | c[5,1,28] =1 |[d[4,2,5]=1
b[3,4,13] =1 | b[6,4,21]=1 |c[3,3,2]=1 |c[1,2,18] =1 |c[6,2,19]=1 |c[53,21]=1 |d[4,2,6]=1
b[3,4,19] =1 | b[6,4,22] =1 | ¢[3,3,3] =1 c[2,2,11]1=1 |[c[6,220]=1 |c[5,3,26]=1 |[d[4.2,7]=1
b[4,1,17] =1 | b[6,4,23] =1 | c[3,34]=1 |c[2,2,12]=1 |c[64,11]=1 |[c[53.27]=1 |d[4,2,8]=1
b[4,4,17] =1 | b[3,1,24] =1 | c[4,1,4] =1 c[23,11]1=1 |c[64,12]=1 |c[53.28]=1 |[d[4.29]=1
b[5,1,13] =1 | b[3,3,21]=1 | c[4,1,5]=1 |c[2,3,12]=1 |c[l,1,21]=1 |c[6,2,21]=1 |d[4,2,10]=1
b[5,3,12] =1 | b[3,4,21]=1 |c[4,1,6]=1 |c[2,3,17]=1 |c[l,1,22]=1 |d[1,34]=1 df6,4,1]=1
b[5,4,11]=1 | b[4,2,21]=1 |c[4,2,2] =1 c[2,3,18]=1 |c[l,1,23]=1 |d[1,3,5]=1 d[6.4,3]1=1
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dl6.44]=1 |[d[4,1,17]=1 |d[3,3,21]=1 |U[3,3]=1 U[84]=1
df6,4,5]=1 |[d[44,17]=1 |d[3,3,22]=1 |U[34]=1 U[8,5]=1
d[6,4,6] =1 d[4,4,18]1=1 |d[3,3,23]=1 | U[3,5]=1 U[8,6]=1
df6.4,71=1 |d[5,1,13]=1 |[d[3,3,24]=1 | U[3,6]=1
d[6.4,8] =1 d[5,1,14]=1 |d[4,2,21]=1 |U[4,1]=1
d[6,4,9]1 =1 d[5,3,12] =1 |d[4,2,22]=1 | U[4,2]=1
d[6,4,10] =1 [d[5,3,13]=1 |d[4,2,23]=1 |U[43]=1
d[1,1,15] =1 | d[5,3,14] =1 [d[5,1,24]=1 | U[44]=1
d[1,1,16] =1 [d[5,3,15]=1 |d[5,1,25]=1 |U[4,5]=1
d[1,1,18] =1 |d[6,1,11]=1 [d[5,1,26]=1 | U[4,6]=1
d[1,1,19] =1 (d[6,1,12] =1 |d[5,1,27]=1 [U}5:1}=1
d[1,1,20] =1 [d[6,2,18] =1 |d[5,1,28]'=1 [U[52]=1
d[1,2,15] =1 | d[6,2,19] =1 [d[5,3,25]=1 | U[5§3]=1
d[1,2,16] =1 |d[6,2,20] =1 |d[5,3.26] =1 | U[5.4]=1
d[1,2,17]=1 |d[64,11]=1 |d[5,3.27]=1 |U[5,5]=1
d[2,2,11]=1 |[d[6,4,12] =1 | d[5:3,28]=1 | U[5,6]=1
d[2,2,12]=1 | d[1,1,21] =1 |d[6,2,28] =1 [U[6,11=1
d[2,3,11]=1 |d[1,1,22] =1 | U[L1]=1 Ul6,2] =1
d[2,3,16]=1 (d[1,1,23]=1 |U[L,2]=1 U[6,3] =1
d[2,3,171=1 | d[1,2,24]=1 |U[1,3]=1 ul6,4] =1
d[2,3,18] =1 [d[1,2,25]=1 |U[l4]=1 U[6,5] =1
d[2,3,19]1=1 |d[1,2,26]=1 |U[L,5]=1 Ul6,6]=1
d[2,3,20] =1 [d[1,2,27]=1 |U[L,6]=1 U[7,1]1=1
d[3,2,13] =1 [d[2,4,21]=1 |U[2,1]=1 U[7,2] =1
d[3,2,14] =1 |d[2,422]=1 |U[2,2]=1 U[7,3]=1
d[3,4,13] =1 [d[2,4,23]=1 |U[2,3]=1 U[74] =1
d[3,4,14] =1 |d[2,424]=1 |U[24]=1 U[7,5]=1
d[3,4,15] =1 [d[2,4,25]=1 |U[2,5]=1 U[7,6] =1
d[3.4,16] =1 |d[2,426]=1 |U[2,6]=1 U[8,1]=1
d[3,4,19]1=1 |d[2,427]=1 |U[3,1]=1 U[8,2] =1
d[3,4,20] =1 [d[2,4,28]=1 |U[3,2]=1 U[83]=1
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X[1,1,1,1] =1473

X[3,4,3,4] =423

X[6,3,2,1] =500

AQ[2,6,3,4] =900

RAQ[1,4] = 6997

X[1,1,3,1] =1024

X[4,1,2,5] =909

X[6,3,2,4] = 141

AQ[2,6,4,4] = 600

RAQ[1,5] =2950

X[1,1,3,2] = 1003

X[4,1,4,5] = 3089

X[6,4,2,1] =400

AQ[3,3,1,1] = 1500

RAQ[2,2] =7532

X[1,2,1,1] =561

X[4,2,2,5] = 2090

X[6,4,2,4] =600

AQ[3,3,1,2] =709

RAQI[2,6] = 6000

X[1,2,3,1] =839

X[4,2,4,4] = 1106

AQ[1,1,1,1] =2497

AQ[3,3,1,3] =2791

RAQ[3,3] =9994

X[1,2,3,2] = 800 X[4,2,4,5] =1 AQ[1,1,1,2] = 1003 | AQI[3,3,2,1] = 1498 | RAQI3,5] = 6000
X[1,3,1,1]=1 X[4,3,2,5] =1 AQ[1,1,2,1]1 =1400 | AQI[3,3,2,2] =598 | RAQ[4,5] =5500
X[1,3,3,1]1 =499 X[4,3,4,4]=1183 | AQ[1,1,2,2] =800 | AQ[3,3,2,4] =2204 | RAQ[4,6] = 5000
X[1,43,1]=1 X[4,3,4,5] =1 AQ[1,1,3,1]1=500 | AQI[3,3,3,1]=2 US[1,1] =1775
X[2,1,1,3] =1 X[4,4,4,5] =1 AQ[1,1.4,1]=1 AQ[3,3,3,3] =209 | US[1,4]=2
X[2,1,4,2] = 1894 | X[5,1,1,5] =4174 | AQ[1.4,1,5}=3998 | AQ[3,3,3,4] = 1083 | US[1,5] =549
X[2,1,4,3]1 =2304 | X[5,1,2,1] =844 AQ[1,4,2,4] =1106 | AQ[3,3,4,4] =423 | US[2,2] =467
X[2,2,1,2] = 1790 | X[5,1,2,3] =2482 | AQ[14:2,5]=2091 | AQ[3,5,1,1]=181 |US[3,3]=5

X[2,2,1,3] = 2360

X[5,2,1,5]'= 252

AQ[1,4,3.4] = 1183

AQ[3,5,1,5] =4174

VAQ[1,1] =1976

X[2,2,4,3] =50

X[5,2,2,11 =208

AQ[1,4,3,5]=2

AQ[3,5,2,3] = 1248

VAQ[1,4] = 1384

X[2,3,1,1] =256

X[5,2,2,2] = 3792

AQ[1.4,4.5]=1

AQ[3.5,2,5] =252

VAQ[1,5] = 531

X[2,3,1,2] = 643

X[5,2,2,3] = 1248

AQI1.5,1,3]1=2482

AQ[3,5:4,1] =397

VAQ[2,2] = 1853

X[2,3,1,3] =1 X[5,3,2,1] =599 AQ[1,5,3.3]=999 | AQ[3,5,44]=3 VAQ[2,6] = 1416
X[2,4,1,2] =3 X[5,3,2,2] =501 AQ[1,5,34] =1 AQ[3,5,4,5] =162 | VAQ[3,3] =1022
X[2,4,1,3] =1 X[5,3,2,3] =999 AQI[2,2,1,2] = 1894 '| AQ[4,5,1,1] =662 | VAQ[3,5] =418
X[2,4,4,3] =82 X[5,3,24] =1 AQ[2,2,1,3] =2305 | AQ[4,5,2,1] =208 | VAQ[4,5] =700
X[3,1,3,2] =709 X[5.4,1,4]=3 AQ[2,2,2,2] =1790 | AQ[4,5,2,2] =3792 | VAQI[4,6] =2084

X[3,1,3,3] =2791

X[5,4,1,5] =162

AQ[2,2,2,3] =2410

AQ[4,5,3,1] =599

HP[1,1,0] = 1000

X[3,1,4,1] = 1500

X[5,4,2,1]1 =399

AQ[2,2,3,1] =256

AQ[4,5,3,2] =501

HP[1,1,1]=3

X[3,2,3,2] =2

X[5,4,2,2] =436

AQ[2,2,3,2] =643

AQ[4,5.4,1]=2

HP[1,2,0] =800

X[3,2,3,4] = 1586

X[6,1,1,4] = 3688

AQ[2,2,3,3] =1

AQ[4,5,4,2] =436

HP[1,3,0] =300

X[3,2,4,1] = 1498

X[6,1,2,1] =496

AQ[2,2,42] =3

AQ[4,6,1,4] =4194

HP[1,4,0] =200

X[3,2,4,2] =596

X[6,1,2,4] = 1616

AQ[2,2,4,3] = 83

AQ[4,6,2,1] = 1000

HP[1,4,1] = 299

X[3,2,4,4] =618

X[6,2,2,1] = 1000

AQ[2,6,1,11 =496

AQ[4,6,2,4] =989

HP[1,4,2] =299

X[3,3,3,3] =209

X[6,2,2,4] =989

AQ[2,6,1,4] = 1109

AQI[4,6,3,1] =500

HP[1,4,3] =299

X[3,3,3,4] = 1083

X[6,2,3,5] =4311

AQ[2,6,2,5] =4311

AQ[4,6,4,1] =400

HP[1,4,4] =299
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VHBD[1,4] =326 |a[6,1,3]=1 |[c[34,1]=1 U[1,2]=1 RC[3,3] =3
VHBD[1,5] =133 |a[6,1,4]=1 |[c[3.42]=1 U[L,3]=1 RC[3,4] =11
VHBD[2,2] =49 al6,2,11=1 |c[344]=1 U[1,6]=1 RC[3,5] =4716
VHBD[2,6] =329 |a[6,24]=1 |[c[44)5]=1 U[2,1]=1 RC[4,1]=3
VHBDI[4,5] =590 |a[6,3,3]=1 |c[5,1,5]=1 U[2,3]=1 RC[4,2] =5
a[l,1,1]=1 a[6,3,5]=1 |c[522]=1 U24]=1 RC[4,3] =15
a[l1,3,1] =1 b[1,1,1]=1 |c[523]=1 U[2,5] =1 RC[4,4] =21
a[l,3,2] =1 b[1,3,1]1=1 [c[5,24]=1 U[2,6]=1 RC[4,5] =11
a[2,1,1] =1 b[2,1,1]=1 |c[52,5]=1 U[3,1]=1

a[2,1,2] =1 b[2,1,5]=1 |[c[6,1,4]=1 U[3.2]=1

a[2,1,3] =1 b[2,42]=1 |c[6,2,1]=1 U[34]=1

a[2,1,5] =1 b[3,3,2]=1 [d[L3.,1]=1 U[3,5] =1

a[24.2]=1 b[3,4,1]=1 ¢ {d[2,1,1]=1 U[3,6] =1

a[243]=1 b[3,4,4] =1 |[d[2,1,2]=1 Ul4,1]=1

a[3,3,2] =1 b[4,2,5] =1 | [d[24.2] =1 Ul4,2]=1

a[3,3,3]=1 b[4,4,4] =1 |[d[2,43]=1 U[4,3] =1

a[3,34]=1 b[5,1,4] =1 [ d[33,2]=1 Ul44]=1

a[3,3,5] =1 b[5,2,1] =1 [d[3;3,3] =1 Uj4.,5] =1

a[3.4,1]1=1 b[6,1,3]=1 1d[3,3.4]=1 U[4,6] =1

a[34.2]=1 b[6,2,1]1=1 [d[3.41]=1 RC[1,1]1=0

a[344]=1 b[6,2,4] =1 [d[444]=1 RC[1,2] =15

a[4,2,5] =1 b[6,3,3]=1 [d[44,5]=1 RC[1,3] =24

a[444]=1 b[6,3,5]=1 [d[5,1,4]=1 RC[1,4] = 2353

a[4,4,5]=1 c[1,3,1]=1 [d[5,1,5]=1 RC[1,5] =7

a[5,14]=1 c[1,32]=1 [d[5,2,1]=1 RC[2,1] =13

a[5,1,5] =1 c[2,1,1]=1 [d[5,2,2] =1 RC[2,2] =10

a[5,2,1]1=1 c[2,1,2]=1 [d[5,23]=1 RC[2,3] =10

a[5,2,2]=1 c[2,1,3]=1 [d[5,24]=1 RC[2,4] =21104

a[5,2,3]=1 c[2,43]=1 [d[5,25]=1 RC[2,5] =3

a[5,24]=1 c[3,3,3]=1 |d[6,1,3]=1 RC[3,1] =24

a[5,2,5]=1 c[3,34]=1 |d[63,5]=1 RC[3,2] =18
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X[1,1,1,2] = 1832

X[4,2,3,3] = 2907

X[6,2,3,4] = 2667

NAR[5,3,5] =1

AQ[3,3,3,4] = 1295

X[1,1,3,1] = 2293 X[4,3,1,5] =92 X[6,2,3,5] = 3185 AQ[1,1,1,1]1=2293 | AQ[3,3,4,3] =58
X[1,2,1,2] = 531 X[4,3,2,5] = 1091 X[6,3,1,3] =1 AQ[1,1,1,2] = 1832 | AQI[3,3,4,4] =231
X[1,2,3,1]1 =2 X[4,3,3,3] =1 X[6,3,1,4] =1 AQ[1,1,2,1]=2 AQ[3,5,1,1] =15
X[1,2,3,2] = 2281 X[5,1,4,1] =3900 X[6,3,3,4] =446 AQ[1,1,2,2] =2812 | AQ[3,5,1,5] =484
X[1,3,3,1] =68 X[5,1,4,2] =518 X[6,4,1,3] =1 AQ[1,1,3,1] =68 AQ[3,5,2,3] = 1438
X[1,3,3,2] =82 X[5,1,4,4] =2998 X[6,4,1,4] =1 AQ[1,1,3,2] =82 AQ[3,5,24] =1
X[2,1,1,1] = 2291 X[5,1,4,5] =484 X[6,4,1,5] =786 AQ[1,4,1,3]1 =92 AQ[3,5,2,5] =4243
X[2,1,2,2] = 389 X[5,2,1,3] = 1438 X[6,4,3,5] =1 AQ[1,4,1,5]=3906 | AQ[3,5,3,5]=1
X[2,1,4,2] = 1881 X[5,24,1] =16 NAR[LL1] =1 AQ[1,4,2,3]1 =2907 | AQ[3,5,4,3] =374
X[2,2,2,1] = 2363 X[5,2,4,2] =2 NAR[1,1,2] = 699 AQ[1,4,2,5] =293 AQ[3,5,4,4] =623
X[2,2,2,2] = 1962 X[5,2,44]=1 NAR[1,2,1] =613 AQ[1,43,3]=1 AQ[3,5,4,5] =1
X[2,2,4,2] =1 X[5,2,4,5] =4243 NAR[1,2,2].=1 AQ[1,4,3,5]=1183 | AQ[4,5,1,1] =3884
X[2,3,2,2] =85 X[5,3,1,3}=12 NAR[2,1,1} =215 AQ[1,5:1,4] =2998 | AQ[4,5,1,2] =518
X[2,3,2,3] =873 X[5,3,4,1}=672 NAR[2,1,2] = 168 AQ[L,5:3,3] =12 AQ[4,5,2,1]1 =16
X[2,3,4,2] =1 X[5,3,4,2}=411 NAR[2,1,3] =1 AQ[1,53,4] =1107 | AQ[4,5,2,2] =2
X[3,1,1,4] = 1471 X[5,3,4,4] =1107 NAR[2,2,1] =-124 AQ[2,2,1,11 =2291 | AQ[4,5,3,1] =672
X[3,1,2,3] =575 X[5,3.4,5]=1 NAR[2,2,2] =2 AQ[2,2,1,2] =2270 | AQ[4,5,3,2] =411
X[3,1,2,4] =1 X[5,4,1,3] =374 NAR[2,3,1] = 172 AQ[2,2,2,11=2363 | AQ[4,5.4,2] =2
X[3,1,4,3] = 3000 X[5.4,42] =2 NARI[3,I1F=5 AQ[2,2,2,2] =1963 | AQ[4,6,1,2] =1
X[3,2,14] =1 X[5,4,4,4] =623 NAR[3,1,3] =43 AQ[2,2,3,2] = 86 AQ[4,6,1,3] = 1436
X[3,2,2,3] = 1258 X[5,4,4,5] =1 NAR[3,1,4] =2 AQ[2,2,3,3] =873 AQ[4,6,1,4] = 1478
X[3,2,2,4] = 3089 X[6,1,1,2] =1 NAR[3,2,1] =48 AQ[2,6,1,3] = 1325 | AQ[4,6,2,3] =1
X[3,3,1,4] = 1295 X[6,1,1,3] = 2761 NAR[3,3,1]=2 AQ[2,6,1,5] = 1560 | AQ[4,6,2,4] =2668
X[3,3,2,3] =1 X[6,1,1,4] =3 NAR[4,2,5] =3 AQ[2,6,2,5] =3186 | AQ[4,6,3,3]=1
X[3,4,1,4] =229 X[6,1,1,5] = 158 NAR[5,1,1] =400 AQ[2,6,4,5] =787 AQ[4,6,3,4] =447
X[3,4,2,3] =58 X[6,1,3,4] = 1475 NAR[5,2,1] =199 AQ[3,3,1,3] =3575 | AQ[4,6,4,3]=1
X[3.4,2,4] =2 X[6,1,3,5] = 1402 NAR[5,2,2] =1 AQ[3,3,1,4] =1472 | AQ[4,6,4,4] =1
X[4,1,1,5] = 1997 X[6,2,1,3] =1 NAR[5,3,1] =72 AQ[3,3,2,3] = 1258 | RAQ[1,1] =4958
X[4,1,2,5] = 1909 X[6,2,1,4] =1 NAR[5,3,3] =18 AQ[3,3,2,4] =3090 | RAQ[1,4] =6999
X[4,1,3,3] =92 X[6,2,1,5] =1 NAR[5,3,4] =12 AQ[3,3,3,3] =1 RAQI[1,5] =3500
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RRO3.51=8300 | HP[3.4.0]=1 HP[4,3,5] =3 HP[4,2,8] = 3000 | p{B[b2]33 + 4799
RAQ[3,3] =9997 | HP[1,4,1]=1 HP[3,2,0] = 1500 HP[4,4,1]=1 HP[6,2,4] = 3631
RAQ[3,5] =6000 | HP[1,4,2]=1 HP[3,2,1] = 1548 HP[4,4,2] =1 HP[6,2,5] = 445
RAQ[4,5] =5500 | HP[1,43]=1 HP[3,2,2] = 3348 HP[4,4,3] =1 HP[6,3,0] =500
RAQ[4,6] =5000 | HP[1,4.4]=1 HP[3,2,3] = 3090 HP[4,4,4] =1 HP[6,3,1] =500
US[1,1] =1042 HP[1,4,5] =1 HP[3,3,0] =494 HP[4,4,5] =1 HP[6,3,2] = 1400

US[1.4]=1 HP[2,1,0] = 1199 HP[3,3,1] =496 HP[5,1,0] = 1500 HP[6,3,3] = 1399
US[3,3] =3 HP[2,1,1] =123 HP[3,3,2] = 1096 HP[5,1,2] =482 HP[6,3,4] =952
VAQ[1,1]=2131 | HP[2,1,2] =21 HP[3,3,3] = 1295 HP[5,1,3] = 3482 HP[6,3,5] =952
VAQI[1,4] =1383 | HP[2,1,3] =22 HP[3,4,0] =223 HP[5,1,4] =484 HP[6,4,0] =400
VAQ[1,5] =617 HP[2,1,4] =22 HP[3,4,1] =423 HP[5,2,0] = 1500 HP[6,4,1] =400
VAQ[2,2] =1846 | HP[2,1,5] =22 HP[3,4,2] =423 HP[5,2,1] =2683 HP[6,4,2] = 400

VAQ[2,6] = 858

HP[2,2,0] =1200

HP[3,4,3] = 365

HP[5,2,2] = 4182

HP[6,4,3] =999

VAQ[3,3] =983

HP[2,2,1] =961

HP[3,4,4] =134

HP[5,2,3] = 4244

HP[6,4,4] =998

VAQ[3,5] = 1181

HP[2,3,01'= 400

HP[3,4,5] = 134

HP[5,2,4] = 4243

HP[6,4,5] =211

VAQ[4,5] =5

HP[2,3,11=1072

HP[4,1,0] =998

HP[5,3,0] = 600

VHBD[1,4] =326

VAQI[4,6] = 1034

HP[2,3,2] =986

HP[4,1,17=998

HP[5.,3,2] = 89

VHBD[1,5] =149

HP[1,1,0] = 1000

HP[2,3,3] = 143

HP[4,1,2] =2998

HP[5,3,3] = 1095

VHBD[2,2] =30

HP[1,1,1] =208

HP[2,3,4] =113

HP[4,1,3] = 3906

HP[5,4,0] =400

VHBD[3,5] =577

HP[1,1,2] =75 HP[2,3,5] =113 HP[4,1,4] =3906 HP[5,4,1] =400 VHBD[4,6] = 61
HP[1,1,3] =75 HP[2,4,0] = 86 HP[4,2,0] = 1197 HP[5,4,2] =998 a[l1,1,2] =1
HP[1,1,4] =75 HP[2,4,1] = 86 HP[4,2,1] = 1197 HP[5,4,3] =624 a[1,3,1] =1
HP[1,1,5] =75 HP[2,4,2] = 86 HP[4,2,2] = 1197 HP[5,4,4] =1 a[1,3,2] =1
HP[1,2,0] =800 HP[2,4,3] = 86 HP[4,2,3] =290 HP[6,1,0] = 1300 a[1,34]=1
HP[1,2,1]=2011 | HP[2,4,4] =86 HP[4,2,4] =290 HP[6,1,1] = 2800 a[1,3,5]=1
HP[1,3,0] =300 HP[2,4,5] = 86 HP[4,3,0] =500 HP[6,1,2] = 4799 a[2,1,1]1=1
HP[1,3,1] =432 HP[3,1,0] =1500 | HP[4,3,1] =500 HP[6,1,3] = 3038 a[2,2,1]1=1
HP[1,3,2] =350 HP[3,1,1] =1505 | HP[4,3,2] = 1185 HP[6,1,4] = 1560 a[2,2,2] =1
HP[1,3,3] =350 HP[3,1,2] =3005 | HP[4,3,3] =1184 HP[6,2,0] = 1000 a[2,2,3] =1
HP[1,3,4] =350 HP[3,1,3] =1473 | HP[4,3,4] =1184 HP[6,2,1] = 1000 a[2,42] =1
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a[3,23]=1 b[4,1,5] =1 d[2,2,1]1=1 U[3,6] =1
a[3,24]=1 b[4,2,5] =1 d[2,2,2] =1 U[4,1]1=1
a[3,2,5] =1 b[4,3,2] =1 d[3,2,3]=1 Ul4,2] =1
a[3,43]=1 b[5,1,3] =1 d[3,24] =1 U[4,3]=1
a[4,1,5] =1 b[5,4,1]=1 d[4,2,5]1=1 Ul44]=1
af[4,2,5] =1 b[6,1,1] =1 d[4,3,2]=1 U[4,5]1=1
a[4,3,2] =1 b[6,3,3] =1 d[5.4,1]1=1 U[4,6] =1
a[4,3,3]=1 b[6,3,5] =1 d[5.4,2]1=1 RC[1,1]1=0
a[5,1,3]=1 c[1,3,1]=1 d[5,4,3] =1 RC[1,2] =7
a[54,1]=1 c[1,3,2] =1 d[5.4,4]1=1 RC[1,3] =7
a[5,42]=1 c[1,3,5]=1 d[54:5] =1 RC[1,4] =5
a[54,3]=1 c[2,2,1]=1 df6,1,1]=1 RC[1,5] =3
a[544]=1 c[2,2,2]=1 d[6,1,2}=11 RC[2;1] =24
a[5,4,5]=1 c[2,23]=1 df6,1,3] =1 RC[2,2] =15
al6,1,1]=1 c[3,24]=1 df6,1,4] =1 RC€[2,3] =2
al6,1,2] =1 c[3,2,5] =1 d[6,1,5] =1 RC[2.4] = 11
a[6,1,3] =1 c[4,3,3]=1 d[6,3.31=1 RC[2,5]=3
al6,1,4] =1 c[54,1]=1 (55 2=l RC[3,1] =24
af6,1,5]=1 c[54.2]=1 U[1,3] =1 RC[3,2] =24
a[6,3,3] =1 c[543]=1 W EI=N RC[3,3] =3
a[6,34] =1 c[5.44]=1 U[l,6] =1 RC[3,4] =7
a[6,3,5] =1 c[54,5]=1 U[2,1]=1 RC[3,5] =7
b[1,1,2] =1 c[6,1,1]=1 U[2,2] =1 RC[4,1] =7
b[1,3,1]=1 c[6,1,2] =1 U[2,3] =1 RC[4,2] =3
b[1,3,4] =1 c[6,1,3] =1 U24]=1 RC[4,3] =3
b[2,1,1]=1 c[6,1,4] =1 U[2,5] =1 RC[4,4] =10
b[2,2,1] =1 c[6,1,5]=1 U[2,6]=1 RC[4,5] =10
b[2,4,2] =1 c[6,34]=1 U[3,1]=1

b[3,1,4] =1 d[1,3,1]=1 U[3,2] =1

b[3,2,3] =1 d[1,34]=1 U[34]=1

b[3,4,3] =1 d[1,3,5] =1 U[3,5]=1
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X[1,1,2,1] =12 X[3.,4,3,2] =2 X[5,3,1,2] =415 AQ[1,4,3,5] =91 AQI3,5,1,3] =466
X[1,1,3,1] = 2361 X[3.4,34]=1 X[5,3,3,3] = 1069 AQ[1,4.4,1]=1 AQ[3,5,14] =1
X[1,1,3,2] = 1827 X[3.44,1]1=1 X[5,3,3,5] =46 AQ[1,4,4,2] =96 AQ[3,5,2,3] =4
X[1,2,2,1]1=1447 | X[4,1,14]=1 X[5,4,3,3] =2 AQ[1,4,4,4] =2 AQI[3,5,2,5] =5679
X[1,23,1]=1 X[4,1,1,5] =2516 | X[5,4,3,4] =996 AQ[1,4,4,5]1 =480 | AQI[3,5,3,5] =46
X[1,2,3,2] =535 X[4,1,42] =1482 | X[5,4,4,5] =1 AQ[1,5,1,3] =3046 | AQ[3,5,4,3] =2
X[1,3,3,1]=1 X[4,143]=1 X[6,1,1,3] =412 AQ[1,5,3,3]1 =1069 | AQI[3,5,4,4] =996
X[2,1,1,2] = 1823 X[4,2,14]=1 X[6,1,2,3] =1 AQ[2,2,1,1] =65 AQ[3,5,4,5] =1
X[2,1,2,1] =65 X[4,2,1,5] =5 X[6,1,2,4] =2034 | AQ[2,2,1,2] = 1824 | AQ[4,5,1,1] =3899
X[2,1,2,2] =1 X[4,2,4,2] = 108 X[6,1,2,5] = 3189 AQ[2,2,1,3] =2683 | AQ[4,5,1,2] =487
X[2,1,2,3] =1447 | X[4,2,43] =1 X[6,2,2,4] = 2555 AQ[2,2,2,1]1=766 | AQ[4,5,2,1]=17
X[2,1,4,3] =1236 | X[4,2,4,4] =3089 | X[6,2,3,5] =3448 AQ[2,2,2,2] =2436 | AQ[4,5,3,1] =672
X[2,2,1,2] =2 X[4,2,4,5] =1 X[653,1.3] =1 AQ[212,2,3] = 1124 | AQ[4,5,3,2] =415
X[2,2,2,1] =766 X[4,3,14]=1 X16,3,2,5] = 1399 | AQ[2,2,3,1] =1 AQ[4,6,1,3] =413
X[2,2,2,2] =2434 | X[4,3,1,57=091 X[6,4,2,4] =140 AQ[2,232] =2 AQ[4,6,1,4] =2034
X[2,2,4,3] = 1124 X[4,3,4,2]=1406 | AQ[L,1,1:1] =2373 | AQ[2,2,3.3] =917 | AQ[4,6,2,4] = 2555
X[2,3,1,2] =1 X[4,3,4,3]=1 AQ[Iylsls2)=-1827+| AQ[2,6,1,5] =3189 | AQ[4,6,4,4] = 140
X[2,3,2,1]=1 X[4,3,4,4] =1 AQI[1,1,2,1]=1448 | AQ[2,6,2,5] = 3448 | RAQ[1,1] =4562
X[2,3,2,2] =1 X[4,4,1,5] =480 AQ[1,1,2,2] =535+ | AQ[2,6,3,3] =1 RAQI[1,4] =7000
X[2,3,2,3] =916 X[4.4,4,1]=1 AQH TR AQ[2,6,3,5] =1399 | RAQ[1,5] = 3500
X[2,3,4,3] =1 X[4,4,4,2] =96 AQ[1,4,1,2] =1482 | AQ[3,3,1,1] =1360 | RAQ[2,2] =7990
X[3,1,1,4] =1340 | X[4,4,4,4]=2 AQ[1,4,1,3]=1 AQ[3,3,1,4] =3686 | RAQ[2,6] = 6000
X[3,1,3,4] =2346 | X[5,1,1,1] =3899 AQ[14,14]=1 AQ[3,3,2,1] = 1545 | RAQ[3,3] = 10000

X[3,1,4,1] = 1360

X[5,1,1,2] =487

AQ[1,4,1,5] =2516

AQI[3,3,2,3] = 1426

RAQI[3,5] = 6000

X[3,2,1,3] = 1426

X[5,1,3,3] = 3513

AQ[1,4,2,2] =108

AQ[3,3,2,4] = 1377

RAQ[4,5] = 5490

X[3,2,1,4] = 1377 X[5,1,34] =1 AQ[1,4,23] =1 AQ[3,3,3,3] =1301 | RAQ[4.,6] = 5000
X[3,2,4,1] = 1545 X[5,2,1,1]1 =17 AQ[1,4,2,4] =3090 | AQ[3,3,3,4] =1 US[1,1] = 1438
X[3,3,1,3] = 1301 X[5,2,3,3] =4 AQ[1,4,2,5] =6 AQ[3,34,1]=1 US[2,2] =10
X[3,3,34] =1 X[5,2,3,5] = 1094 AQ[1,4,3,2] = 1406 | AQ[3,3,4,2] =2 US[4,5] =10
X[3.4,1,3] =3 X[5,2,4,5] = 4585 AQ[1,4,3,3] =1 AQ[3,3,4,3] =3 VAQ[1,1]=1622

X[3,4,1,4] =280

X[5,3,1,1] =672

AQ[1,4,34]=2

AQ[3,3,4,4] = 281

VAQ[1,4] =2284
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VAQ[1,5] = 616

HP[2,1,5] =12

HP[3,4,1] =599

HP[5,2,1] =2682

HP[6,3,4] = 1399

VAQI2,2] = 1828

HP[2,2,0] = 1200

HP[3,4,2] =597

HP[5,2,2] =4183

HP[6,4,0] =400

VAQI[2,6] =2037

HP[2,2,1] = 2558

HP[3,4,3] =594

HP[5,2,3] = 5679

HP[6,4,1] =400

VAQ[3,3] =983

HP[2,2,2] = 1124

HP[3,4,4] =313

HP[5,2,4] =5679

HP[6,4,2] =400

VAQ[3,5] = 1195

HP[2,3,0] =400

HP[3,4,5] =313

HP[5,3,0] = 600

HP[6,4,3] = 1000

VAQ[4,6] = 142

HP[2,3,1] = 1071

HP[4,1,0] = 1000

HP[5,3,2] =85

HP[6,4,4] = 860

HP[1,1,0] = 1000

HP[2,3,2] = 1069

HP[4,1,1] = 1000

HP[5,3,3] =34

HP[6,4,5] = 860

HP[1,1,1] =128

HP[2,3,3] =152

HP[4,1,2] = 1518

HP[5,3,4] =46

VHBD[1,4] =502

HP[1,2,0] =800

HP[2,3,4] =152

HP[4,1,3] =2517

HP[5,3,5] =1

VHBDI[1,5] = 142

HP[1,2,1] = 565

HP[2,3,5] =152

HP[4,1,4] =2516

HP[5,4,0] =400

VHBD[2,2] =25

HP[1,2,2] =831

HP[2,4,0] =200

HP[4:2,0}= 1200

HP[5,4,1] =400

VHBD[2,6] = 80

HP[1,2,3] = 831

HP[2,4,1] =200

HP[4,2,1] = 1200

HP[5,4,2] = 1000

VHBD[3,5] =583

HP[1,2,4] =831

HP[2,4,2] = 500

HP[4,2;2}=1092

HP[5:4,3] = 998

VHBDI[4,6] = 15

HP[1,2,5] =831 HP[2,4,3] =500 HP[4,2,3] = 3091 HP[5,4,4] =2 a[l1,2,1] =1
HP[1,3,0] =300 HP[2,4,4] =500 HP[4,24] =1 HP[5,4,5] =1 a[l1,3,1]=1
HP[1,3,1] =499 HP[2,4,5] =500 HP[4,3,0] = 500 HP[6,1,0] = 1300 a[1,3,2] =1
HP[1,3,2] =499 HP[3,1,0] = 1500 | HP[4.3;1T=3500 HP[6,1,1] = 2800 a[1,3,3] =1
HP[1,3,3] =499 HP[3,1,1] =145 HP[4,3,2] =94 HP[6,1;2] = 4800 a[2,1,2] =1
HP[1,3,4] =499 HP[3,1,2] = 1645 | HP[4,3,3] =93 HP[6,1,3] = 5387 a[2,2,1]=1
HP[1,3,5] =499 HP[3,1,3] =3688 | HP[4,3,4] =91 HP[6,1,4] = 3353 a[2,2,2] =1
HP[1,4,0] =200 HP[3,1,4] =4 HP[4,4,0] =400 HP[6,1,5] =164 a[2,2,3] =1
HP[1,4,1] =300 HP[3,1,5] =4 HP[4,4,1] =399 HP[6,2,0] = 1000 a[2,2,5]1=1
HP[1,4,2] =300 HP[3,2,0] = 1500 | HP[4,4,2] =303 HP[6,2,1] = 1000 a[2,4,3] =1
HP[1,4,3] =300 HP[3,2,1]=3 HP[4,4,3] =603 HP[6,2,2] = 3000 a[3,1,3]=1
HP[1,4,4] =300 HP[3,2,2] =1803 | HP[4,4,4] =601 HP[6,2,3] = 4800 a[3,1.4] =1
HP[1,4,5] =300 HP[3,2,3] =1377 | HP[4,4,5] =121 HP[6,2,4] = 3745 a[3,3,2] =1
HP[2,1,0] =1200 | HP[3,3,0] =500 HP[5,1,0] = 1500 HP[6,2,5] =297 a[3,34]=1
HP[2,1,1] =2350 | HP[3,3,1] =502 HP[5,1,1] =1 HP[6,3,0] =500 a[3.4,11=1
HP[2,1,2] =2694 | HP[3,3,2] = 1102 HP[5,1,2] =514 HP[6,3,1] =500 a[4,1.4] =1
HP[2,1,3] =12 HP[3,3,3] =1 HP[5,1,3] =1 HP[6,3,2] = 1400 a[4,1,5]=1
HP[2,1,4] =12 HP[3,4,0] =400 HP[5,2,0] = 1500 HP[6,3,3] = 1399 a[4,4,1]1=1
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a[44.2]=1 b[6,1,2] =1 d[4,42] =1 U4,2]=1
a[44,3]=1 b[6,2,3] =1 d[4,43] =1 U[4,3]=1
a[444]=1 b[6,3,5] =1 d[44.4]=1 Ul44]=1
a[4,4,5]=1 c[1,3,1]=1 d[5,1,1] =1 U[4,6] =1
a[5,1,1]1=1 c[1,3,2] =1 d[5,3,3]1=1 RC[1,1]=7
a[5,1,2] =1 c[1,3,3]=1 d[5,3,4]=1 RC[1,2] =11
a[5,3,3]=1 c[2,2,1]=1 d[5,4,5] =1 RC[1,3] =2
a[5,34]=1 c[2,2,2]=1 dfe,1,2]1=1 RC[1,4] =3
a[5,3,5]=1 c[2,23]=1 d[6,2,3] =1 RC[1,5] =11
a[54,5]=1 c[3,1.4] =1 d[6,2,4]1 =1 RC[2,1]=0
af6,1,2] =1 c[4,1,5] =1 d[6,2:5] =1 RC[2,2] =15
af6,1,3] =1 cl44,1]=1 df6,3,5] =1 RC[2,3] =7
a[6,2,3] =1 c[44.2]=1 N[1,1]=1 RC[2:4] =10
af6,24]=1 c[44,3]=1 N[2,2] =1 RC[2,5] =7
a[6,2,5]=1 c[444]=1 N[4,5] =1 RC[3,1] =24
a[6,3,5] =1 c[4,4,5] =1 UpLS2)= RC[3,2] =5
b[1,2,1]=1 c[51,1]=1 ULL3]=1 RC[3.3}="7
b[1,3,1] =1 c[5,1,2] =1 Ul1,4] =1 RC[3.4] =6
b[2,1,2] =1 c[5,34]=1 U[1,5] =1 RC[3,5] =7
b[2,2,1] =1 c[5,3,5]=1 uU[l,6]=1 RC[4,1] =21
b[2,2,5] =1 c[6,1,3] =1 U[2,1]=1 RC[4,2] =0
b[2,4,3] =1 c[6,24] =1 U[2,3]=1 RC[4,3] =12
b[3,1,3] =1 c[6,2,5]=1 U[24] =1 RC[4,4] =0
b[3,3,2] =1 d[1,3,1]=1 U[2,5] =1 RC[4,5] =15
b[3,3,4] =1 d[1,3,2] =1 U[2,6]=1

b[3,4,1]=1 d[2,2,1]=1 U[3,1]=1

b[4,1,4] =1 d[2,22] =1 U[3,2] =1

b[4,4,1]=1 d[3,1,3] =1 U[34]=1

b[5,1,1] =1 d[4,14]=1 U[3,5]=1

b[5,3,3] =1 d[4,1,5] =1 U[3,6]=1

b[5.4,5] =1 d[4,4,1]=1 U[4,1]1=1
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X[1,1,2,1] = 2291

X[5,2,1,1] = 1148

NAR[3,1,2] =1

NAR[6,2,5] = 5101

AQ[2,2,1,4] = 1156

X[1,1,2,2] = 2358

X[5,2,1,2] =120

NAR[3,2,3] = 1611

NAR[6,3,4] = 855

AQ[2,2,1,3] =1020

X[1,1,3,1]=1233

X[5,2,1,4] =4728

NAR[3,4,1] = 800

NAR[6,3,5] = 545

AQ[2,2,2,2] = 1050

X[1,2,2,2] =1 X[5,2,1,5] =4 NAR[4,1,1] =3000 | NAR[6,4,1]=6 AQ[2,2,2,4] =2566
X[1,2,3,1] = 1058 X[5,3,1,1] =465 NAR[4,1,2] =771 | NAR[6,4,3] =2767 | AQ[2,2,2,4] = 2566
X[1,3,22] =1 X[5,3,1,2] = 1202 NAR[4,1,3] =2779 | NAR[6,4,5] = 3227 | AQ[2,6,1,2] =2
X[3,1,3,2] = 3092 X[5,3,1,3] =833 NAR[4,2,1]=3799 | AQ[1,1,1,1]=3524 | AQ[2,6,1,5] =2

X[3,1,3,3] =3092 | X[5,4,1,3] = 1200 NAR[4,2,3] =1 AQ[1,1,1,2] =2358 | AQ[2,6,2,5] =5101
X[3,1,3,4] = 1481 X[6,1,1,5] =2 NAR[4,3,1]=1800 | AQ[1,1,2,1] =1058 | AQ[2,6,3,5] =545
X[3,1,4,2] =2 X[6,1,2,2] =2 NAR[4,4,2] =1 AQ[1,1,2,2] =1 AQ[2,6,4,2] =5
X[3,1,4,4] = 1333 X[6,1,2,3] =4728 NAR[4,4,3] =898 | AQ[1,1,3,2] =1 AQ[2,6,4,5] = 3227
X[3,2,3,4] = 1611 X[6,1,2,4] =780 NAR[4,44] =1 AQ[1,4,1,1] =3000 | AQ[3,3,1,2] =3094
X[3.4,4,2] =800 X[6,2,1,1] = 1571 NARI[5,1,1] =4669 | AQ[1,4,1,2]=771 | AQ[3,3,1,3] =3092
X[4,1,4,1]1 =3000 | X[6,2,1,5] =373 NAR[5,1,2].= 1 AQ[1,4,1,3]1 =2194 | AQ[3,3,1,4] =2814

X[4,1,4,2] =771

X[6,2,2,4] = 328

NAR[5,1,3] = 2696

AQ[1,4:1.,4] =1

AQ[3,3,2,4] = 1611

X[4,1,4,3] =2194

X[6,2,2,5}=4728

NAR([5,1,4] =66

AQ[1,4,1,5] =584

AQ[3,3,4,2] =800

X[4,144]=1

X[6,3,1,5)= 545

NAR[5,1,5] =372

AQ[1,4,2,2] = 1425

AQ[3,5,1,1] = 1197

X[4,1,4,5] =584

X[6,3,2,4]=855

NAR[5,2,1] =-1148

AQ[1,4,2,4] = 1666

AQI[3,5,1,5] =438

X[4,2,4,2] = 1425 X[6,4,1,1] =1 NAR[5,2,2] =121 | AQ[1,4,2,5]=708 | AQ[3.,5,2,2] =120
X[4,2,4,4] =1666 | X[6,4,1,5] =32264 | NAR[5,2,3] =2 AQ[1,4,3,2] =1 AQ[3,5,2,4] =4728
X[4,2,4,5] =708 X[6,4,2,2] =5 NAR[5,24]=4729 | AQ[1,4,3,5] =1799 | AQ[3,5,2,5] =4
X[4,3,4,2] =1 X[6,4,2,3] =1 NAR[5,3,1]=465 | AQ[1,442]=1 AQ[4,5,1,2] = 3403
X[4,3,4,5] = 1799 X[6,4,2,4] = 2766 NAR[S5,3,2] = 1202 | AQ[1,4,4,3] =898 | AQ[4,5,2,1] =1148
X[4.4,42]=1 X[6,4,2,5] =1 NAR[5,3,3] =833 | AQ[1,4,4,5]=1 AQ[4,5,3,1] =465
X[4,4,4,3] = 898 NAR[1,1,1]1=5882 | NAR[5,4,1]=1 AQ[1,5,1,1]1 =65 AQ[4,5,3,2] = 1202
X[4,4,4,5]=1 NAR[1,1,2] =1 NAR[5,4,3] = 1199 | AQ[1,5,1,2] =3 AQ[4,6,1,3] =4728
X[5,1,1,1] = 1262 NAR[1,2,1]=1059 | NAR[6,1,1]=4731 | AQ[1,5,1,3] =2696 | AQ[4,6,1,4] =780
X[5,1,1,2] = 3407 NAR[1,3,1]=1 NAR[6,1,4] =780 | AQ[1,5,1,4]=1 AQ[4,6,2,1] = 1571

X[5,1,1,3] = 2696

NAR[2,1,3] =4513

NAR[6,1,5] =1

AQI1,5,3,3] =833

AQ[4,6,2,4] = 328

X[5,1,14] =1

NAR[2,2,3] =4616

NAR[6,2,1] = 1572

AQ[1,5,4,3] = 1200

AQ[4,6,3,4] =855

X[5,1,1,5] =438

NAR[3,1,1] = 8999

NAR[6,2,4] =327

AQ[2,2,1,5] =2363

AQ[4,6,4,1]1 =1
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AQ[4,6,4,3] =1 HP[3,1,3] =2814 HP[6,4,1] =5 a[l1,2,2]=1 | b[3,3,1]=1 |d[3,34]=1
AQ[4,6,4,4] =2766 | HP[3,2,3] = 1611 HP[6,4,3] =2766 |a[l,3,1]=1 |b[3,42]=1 |d[3,3,5]=1
RAQ[1,1] =5530 HP[3,4,1] =800 VHBD[1,4] =551 |a[3,3,1]=1 |b[344]=1 |d[44,1]=1
RAQ[1,4] =7000 HP[4,1,3] =585 VHBDI[1,5] =431 |a[3,3,2]=1 |b[44,1]=1 |d[442]=1
RAQ[1,5] =3500 HP[4,1,4] =584 VHBD[2,6]=1023 | a[3,3,3] =1 | b[5,1,1]=1 |d[443]=1
RAQ[2,2] = 6707 HP[4,2,1] =3799 VHBD[3,5] =178 | a[3,3,4]=1 | b[6,1,1]=1 |d[444]=1
RAQI[2,6] = 6000 HP[4,2,2] =2374 VHBDI[4,5] =204 | a[3,3,5]=1 |b[6,1,5]=1 |d[44,5]=1
RAQ[3,3] =10000 | HP[4,2,3] =2375 VHBD[4,6] =550 | a[3,4,2]=1 |b[6,2,1]=1 |d[5,1,1]=1
RAQ[3,5] = 6000 HP[4,2,4] =709 U[1,2] =1 a[344]=1 |c[3,3,1]=1 d[5,1,2] =1
RAQI[4,5] =5500 HP[4,2,5] =1 U[L3]=1 a[44,1]1=1 |c[3,3,2] =1 d[5,1,3] =1
RAQ[4,6] = 5000 HP[4,3,1] = 1800 U[l4] =1 a[442]=1 |c[3,3,3]=1 d[5,14]=1
US[1,1] =471 HP[4,3,2] = 1799 U[L5]=1 af4,43]=1 |c[3,34]=1 dfe.,1,5]=1
US[2,2] = 1293 HP[4,3,3] = 1799 U[1,6] =1 a[444]=1 | c[3,3,5] =1 dre,2,1]1=1
VAQI1,1] = 1413 HP[4,3,4] =1799 UP2Ey =il a[4,45]=1 |c[44,1]=1 d[6,2,2] =1
VAQ[1,4] = 6049 HP[4,4,4]=1 U{ 28s4=1ll a[5,1,17=d |c[44,2]=1 d[6,2,3] =1
VAQ[1,5] = 1299 HP[5,1,1}.= 3407 U[24]=1 a[5,1,2]=4d | c[44,3]=1 dr6,2,4]1 =1
VAQI2,2] = 1203 HP[5,1,2]=1 W2 o =51 a[5,1,3] =d | c[444]=1 d[6,2,5] =1
VAQI2,6] = 2882 HP[5,1,3] =1 U[2,6]=1 a[5,14]=1 |c[44,5]=1
VAQ[3,3] = 1411 HP[5,1,4] = 66 Ul3,1]=1 a[5,1,51=1 | c[5,1,1] =1
VAQ[3,5] =487 HP[5,2,2] =1 U[3,2] =1 al6,1,1]=1 | c[5,1,2] =1
VAQI[4,5] =718 HP[5,2,3] =3 U3SE=N a[6,1,5]=1 | ¢[5,1,3] =1
VAQ[4,6] = 6030 HP[5,2,4] =4 U[34]=1 a[6,2,11=1 | c[5,1,4] =1
HP[1,1,1] =2358 HP[5.4,1] =1 U[3,5] =1 a[6,2,2]=1 | ¢c[5,1,5] =1
HP[1,1,2] =1 HP[5,4,2] =1 U[3,6] =1 a[6,2,3] =1 | c[6,2,1]=1
HP[1,1,3] =1 HP[6,1,1] = 4731 Ul4,1]1=1 a[6,24]=1 | c[6,2,2] =1
HP[1,1,4] =1 HP[6,1,2] =4729 U[4,2] =1 a[6,2,5] =1 | ¢[6,2,3] =1
HP[1,1,5] =1 HP[6,1,3] =1 U[4,3] =1 b[1,2,1]=1 |[c[6,24]=1
HP[1,2,1] =1 HP[6,1,4] =1 Ul44]=1 b[1,2,2] =1 | c[6,2,5] =1
HP[1,3,1] =1 HP[6,2,1] =1 U[4,5] =1 b[1,3,1]=1 [d[3,3,1]=1
HP[3,1,1] = 8999 HP[6,2,2] =1 U[4,6] =1 b[2,3,5]=1 [d[3,3.2] =1
HP[3,1,2] = 5906 HP[6,2,3] =1 a[1,2,1]=1 b[2,43]=1 [d[3,3,3]=1
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Pk F R 4.1 8 40 TR R RSkt R 8 )

3z &R

ML[1,1,0] = 60000

ML[1,2,4] = 26590

ML[1,3,6] = 67870

ML][1,4,14] = 24360

ML][1,5,26] = 76860

MLJ[1,1,1] = 30000

ML[1,2,5] = 118600

ML[1,3,7] = 67870

ML[1,4,15] = 24360

ML[1,5,27] = 76860

ML[1,1,2] = 99080

ML][1,2,6] = 118600

ML][1,3,8] = 67870

ML][1,4,16] = 24360

MLJ[1,5,28] = 46860

MLJ[1,1,3] = 99040

ML[1,2,7] = 118600

ML[1,3,9] = 67870

ML[1,4,17] = 24360

ML[1,6,0] = 55000

MLJ[1,1,4] = 99040

ML][1,2,8] = 118600

ML][1,3,10] = 67870

ML][1.,4,18] = 24360

ML[1,6,1] = 28300

MLJ[1,1,5] = 99040

ML[1,2,9] = 118600

ML[1,3,11] =570

ML[1,4,19] = 24360

ML[1,6,2] = 28300

ML][1,1,6] =79590

ML[1,2,10] = 118600

ML][1,3,12] = 36370

ML][1,5,0] = 55000

ML[1,6,3] = 28300

ML][1,1,7] =79590

ML[1,2,11] = 71340

ML][1,3,13] =36370

MLJ[1,5,1] = 55000

ML[1,6,4] = 24200

MLJ[1,1,8] = 55230

ML[1,2,12] =25770

MLJ[1,3,16] = 6250

MLJ[1,5,2] = 155000

MLI[1,6,5] = 24200

ML[1,1,9] = 30870

ML[1,2,13] =25770

ML[1,3,18] 47290

MLJ[1,5,3] = 155000

ML[1,6,6] = 24200

ML[1,1,10] =40

ML[1,2,14] = 25770

MLJ[1,3,21] = 66190

ML[1,5,4] = 155000

ML[1,7,0] = 100000

ML[1,1,11]=40

ML[1,2,15] = 25770

MLJ[1,3,22] = 21770

ML[1,5,5] = 155000

ML[1,7,1] = 57700

ML[1,1,12] =40

ML[1,2,16].=2140

ML[1,3,23] = 21760

ML[L,5,6] = 114530

MLI[1,7,2] = 57700

ML][1,1,15] =70820

ML[1,2,17] = 54870

MLJ[1,3,24}=21760

ML[1.,5,7] = 114530

ML[1,7,3] = 111880

ML[1,1,16] =70820

ML[1,2,18] = 30510

ML[1,3,25] = 16730

MLJ[1,5,8] = 114530

MLI[1,7,4] = 107310

ML[1,1,17] =52710

ML[1,2,19] = 8660

ML[1:3,26] = 94580

MLJ[1,5,9] = 58100

ML[1,7,5] = 63090

ML][1,1,18] =52710

ML[1,2,20] = 8660

ML[1,3,27] = 47290

ML[1,5,10] = 58100

ML[1,7,6] = 63090

MLJ[1,1,19] =52710

ML[1,2,21] =8660

ML][1.,4,0] = 40000

ML[1,5,11] = 58100

ML[1,7,7] = 63090

ML][1,1,20] =52710

ML[1,2,22] = 8650

ML[1,4,1] = 40000

ML][1,5,12] = 58100

ML[1,7,8] = 17210

ML[1,1,21] =52710

ML[1,2,23] = 84290

ML[1.4,2] = 40000

MLJ[1,5,14] = 62860

MLI[1,7,9] = 17210

ML[1,1,22] =52710

ML[1,2,24] =159930

ML][1,4,3] = 40000

ML][1,5,15] =9100

ML[1,7,10] = 17210

ML[1,1,23] =52710

[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[

ML[1,2,25] =135570

ML[1,4,4] = 40000

ML][1,5,16] = 9100

MLI[1,7,11] = 17210

ML][1,1,24] =52710

ML[1,2,26] =111210

ML][1.,4,5] = 24360

ML][1,5,17] = 9080

ML[1,7,12] = 12500

ML[1,1,25] =52710

ML][1,2,27] = 86850

ML][1.,4,6] = 24360

MLJ[1,5,18] = 9080

ML[1,7,27]=100000

ML][1,1,26] =52710

MLJ[1,2,28] = 22490

ML][1.,4,7] = 24360

MLJ[1,5,19] = 79080

MLJ[1,7,28] = 20830

ML[1,1,27] =52710

ML[1,3,0] = 55000

ML][1,4,8] = 24360

ML][1,5,20] =148160

ML[1,8,0] = 40000

ML[1,1,28] =28210

MLJ[1,3,1] = 45850

ML][1.,4,9] = 24360

ML[1,5,21] =112120

MLJ[1,8,1] = 40000

ML[1,2,0] = 50000

MLJ[1,3,2] = 121500

ML][1,4,10] = 24360

ML][1,5,22] = 76860

ML[1,8,2] = 40000

MLJ[1,2,1] = 45420

ML[1,3,3] = 102390

ML][1.,4,11] = 24360

ML][1,5,23] = 76860

ML[1,8,3] = 31230

MLJ[1,2,2] = 21060

ML[1,3,4] = 102380

ML[1,4,12] = 24360

ML][1,5,24] = 76860

MLI[1,8,4] =31230

ML][1,2,3] =73120

ML[1,3,5] = 102250

ML[1,4,13] = 24360

ML][1,5,25] = 76860

ML[1,8,5] = 31230
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ML[1,8,6] = 31230

ML[1,9,25] = 139670

MLJ[1,11,25] = 105420

ML[2,1,2] = 4085

ML[2,2,8] =296

ML[1,8,7] = 31230

ML][1,9,26] = 109670

MLJ[1,11,26] = 35810

ML][2,1,3] = 4085

ML[2,2,9] = 296

ML[1,8,8] =31230

ML][1,9,27] = 79670

ML[1,11,27] = 88520

ML][2,1,4] = 4085

ML[2,2,10] =296

ML[1,8,9] =31230

ML][1,9,28] = 19670

ML[1,11,28] = 25724

ML][2,1,5] = 4085

ML[2,2,11] =5570

ML][1,8,10] = 31230

ML[1,10,0] = 80000

ML[1,12,0] = 90000

ML][2,1,6] = 4085

ML[2,2,12] = 1013

ML[1,8,11] =31230

ML[1,10,1] = 80000

MLJ[1,12,1] =41860

ML][2,1,7] = 4085

ML[2,2,13] = 1013

ML[1,8,12] =850

ML[1,10,2] = 280000

MLJ[1,12,2] = 41860

ML][2,1,8] = 4085

ML[2,2,14] = 1013

ML[1,8,13] =850

ML[1,10,3] = 280000

ML][1,12,3] = 41860

ML][2,1,9] = 4085

ML[2,2,15] = 1013

ML[1,8,14] =850

ML][1,10,4] = 236810

MLJ[1,12,4] = 41860

ML][2,1,10] = 4085

ML][2,2,16] = 8650

ML[1,8,15] = 850

ML[1,10,5] = 189520

MLJ[1,12,5] = 41860

ML[2,1,11] = 4085

ML[2,2,17] = 13923

ML[1,9,0] = 55000

ML[1,10,6] = 189520

ML][1,12,6] = 16850

ML[2,1,12] = 4085

ML[2,2,18] = 11487

ML[1,9,1] = 55000

ML[1,10,7] = 142580

ML[1,12,7] = 16850

ML [2,1,13] = 4085

ML[2,2,19] = 9302

ML][1,9,2] = 124080

ML[1,10,8] = 97860

ML[1,12,8] = 16850

MLJ[2,1,14] = 4085

ML][2,2,20] = 6866

ML][1,9,3] = 124010

ML[1,10,9] ='50570

MLJ[1,12,9] = 16850

ML[2,1,15] = 4085

ML[2,2,21] = 6866

ML][1,9,4] = 124010

ML[1,10,10]'=22920

ML[1,12,10] = 16850

ML(2,1,16] = 2680

ML[2,2,22] = 6866

ML[1,9,5] = 124010

ML[1,11,0] =90000

ML[1,12,11] = 16720

ML[2,1,17] = 2680

ML[2,2,23] = 4430

ML][1,9,6] = 124010

MLJ[1,11,1] =90000

ML[1,12,12] = 16720

ML[2,1,18] = 2680

ML[2,2,24] = 12762

ML[1,9,7] = 64020

ML[1,11,2] =90000

MLJ1,12,13] = 16720

ML[2,1,19] = 2680

ML[2,2,25] = 12762

ML[1,9,8] = 64020

MLJ[1,11,3] = 90000

ML[1,12,14] = 16720

ML[2;1,20] = 2680

ML[2,2,26] = 10326

ML[1,9,9] = 64020

MLJ[1,11,4] = 65490

ML[1,12,15] = 16720

ML[2,1,21] = 2680

ML[2,2,27] = 7890

ML[1,9,10] = 3100

ML[1,11,5] = 34570

MLI[1,12,16] = 16720

ML[2,1,22] = 2680

ML[2,2,28] = 5454

ML][1,9,11] =3100

ML[1,11,6] = 34490

ML[1,12,17] = 16720

ML[2,1,23] = 2680

ML][2,3,0] = 6000

ML[1,9,12] = 3100

MLJ[1,11,7] = 34490

MLJ[1,12,18] = 16720

ML[2,1,24] = 2680

ML][2,3,1] = 6000

ML[1,9,13] =3100

ML[1,11,8] = 3570

MLJ[1,12,19] = 16720

ML[2,1,25] = 2680

ML[2,3,2] = 14775

ML[1,9,14] = 3100

ML[1,11,13] = 119330

ML[1,12,20] = 16720

ML[2,1,26] = 2680

ML[2,3,3] = 12864

ML[1,9,15] =3100

MLJ[1,11,14] = 124750

ML[1,12,21] = 16720

ML[2,1,27] = 2680

ML[2,3,4] = 12864

ML][1,9,16] = 3100

ML[1,11,15] = 77290

ML[1,12,22] = 16720

ML[2,1,28] = 2680

MLJ[2,3,5] = 12864

ML][1,9,17] = 3100

ML[1,11,16] =77290

ML][1,12,23] =16720

ML][2,2,0] = 5000

ML][2,3,6] = 12864

ML][1,9,18] =53120

ML[1,11,17] =47310

ML[1,12,24] = 16720

ML[2,2,1] = 14542

ML[2,3,7] = 12864

ML][1,9,19]=126980

MLJ[1,11,18] =47310

MLJ[1,12,25] = 16720

MLI[2,2,2] = 12106

ML[2,3,8] = 10428

ML][1,9,20] = 78990

ML[1,11,19] =47310

ML[1,12,26] = 16720

MLI[2,2,3] =7312

ML[2,3,9] =7992

ML][1,9,21]=128100

ML][1,11,20] =47310

ML[1,12,27] = 16720

ML[2,2,4] = 2659

ML[2,3,10] = 7428

ML[1,9,22] = 80070

ML[1,11,21] = 47310

MLJ[1,12,28] = 16720

ML[2,2,5] =296

ML[2,3,11] = 7428
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ML[1,9,23]=132080 | ML[1,11,22] =47290 | ML[2,1,0] = 5000 ML[2,2,6] = 296 ML[2,3,12] = 7428
ML[1,9,24] = 83360 | ML[1,11,24] =52710 | ML[2,1,1] = 4085 ML[2,2,7] = 296 ML[2,3,13] = 7424
ML[2,3,14] = 7424 | ML[2,5,10] =4164 | ML[2,6,27]=4361 | ML[2,8,6] =7644 | ML[2,10,4] = 16890
ML[2,3,15] = 7424 | ML[2,5,11]=4164 | ML[2,6,28]=4361 | ML[2,8,7] = 7644 L[2,10,5] = 16890
ML[2,3,16] =3957 | ML[2,5,12]=4164 | ML[2,7,0] = 5300 ML[2,8,8] =4552 | ML[2,10,6] = 14389
ML[2,3,17] = 1521 |ML[2,5,13]=4164 | ML[2,7,1]1=24261 | ML[2,8,9]=4195 | ML[2,10,7] = 14389
ML[2,3,19]=7386 | ML[2,5,14]=4164 | ML[2,7,2] =24261 | ML[2,8,27]1=9399 | ML[2,10,8] = 9801
ML[2,3,20] = 12587 | ML[2,5,15] = 4164 L[2,7,3] =24254 | ML[2,8,28]=9399 | ML[2,10,9] = 9801
ML[2,3,21]=9550 | ML[2,5,16]=4164 | ML[2,7,4] =21346 | ML[2,9,0]=6000 | ML[2,10,10] = 9801
ML[2,3,22] =7747 | ML[2,5,17]=4164 | ML[2,7,5] =21346 |ML[2,9,1]1=2935 | ML[2,10,11]=9788
ML[2,3,23] =2948 | ML[2,6,0] = 5500 ML[2,7,6] =21346 | ML[2,9,2] =2935 | ML[2,10,12] =9317
ML[2,3,24] = 7308 | ML[2,6,1] = 2500 ML[2,7,7] = 15347 | ML[2,9,3] =22058 | ML[2,10,14] = 542
ML[2,4,0] = 10000 | ML[2,6,2] = 19408 | ML[2,7,8] = 15347 | ML[2,9,4] =21434 | ML[2,10,23] = 5271
ML[2,4,1]= 10000 | ML[2,6,3] = 19404 _[{ML[2,7.9]= 15347 # ML[2,9,5] =21434 | ML[2,10,24] = 11188
ML[2,4,2] =8790 | ML[2,6,4] = 19404 "= | ML[2,7,10] = 13450 | ML{2,9,6] = 21434 | ML[2,10,25] =16459
ML[2,4,3]=8790 | ML[2,6,5]=19404 | ML{2,7,11] = 13450 | ML[2,9,7] = 21434 | ML[2,10,26] = 9498
ML[2,4,4]=8789 | ML[2,6,6]=13412 [ ML{2,7,12] = 13450, | ML[2,9,8] = 21434 L[2,10,27]=14769
ML[2,4,5]1=8776 | ML[2,6,7] =13412" | ML[2,7,13] = 13450 | ML[2,9.9] = 16705 | ML[2,10,28] = 5452
ML[2,4,6]=5338 | ML[2,6,8] = 13412 | ML[2,7.14] =13450 | ML[2,9,10] = 16705 | ML[2,11,0] = 8000
ML[2,4,7]=2918 | ML[2,6,9] =7769 ML[2,7,15] = 13450 | ML[2,9,11] = 7683 | ML[2,11,1] = 15890
ML[2,4,8] =2918 | ML[2,6,10] =2485 | ML[2,7,16] = 13450 | ML[2,9;12] = 8225 | ML[2,11,2] = 15890
ML[2,49]=2918 | ML[2,6,11]=2485 " | ML[2,7,17] = 10452 | ML[2.9,13] =8225 | ML[2,11,3] = 14418
ML[2,4,10] =2918 | ML[2,6,12] =2485 " . | ML[2,7,18] = 10452 | ML[2,9,14] =4588 | ML[2,11,4] = 14418
ML[2,4,11]1=2918 | ML[2,6,13]1=6675 | ML[2,7,19] = 10452 | ML[2,9,15] =4588 | ML[2,11,5] = 9996
ML[2,4,12] =2918 | ML[2,6,14] = 12961 | ML[2,7,20] = 10452 | ML[2,9,18] =5416 | ML[2,11,6] = 9996
ML[2,4,13] =2918 | ML[2,6,15] = 7585 L[2,7,21]=8400 | ML[2,9,19]=687 | ML[2,11,7] =9996
ML[2,4,14] =2918 | ML[2,6,16]=7585 | ML[2,7,22] =5399 | ML[2,9,20] =687 | ML[2,11,8] = 9996
ML[2,5,01=9000 | ML[2,6,17]=7583 | ML[2,7,23]1=5399 |ML[2,9,21]=7306 | ML[2,11,9] =9996
ML[2,5,1]=9000 | ML[2,6,18]=7583 | ML[2,7,24] =5399 | ML[2,9,22] =2862 | ML[2,11,10] = 9996
ML[2,52] = 7264 | ML[2,6,19]=4583 | ML[2,7,25] =5399 | ML[2,9,23]=2861 | ML[2,11,11]=9996
ML[2,53] = 7264 | ML[2,6,20] = 11491 | ML[2,7,26] =2399 | ML[2,9,24] =2215 | ML[2,11,12] = 9996
ML[2,5,4]=7264 | ML[2,6,21]=7887 | ML[2,8,0]=9000 | ML[2,9,25]=2215 | ML[2,11,13]=9996
ML[2,5,5]=4172 | ML[2,6,22]=436]1 | ML[2,8,1]=9000 | ML[2,9,27] =5271 | ML[2,11,14] = 9996
ML[2,5,6] =4164 | ML[2,6,23]=4361 | ML[2,82] =7644 | ML[2,9.28] =542 | ML[2,11,15] = 5792
ML[2,5,7]=4164 | ML[2,624]=4361 | ML[2,8,3] =7644 | ML[2,10,0] =5500 | ML[2,11,16]=5792
ML[2,5.8] =4164 | ML[2,6,25]=436]1 | ML[2,8,4] =7644 | ML[2,10,2] =20000 | ML[2,11,17] = 5792
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ML[2,5,9] =4164

ML][2,6,26] = 4361

MLJ[2,8,5] = 7644

ML][2,10,3] = 16890

MLJ[2,11,18] = 5792
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MLI[2,11,19] =5792 | ML[3,1,17] = 1521 | ML[3,3,5] =15486 | ML[3,4,11] =2436 | ML[3,6,4] =19922
MLI[2,11,20] =5792 | MLJ[3,2,0] = 5500 ML[3,3,6] = 15486 | ML[3,4,12] =2436 | ML[3,6,5] = 16830
ML[2,11,21] =5792 | ML[3,2,1] = 5042 ML[3,3,7] = 13066 | ML[3,4,13] =2436 | ML[3,6,6] = 16822
MLI[2,11,22] =5792 | ML[3,2,2] = 12606 | ML[3,3,8] =10630 | ML[3,4,14] =2436 | ML[3,6,7] = 13472
ML[2,11,23] =5792 | ML[3,2,3] = 7812 ML[3,3,9] =10630 | ML[3,4,15] =2436 | ML[3,6,8] = 10380
MLI[2,11,24] =5792 | ML|[3,2,4] = 3159 ML][3,3,10] =10630 | ML[3,4,16] =2436 | ML[3,6,9] = 10380
MLI[2,11,25] =5792 | ML[3,2,5] =796 ML[3,3,11] = 10630 | ML[3,5,0] =6000 | ML[3,6,10] =4288
ML[2,11,26] =5792 | ML[3,2,6] = 796 ML[3,3,12] =10630 | ML[3,5,1] = 1961 ML][3,6,11] = 4288
MLI[2,11,27] =5792 | ML[3,2,7] =796 ML[3,3,13] = 10630 | ML[3,5,2] =451 ML[3,6,12] = 4288
ML[2,11,28] =5792 | ML[3,2,8] = 796 ML][3,3,14] =10630 | ML[3,5,3] =451 ML][3,6,13] = 4288
ML[2,12,0] =8000 | ML[3,2,9] = ML[3,3,15] = 10630 | ML[3,5,4] =20451 | ML[3,6,14] =4288
ML[2,12,1] =8000 | ML[3,2,10] =796 ML[3,3,16] =7180 | ML[3,5,5] =20451 | ML[3,6,15] = 4288
MLI[2,12,2] =8000 | ML[3,2,11] =6070 | ML[3,3,17] =7180: | ML[3,5,6] =20451 | ML[3,6,16] =4288
ML[2,12,3] = 18000 | ML[3,2,12] = 1513 | ML[3,3,18] =7180" | ML[3,5,7] =20451 | ML[3,6,17] =4164
ML[2,12,4] = 13895 | ML[3,2,13] = 1513 . | ML4[3,3,19] =4566. | ML|3,5,8] =20451 | ML[3,7,0] = 5000
ML[2,12,5] =9166 | ML[3,2,14}= 1513 ML[3,3,20]'=9767: | ML[3;5,9] = 14808 | ML[3,7,1] = 5000
MLI[2,12,6] =9166 | ML[3,2,15] ='1513 | ML[3,3,21] =6730 | ML[3,5110] =9524 | ML[3,7,2] = 5000
ML[2,12,7] =4472 | ML[3,2,16] =9150 | MLJ3,3,22] =4928 [ ML[3,5;11] =9524 | ML|[3,7,3] =4993
ML[3,1,0] =10000 | ML[3,2,17} = 14423 { ML[3,3,23] = 10129 | ML[3,5,12] =9524 | ML|[3,7,4] = 4993
ML[3,1,1] =9303 ML[3,2,18]= 11987 | ML[3,3,24}=5257 | ML[3,5,13] =3714 | ML[3,7,5] =4993
ML[3,1,2] = 9303 ML][3,2,19] =9802 -| ML[3,3,25] = 385 ML[3,5,17] =7126 | ML[3,7,6] =4993
ML][3,1,3] =9303 ML][3,2,20] = 17366 | ML[3,3;26] = 385 L[3,5,18] =7126 | ML[3,7,7] = 2344
ML[3,1,4] =9303 ML[3,2,21] = 17366 | ML[3,3,27] = 385 ML[3,5,19] =7126 | ML[3,7,8] =2344
ML[3,1,5] =9303 ML[3,2,22] = 17365 | ML[3,3,28] = 385 ML][3,5,20] =5656 | ML[3,7,9] =
ML][3,1,6] = 5865 ML[3,2,23] = 14929 | ML[3,4,0] = 10000 | ML[3,5,22] =3473 | ML[3,7,10] = 1987
ML[3,1,7] = 5865 ML[3,2,24] =22493 | ML[3,4,1] = 9782 ML[3,5,23] =3473 | ML[3,7,11] = 1987
ML][3,1,8] = 5865 ML[3,2,25] =20057 | ML[3,4,2] = 7347 ML[3,5,24] =3473 | ML[3,7,12] = 1987
ML[3,1,9] = 5865 ML[3,2,26] = 17621 | ML[3,4,3] = 5436 ML[3,5,25] =3473 | ML[3,7,13] = 1987
ML[3,1,10] =5865 | MLJ[3,2,27] = 15185 | ML[3,4,4] = 5436 ML[3,5,26] =473 | ML[3,7,14] = 1987
ML[3,1,11] =5865 | ML[3,2,28] = 12749 | ML[3,4,5] = 5436 ML[3,5,27] =7473 | ML[3,7,15] = 1987
ML[3,1,12] =5865 | MLJ[3,3,0] =5500 ML[3,4,6] = 5436 ML[3,5,28] =7473 | ML[3,7,16] = 1987
ML[3,1,13] =5861 | ML[3,3,1] =5500 ML[3,4,7] = 5436 ML][3,6,0] =5500 | ML[3,7,17] = 1987
ML[3,1,14] =5861 | ML[3,3,2] =5500 ML[3,4,8] = 5436 ML[3,6,1] =5500 | ML[3,7,18] = 1987
ML[3,1,15] =2943 | ML[3,3,3] = 15500 | ML[3,4,9] =3000 ML[3,6,2] = 22830 | ML[3,7,19] = 1987
ML[3,1,16] = 1521 | ML[3,3,4] =15499 | ML[3,4,10] =2436 | ML[3,6,3] =22830 | ML[3,7,20] = 1987
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ML[3,7,21] = 1987 | ML[3,10,4] = 17651 | ML[3,11,15]=2017 | PM[1,5,14] = PM[3,2,17] =
ML[3,7,22] = 1987 | ML[3,10,5] =17651 | ML[3,11,16]=2017 | PM[1,5,191=1 | PM[3,2,20] =1
ML[3,7,23] = 1987 | ML[3,10,6] = 17651 | ML[3,11,17]=2017 | PM[1,520]=1 |PM][3,3,20]=1
ML[3,7,24] = 1987 | ML[3,10,7] = 12957 | ML[3,11,18]=2017 | PM[1,9,18]=1 |PM[3,3,23]=1
ML[3,7,25] = 1987 | ML[3,10,8] =8485 | ML[3,11,19]=2017 | PM[1,9,19] = PM[3,5,17] =
ML[3,7,26] = 1987 | ML[3,10,9] =3756 | ML[3,11,20]=2017 |PM[1,921]=1 |PM[3,522]=1
ML[3,7,27] = 1987 | ML[3,10,10] =3756 | ML[3,11,21]=2017 | PM[1,9,23] = PM[3,5,27] =
ML[3,7,28] = 1987 | ML[3,10,14] = 6363 | ML[3,11,22] =2017 | PM[1,9,25] = PM[3,8,15] =
ML[3,8,0] =8000 | ML[3,10,15]=6363 | ML[3,11,23]1=9709 | PM[1,11,13]=2 |PM][3,10,14] =1
ML[3,8,11=8000 | ML[3,10,16]=1775 | ML[3,11,24] =14980 | PM[1,11,14]=1 |PM[3,10,18] =1
ML[3,8,2] =5996 | ML[3,10,17]=1775 | ML[3,11,25] =10251 | PM[1,11,24] =1 | PM[3,10,21] =
ML[3,8,3]1 =5992 | ML[3,10,18]=7191 | ML[3,11,26] =13290 | PM[1,11,25] =1 | PM][3,10,27] =1
ML[3,8,4] =5992 | ML[3,10,19] =2462 | ML[3,11,27] =18561 | PM[1,11,27] =1 | PM[3,11,13] =
ML[3,8,5] =5992 | ML[3,10,20] = 2462 | ML[3,11,28] = 9244 | PM[2,2,11] = PM[3,11,14] =
ML[3,8,15] = 4624 | ML[3,10,21]1 =9081 | ML[3,12,0] = 8500 | PM[2,2,16]=1 | PM[3,11,23] =
ML[3,8,16] = 4624 | ML[3,10,22] =4637 | ML[3,12,1]=8500 |PM[22,171=1 |PM][3,11,24] =
ML[3,8,17] = 4622 | ML[3,10,23] = 2215 | ML[3.12,2] = 8500 | PM[2,2,24] = PM[3,11,26] =
ML[3,8,18] = 4622 | ML[3,10,24] =2215 | ML[3,12,31'=8500 [PM][2,3,19] = PM[3,11,27] =
ML[3,8,19] = 1622 | ML[3,10,25] = 2215 | ML[3,12,4]=8500 | PM[2,3,20]=1 | MDJ1,1,1,8] =2436
ML[3,9,0] =4500 | ML[3,10,27] = 5271. |IML[3,12,5] =8500 | PM[2,3,24] = D[1,1,1,9] = 2436
ML[3,9,1]1=1830 | ML[3,10,28]=542 | ML[3,12,6] =8500 | PM[2.,6,13] = MDJ[1,1,1,10] = 564
ML[3,9,2] = 11830 | ML[3,11,0] =5000 | ML[3,12,7] =8500 {PM([2,6,14]=1 |MDJ[1,1,1,13]=4
ML[3,9,3] = 10953 | ML[3,11,2] =20000 |-ML[3,12,8] = 8500 M[2,6,20] = 1 M9n1,1,1,15]
ML[3,9,4] = 10953 | ML[3,11,3] = 17533 | ML[3,12,9] =8500 | PM[2,8,27] = MDI1,1,1,17] =
ML[3,9,5] = 6224 | ML[3,11,4] =17533 | ML[3,12,10] =8500 | PM[2,9,12]=1 | MDI[1,1,3,1] = 915
ML[3,9,6] = 6224 | ML[3,11,5]=13111 | ML[3,12,11]1=8500 | PM[2,9,18]=1 | MD[1,1,3,2] =2435
ML[3,9,7] =6224 | ML[3,11,6] = 10610 | PM[1,1,15]=1 PM[2,9,21] = D[1,1,3,3] = 1911
ML[3,9,8] =6224 | ML[3,11,7]=10610 | PM[1,2,17] =1 PM[2,9,27] = MD[1,1,3,4] = 1
ML[3,9,9] = 6224 | ML[3,11,8]=6022 | PM[1,2,23]=1 PM[2,10,14] = MDI[1,1,3,5] =13
ML[3,9,10] = 6224 | ML[3,11,9]1=6022 | PM[1,2,24] =1 PM[2,10,23]=1 | MDI[1,1,3,6] = 3438
ML[3,9,11]1=958 | ML[3,11,10] =6022 | PM[1,3,12] =1 PM[2,10,24] = 1 M9£1,1,3,16] =
ML[3,10,0] = 7500 | ML[3,11,11] =6009 | PM[1,3,16] =1 PM[2,10,25]=1 | MDI[1,1,3,17] = 625
ML[3,10,1] = 4495 | ML[3,11,12] =5538 | PM[1,3,18] =1 PM[2,10,27] = MDI[1,1,3,18] = 687
ML[3,10,2] =4495 | ML[3,11,13] =6221 | PM[1,3,21]=1 PM[3,2,11]=1 | MD[1,1,3,25] =503
ML[3,10,3] =22380 | ML[3,11,14] = 6763 | PM[1,3,26] =1 PM[3,2,16]=1 | MD[1,1,6,7] = 2420
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MDI[1,1,9,18] = 834

MDI[1,3,1,15] =2918

MDI[2,1,2,25] = 2436

MDI[2,3,2,19] = 2185

MD[3,2,6,19] = 3000

MDI1,1,9,20] = 4799

MDI1,3,1,18] = 1521

PM[1,7,27] =1

PM[3,2,24] =1

MDI[2,3,2,17] = 4727

MDI[1,1,9,21] = 3037

MDI[1,3,3,4] =1

MDI[2,1,2,27] = 2436

MDI2,3,2,20] = 2436

MDI[2,3,2,18] = 2436

MD[1,1,9,22] = 1802

MD[1,3,3,5] =13

MDI2,1,2,28] = 2436

MD[2,3,2,22] =1

MD[3,2,6,21] = 3604

MDI[1,1,9,23] = 4799

MDI1,3,3,7] = 2420

MDI[2,1,4,5] = 1564

MDI2,3,2,23] =2436

MD[3,2,6,22] = 3526

MD[1,1,9,24] = 4872

MD[1,3,3,8] = 2436

MD[2,1,4,20] = 2436

MD][2,3,2,24] = 2436

MD[3,3,5,1] = 3000

MD[1,1,9,25] = 4369

MD[1,3,3,16] = 3450

MDI[2,2,2,1] =458

MDI2,3,2,25] = 2436

MD[3,3,5,2] = 1088

MDI[1,2,1,1] = 915

MD[1,3,3,19] = 2614

MDI[2,2,2,2] = 2436

MD][2,3,2,26] = 2436

MD[3,3,5,9] = 5643

MDI[1,2,1,16] = 1405

MD[1,3,3,20] = 4799

MDI[2,2,2,3] = 4794

MDI2,3,2,27] = 2436

MD[3,3,5,10] = 5284

MDI[1,2,3,2] = 1225

MD[1,3,3,21] = 3037

MDJ2,2,2,4] = 4653

MD][2,3,2,28] = 2436

MD[3,3,5,13] = 5810

MDI[1,2,3,3] = 1911

MDI1,3,3,22] = 1802

MDI[2,2,2,5] = 2363

MD[3,1,1,1] = 3000

MDI[3,3,5,14] = 3714

MD[1,2,3,8] = 2436

MD[1,3,3,23] = 4799

MDI[2,2,2,11] = 4726

MD[3,1,1,2] = 3092

MD[3,3,5,20] = 1470

MDI[1,2,3,9] = 2436

MDI1,3,3,24] = 4872

MDI2,2,2,12] = 4557

MD[3,1,1,3] =4

MD[3,3,5,21] = 3604

MD[1,2,3,10] = 564

MD[1,3,3,25] =4872

MD[252;2,16]= 2363

MDJ3,1,1,6] = 1945

MD[3,3,5,22] = 3526

MD[1,2,3,13] =4

MDI[1,3,4,1]=218

MDI2,2;2.17% = 4727

MD[3;1;1,10] = 2519

MD[3,3,8,2] = 2004

MDI[1,2,3,16] = 3467

MDI1,3,4,2] = 2435

MD[2,2,2,18] = 2436

MDI[3,1,5.,6] = 4047

MD[3,3,8,3] =4

MD[1,2,3,17] = 2436

MD[1,3,4i3] = 1911

MDI2,2,2,19] = 2185

MD[3,1,509] = 5643

MD[3,3,8,6] = 5992

MDI[1,2,3,18] = 1521

MD[1,3,4,9] = 2436

MDJ2,2,2,20] = 2436

MD[3;1,5:13] = 5810

MD[3,3,8,15] = 5376

MD[1,2,3,19] = 2614

MD[1,3,4,10] = 564

MD|[2,2,2,23] = 2436

MD[3,1,5,14] = 3714

MD[3,3,8,17] =2

MDI1,2,3,20] = 4799

MD[1,3,4,17] = 2436

MDI[2,2,2,24] = 1668

MD|3,1,5,15] = 5376

MD[3,3,8,19] = 3000

MD[1,2,3,21] = 3037

MD[2,1,2,1] =458

MDJ[2,2,2,26] = 2436

MDI[3,1,5,17] =2

MD[3,3,8,20] = 1622

MDI1,2,3,22] = 1802

MDI[2,1,2,2] = 2436

MDI2,2,2,27] =2436

MD[3,1,5,19] = 3000

MDI[4,1,7,1] = 1039

MDI[1,2,3,23] = 4799

MD[2,1,2,3] = 4794

MDI2,2,2,28] = 2436

MD[3,1,5,20] = 3092

MD[4,1,7,4] =457

MDI[1,2,3,24] = 4872

MDI[2,1,2,4] = 4653

MDI[2,2,3,22] =1

MD[3,1,5,21] = 3604

MDI[4,1,9,2] = 3092

MD[1,2,3,25] = 4872

MD[2,1,2,5] =799

MD[2,2,3,24] = 768

MD[3,1,5,22] = 3526

MDI[4,1,9,3] =7

MDI[1,2,4,2] = 1210

MDI[2,1,2,11] = 4726

MDI[2,2,3,25] = 2436

MDI3,1,10,10]=2765

MD[4,1,9,7] = 5999

MD[1,2,44]=1

MDI2,1,2,12] = 4557

MDI[2,3,2,1] =458

MD[3,2,6,1] = 3000

MD[4,1,9,10] = 6092

MD[1,2,4,5] =13

MD[2,1,2,16] = 2363

MDI2,3,2,2] = 2436

MD[3,2,6,2] = 3092

MD[4,1,9,18] =4164

MDI[1,2,4,6] = 3438

MDI2,1,2,17] = 4727

MDI[2,3,2,3] = 4794

MDJ[3,2,6,3] =4

MDI[4,1,9,21] = 2052

MDI[1,2,4,7] = 2420

MD[2,1,2,18] = 2436

MD[2,3,2,4] = 4653

MD[3,2,6,6] = 5992

MD[4,1,9,22] = 3001

MDI[1,2,4,15] = 2918

MDI[2,1,2,19] = 2185

MD[2,3,2,5] = 2363

MD[3,2,6,9] = 5643

MD[4,1,9,26] = 3000

MDI[1,3,1,1] = 697

MD[2,1,2,22] =1

MDI2,3,2,11] = 4726

MD[3,2,6,10] = 5284

MD[4,1,9,27] = 3000

MD[1,3,1,6] = 3438

MDI2,1,2,23] = 2436

MDI[2,3,2,12] = 4557

MD[3,2,6,13] = 5810

MDI[4,1,11,4] = 2451
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MD[1,3,1,13] =4 MD[2,1,2,24] =2436 | MD[2,3,2,16] = 2363 | MD[3,2,6,14] =3714 | MD[4,1,11,5] = 3092
MD[4,1,11,9] =357 | MD[4,3,6,17] =124 MD[5,2,10,15] = 542 | MD[6,1,3,19] = 4729 | MDI[6,2,12,7] = 4694
MD[3,2,6,15] = 5376 | MD[4,1,11,6] = MD[5,2,10,23]=4729 | MD[6,1,3,21] = 3381 | MDI[6,2,12,8] = 4472
MDI[3,2,6,17] = MDI[4,1,11,8] =3092 | MD|[5,2,10,24]=4083 | MD[6,1,3,22] = 4442 | MD[6,3,9,1] = 2670
MDI[4,2,5,2]1 =1736 | MD[4,3,7,3]1="7 MDI[5,2,10,25]=4729 | MD[6,1,3,23] = 1 MD[6,3,9,3] = 877
MDI[4,2,5,5] =3092 | MDI[4,3,7,7] = 2649 MD[5,2,10,26]=6961 | MDI[6,1,3,26] = 2215 | MD[6,3,9,5] = 4729
MD[4,2,5,6] =8 MD[4,3,7,9] = 357 MD[5,2,10,27]=4729 | MD[6,1,3,27] = 4729 | MD[6,3,9,11] = 5266
MDI[4,2,5,18] =4164 | MD[5,1,7,11 =3191 MD[5,2,10,28]=9317 | MD[6,1,3,28] = 4729 | MD[6,3,9,12] = 958
MD[4,2,7,1]1=1039 | MDI[5,1,7,3] = 4582 MD[5,2,11,1] =2110 | MDI[6,1,6,1]1 =2670 | MD[6,3,10,4] =4729
MDI[4,2,7,3]1 =7 MD[5,1,7,5] = 4422 MD[5,2,11,3] = 1472 | MDI[6,1,6,4] =410 MD[6,3,10,7] = 4694
MDI[4,2,7,4] =2908 | MD[5,1,7,8] = 4588 MDI[5,2,11,5] = 4422 | MD|[6,1,8,3] =877 MDI[6,3,10,8] = 4472
MDI[4,2,7,71=5999 | MD[5,1,7,12] =471 MDI[5,2,11,15]=4204 | MDJ[6,1,8,12] = 3038 | MD[6,3,10,9] = 4729
MD[4,2,7,10] = 1897 | MDI[5,1,7,13] = 1250 | MD|[5,3,10,1] =3005 | MD[6,1,8,16] = MD[6,3,10,11] =3756
MDI[4,2,7,17] = 2998 | MDI[5,1,7,28] = 9317 | MDJ5,3,10,3] = 21155 MD[6,1,10,4] =4319 | MD[6,3,10,14] =3637
MDI[4,2,7,21] = 2052 | MDI[5,1,11,13] =8067 | MDI5,3,10,22] = MDJ6,1,10,5] = 4729 | MD[6,3,10,16] =4588
MD[4,2,7,22] = 3001 | MDI[5,1,11,14] = 9458 | MDJ5,3,10,23]=2421 | MDI[6,1,10,7] = 4694 | MD[6,3,10,18] =4584
MD[4,2,7,26] = 3000 | MDI[5,1,11,15] = 4746--MDJ[5,3;11,1] = 5000. | MD[6,1,10,8] = 4472 | MD[6,3,10,19] =4729
MDI[4,2,7,27] = 2399 | MD[5,1,11,22] =2 MD|[5.3,11,3] =2467 | MD[6,1,10,9] = 4729 | MD[6,3,10,21] =3381
MDI[4,2,8,2] = 1356 | MDI5,1,11,23] = 4729 | MDI5,3,11,5] = 4422 | MD|[6,1,10,11]=2292 | MD[6,3,10,22] =4442
MD[4,2,8,8] =3092 | MDI[5,1,11;24]i= 4729. | MD[5,3,11,6] =2501 | MD[6,2,9,1] =2670 | MD[6,3,10,23] =
MDI[4,2,8,9] = 357 MD[5,1,11,25] =4729. | MD[5,3,11,8] =4588 | MD[6,2,9,3] = 877 MD[6,3,10,26] =2215
MD[4,2,8,10] = 4195 | MDI[5,1,11,26]'=6961 | MD[5,3,11,11] =13 | MD[6,2,9,4] = 624 MDI[6,3,10,27] =4729
MD[4,2,8,27] =601 | MDI[5,1,11,27] = 4729 | MDI[5,3,11,12] =471 | MD[6,2,9,9] =4729 | MD[6,3,10,28] =4729
MDI[4,3,5,1]1=1039 | MDI[5,1,12,1]=4814 | MDJ5,3,11,13]=9317 | MD[6,2,9,11] = 9022 | MD[6,3,12,12] =8500
MDI[4,3,5,2] =422 MDI5,1,12,6] =2501 | MDJ[5,3,11,14]=9458 | MD[6,2,9,12] = 9458 | MD[6,3,10,22] =4442
MDI[4,3,5,17] = 2874 | MD[5,1,12,11] =13 MD[5,3,11,15]=4746 | MD[6,2,9,14] = 3637 | MD[6,3,10,23] =
MD[4,3,5,21] = 2052 | MD|[5,2,9,1] =395 MD[5,3,11,23]=2308 | MDI[6,2,9,16] = 4588 | MD[6,3,10,26] =2215
MDI[4,3,5,22] = 3001 | MD[5,2,9,22] = MDI5,3,11,24]=4729 | MD[6,2,9,18] = 4584 | MD[6,3,10,27] =4729
MD[4,3,5,26] = 3000 | MD[5,2,9,24] = 646 MDI5,3,11,25]=4729 | MD[6,2,9,19] = 4729 | MD[6,3,10,28] =4729
MD[4,3,5,27] = 3000 | MDJ[5,2,10,1]=5500 | MDI5,3,11,26]=6961 | MD[6,2,9,21] = 3381 | MD[6,3,12,12] =8500
MD[4,3,6,2] =2670 | MDI[5,2,10,3] =3110 | MDI[5,3,11,27]=4729 | MD[6,2,9,22] = 4442

MD[4,3,6,4] =2908 | MDI[5,2,10,6] =2501 | MDI[5,3,11,28]=9317 | MD[6,2,9,23] =1

MDI[4,3,6,5] =3092 | MDJ[5,2,10,8] =4588 | MDI[6,1,3,11] = 6730 | MD[6,2,9,26] = 2215

MD[4,3,6,6] =8 MD[5,2,10,11] = 13 MDJ6,1,3,12] = 6420 | MD[6,2,9,27] = 4729

MDI[4,3,6,7] =3350 | MD[5,2,10,12] =471 | MDJ6,1,3,14] =3637 | MDI[6,2,9,28] = 4729

MDI[4,3,6,8] =3092 | MD[5,2,10,13] =9317 | MD[6,1,3,16] =4503 | MD[6,2,12,4] = 4105
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MD[4,3,6,10] = 6092

MDI5,2,10,14] = 9458

MD[6,1,3,18] = 4584

MDI[6,2,12,5] = 4729
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MG MBI TERRTREELEEHAXRIZ i THEL
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M8k G -1 E6H— &R EhtZ ot THE 2 F Ao
Aol A R A
£ —.
TER | THEBEZRTR |A87 | X EMRZ wHEELR | BREXEME
1_Cusl 90% A 90% 100.00%
1_Cusl 90% B 90% 100.00%
1_Cusl 90% C 90% 100.00%
1_Cusl 90% E 90% 100.00%
1_Cusl 90% F 90% 100.00%
2 _Cusl 90% A 90% 100.00%
2 _Cusl 90% B 90% 100.00%
2 _Cusl 90% C 90% 100.00%
2_Cusl 90% F 90% 100.00%
3_Cus2 85% A 90.88 % 93.53%
3_Cus2 85% B 85% 100.00%
3 _Cus2 85% C 87.08% 97.62 %
3_Cus2 85% D 85% 100.00%
3_Cus2 85% E 85% 100.00%
3_Cus2 85% F 85% 100.00%
4_Cus2 85% C 85% 100.00%
4 Cus2 85% D 85% 100.00%
4 Cus2 85% E 85% 100.00%
4 _Cus2 85% F 85.39% 99.54 %
5_Cus3 85% A 85.02% 99.98 %
5_Cus3 85% B 85% 100.00%
5_Cus3 85% C 85% 100.00%
5_Cus3 85% D 88.95% 95.56 %
5_Cus3 85% E 85% 100.00%
5_Cus3 85% F 85% 100.00%
6_Cus3 85% C 89.48 % 95.00 %
6_Cus3 85% D 85% 100.00%
6_Cus3 85% E 85% 100.00%
6_Cus3 85% F 85% 100.00%
7_Cus4 87% A 87% 100.00%
7_Cus4 87% B 87% 100.00%
7_Cus4 87% D 87% 100.00%
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7_Cus4

87%

87%

100.00%
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M4 G-1 ] — 2R Th2 ot TAEZE R fo e 1§ 4L R A (48)

7_Cus4 87% F 87% 100.00%
8 _Cus4 87% C 87% 100.00%
8 _Cus4 87% D 87% 100.00%
8_Cus4 87% E 87% 100.00%
8_Cus4 87% F 87% 100.00%
M8k G -2 FH — &R B2 A BHELE F fu
AT ]
. RERABER
TR | FEBEZRTR | ELH | RERZUEEBE | REKEE
1_Cusl 90% A 90.38 % 99.58 %
1_Cusl 90% D 90% 100.00%
1_Cusl 90% E 90% 100.00%
2_Cus?2 85% B 85% 100.00%
2_Cus?2 85% F 85% 100.00%
3 _Cus3 85% C 86.41% 98.37 %
3 _Cus3 85% E 86.53% 98.23 %
4 Cus4 87% E 87% 100.00%
4 Cusd 87% F 87% 100.00%
6 =. 3% LCD ¥ & &

TER | EHELRZRTR |ER5 | X G2 EHELER | BREREHE
1_Cusl 90% A 90.56 % 99.38%
1_Cusl 90% D 90% 100.00%
1_Cusl 90% E 90% 100.00%
2 _Cus2 85% B 85% 100.00%
2 _Cus2 85% F 85.02% 99.98 %
3_Cus3 85% C 86.57% 98.19%
3_Cus3 85% E 85% 100.00%
4_Cus4 87% E 87.01% 99.99 %
4_Cus4 87% F 87% 100.00%
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Ev—. AEITERXF

TES | BMBEERTR | A& | XX oM TEE | mE AR M
1_Cusl 90% A 91.74% 98.10%
1_Cusl 90% D 90% 100.00%
1_Cusl 90% E 90% 100.00%
2_Cus2 85% B 85% 100.00%
2_Cus2 85% F 85% 100.00%
3_Cus3 85% C 86.87 % 97.85%
3_Cus3 85% E 85% 100.00%
4_Cus4 87% E 87.61% 99.30 %
4_Cus4 87% F 87% 100.00%

i8R G -3 RAI= % Qhtx ot ZHTEEH Ao B T F{E

KH1=.
TER | EEBRERTR (A3 | REMZmELELE | BOEXERE
1_Cusl 90% A 91.54% 98.32%
1_Cusl 90% D 90.00% 100.00%
1_Cusl 90% E 90.00% 100.00%
2 _Cus2 85% B 85.64 % 99.25%
2 _Cus2 85% F 85:00% 100.00%
3_Cus3 85% C 86.98 % 97.72%
3_Cus3 85% E 85.00% 100.00%
4_Cus4 87% E 87.00% 100.00%
4_Cus4 87% F 87.00% 100.00%
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